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(HANGED QUIET SUBROUTINE TO INCLUDE TIMEOUT IF XON IS NOT
RECIEVED WITHIN TEN SECONDS. ALSO CHANGED SEND ROUTINE
TIMEOUT FROM TWENTY TO TEN SECGNDS.

INCLJUDED ERROR REPORT CALLS IN TIMEOUT ROUTINES TO [DENTI-
FY FAILING LINE NUMBERS.

LIFE TEST NOw RESETS THE PASS NO. TO O ON STARTUP.
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ABSTRACT

THIS PROGRAM IS A FUNCTIONAL TEST OF THE LAOO,LA3%4,LA38 TERMI-
NAL . IT CAN TEST UP TO 40 TERMINALS AT A TIME, INTERFACED
THROUGH A DZ11-A/E ASYNCRONOUS MULTIPLEXERS. THIS PROGRAM WAS
DESIGNED TO_TEST ALL OF THE FUNCTIONAL CHARACTERISTICS OF THE
LAOO,LA34,LA38 TERMINAL IN A DMT GR PMT ENVIORNMENT.

1.7 FUNCTIONAL DESCRIPTION

THIS PROGRAM CONSISTS OF A TEST SELECTION AND CONTROL SECTION,
A CONSOLE TERMINAL DRIVER SECTION, MULTI UNIT DZ11 DRIVER 3EC-
TION, AND TWENTY TWO FUNCTIONAL TESTS, THE TESTS ARE OF THREE
E;EEgiSOS§I~TER FUNCTION TESTS, MANUAL INTFRVENTION TESTS, AND

1.2 INTENDED USERS

THIS PROGRAM WAS DESIGNED TO TEST EVERY FUNCTIONAL C(HARA(C-
TERISTIC OF THE LAOO,LA34,LA38 TERMINAL, AND AS SUCH WILL BE
IJSED FOR DESIGN MATURITY TESTING. THE OPERATOR WILL HAVE THE
OPTION OF RUNNING THE PROGRAM IN A NON~INTERVENTION MODE., THUS
ALLOWING THE PROGRAM TO BE USED IN A PMT ENVIORNMENT.  THE
TESTS WERE NOT WRITTEN TO F.S. OR FART REQUIREMENTS, AND THE
USE OF THIS PROGRAM IN THOSE AREAS IS NOT RECOMMENDED.

REQUIREMENTS
2.1 EQUIPMENT

THIS PROGRAM WILL REQUIRE A PDP-11 PROCESSOR, WITH 16K OF MEM-
ORY. FOR EACH EIGHT TERMINALS TO BE TESTED A DZ11-A,E IS RE-
QUIRED ALONG WITH ONE H317-E DISTRIBUTION PANNEL FOR EACH SIX-
TEEN TERMINALS UNDER TEST. A HARDWARE SWITCH REGISTER IS SUP-
PORTED, BUT IS NOT REQUIRED. IF PROGRAM CONTROL IS TO BE VIA
CONSOLE TERMINAL THEN A TERMINAL AND INTERFACE AT THE STANDARD
ADDRESS & VECTOR ARE REQUIRED.

i

SEQ (004
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2.2 RELATED PROGRAMS.

THIS PROGRAM WILL PERFORM CURSORARY TESTING OF THE DZ11 INTER-~
FACE, AND SHOULD NOT BE CONSIDERED A VALID TEST OF ANYTHING
OTHER THAN THE LAQO,LA34,LA38 TERMINAL. PDP-11 PROCESSOR AND
MEMORY DIJAGNOSTIC PROGRAMS, ALONG WITH DZ11 DIAGNOSTIC PRO-
?ﬁéﬂ?yé??ﬁLD BE RUN PERIODICLY TO INSURE CORRECT OPERATION OF

OTHER LAQQ,LA34,LA38 DIAGNOSTIC PROGRAMS:
CILAJA-0 LAQO,LA34,LA3R FART PROGRAM
2.3 TERMINAL CONFIGURATION

THIS PROGRAM REQUIRES THAT ALL TERMINALS TO BE TESTED BE SET
UP FOR 300 BAUD, 1 STOP BIT, ODD PARITY, AND XON-XOFF ENABLED.
ENTER SETUP MODE AND TYPE AN 8 TO GET A PRINTOUT OF THE C(UR-
RENT SWITCH SETTINGS. [F NOT CORRECT CHANGE THE SWITCHES THEN
VERIFY AGAIN USING THE 8 KEY AGAIN. THESE SWITCHES ARE LOCAT-
ED ON THE PC BOARD DIRECTLY UNDER THE KEYBOARD ASSY.

SEQ 0005
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St 0006
38 PAGE 6
200
300
400
288 3.0 LOADING PROCEDURE AND INITIALIZATION
700 .
ACO,LA34,LA38 DIAGNOSTIC PROGRAM TAPE FOLI OWING NO
s hgfopéggebungs% IF A HARDWARE SWITCH REGISTER DOES NGT EXIST,
59 “HE PROGRAM WILL USE THE CONTENTS OF LOCATION 000176 AS THE
1760 VALUE OF THE SWITCHES. THEREFORE, BE SURE TO LOAD LOCATION
%égg 0007176 WITH TRE SWITCH VALUE BEFORE STARTING THE PROGRAM WHEN
1300 NOT JSING SWITCHES.
?§88 3.1 STARTING ADDRESSES
1600 . c ART ING
TWO STAKTING ADDRESSES FOR THIS PROGRAM.  STA
%288 LﬁEREo?§$10N 000200 WILL PUT THE TESTING UNDER SWITCH REGISTER
1969 CONTROL. STARTING AT LOCATION 000204 WILL PUT THE PRCGRAM
( UNDER CONSOLE CONTROL.
2000
2100
S%gg 3.2 MODIFICATIONS TO PROGRAM.
S0 S WHICH MAY
RE ARE A NUMBER OF COMMON DATA STORAGE LOCATIONS
3288 égE 50015150 BY THE OPERATOR TO COMPENSATE FOR NON STANDARD
2700 CONF IGURATIONS, AND DIFFERENT CPU TYPES.
£3%0 ' THE LOCA-
FOR DZ11'S NOT AT THE STANDARD ADDRFSSES OR VECTORS
%888 T?ONSZNAMED DZADDR AND DZVECT CAN BE CHANGED ACCORDINGLY PRIOR
3100 TO STARTING THE PROGRAM.
3200 ' -
TION LOOPC CONTAINS A TIME GONSTANT AND IS INITIALLY
%288 FggA A PBP-11/20 PROCESSOR. THIS TIME CONSTANT IS NOT CRITI-
3500 CAL, BUT LARGE VARIATIONS FROM TROSE LISTED IN THE TABLE WILL
3600 RESULT IN INEFFICIENT OPERATION. IT IS BETTER TO HAVE A
3700 LONGER TIME CONSTANT THAN ONE Tr0 SHORT BECAUSE THE ROUTINES
3800 THAT USE THE TIMEQUT FEATURE WILL ABORT THE TIMEOUT WHEN THE
3500 REQUIRED INPUT IS RECIEVED. THOSE TESTS THAT REQUIRE MANUAL
4000 INTERVENTION WILL NOT FUNCTION CORRECTLY if THE TIMEOUT IS TOO
4100 FAST FOR OPERATOR RESPONSE TIMES.
2%88 THIS TABLE IS DUPLICATED IN THE LISTING.
4400
PC: 000314 :TIME CONSTANT FOR11/20
2288 HOORC SSET TO 202 FOR 11/03
4700 *SET TO 257 FOR 11/10
4800 “SET TO 554 FOR 11740
3 “SET 10 ?55 FOR 11745, 11/60
P “SET TO 1237 FOR 11745, 11/70
2988 “SET TO 2127 FOR 11745 BIP, 11/55
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SEQ 0007
00
200 PAGE 7
300
400
500
?88 3.3 EXECUTION TIME
800 AT 300 BAUD AND EXCLUDING MANUAL INTERVENTION TESTS THIS PRO-
1888 GRAM SHOULD TAKE APPROXIMATELY 13 MIN,
};88 4.0 CONTROL AND TEST SELECTION
1300 THERE ARE TWO MEANS OF CONTROLLING THE EXECUTION Or THIS
1400 PROGRAM: VIA THE
%288 CONSOLE SWITCH REGISTER, OR VIA THE CONSOLE TERMINAL.
}ggg Igw}?EHPROGRAM IS STARTED AT LOCATION 200 AND NO HARDWARE
1900 REGISTER EXISTS THE PROGRAM WILL USE THE CONTENTS OF LOCATION
5?88 176 AS THE SWITCHES
5%88 4.1 SWITCH REGISTER CONTROL
2400 THE VARIOUS SWITCHES AND THEIR FUNCTIONS ARE LISTED BELOW.
2500 SWITCHES MAY BE CHANGED AND SET AS DESIRED EXCEPT AS NOTED IN
2600 THE SPECIFIC SWITCH DESCRIPTIONS. REFER TO THE DETAILED
5588 SWITCH DESCRIPTIONS FOR FURTHER, MORE COMPLETE INFORMATION.
2900
%?88 SWITCH NUMBER DESCRIPTION
3200 75 1(UP) = HALT ON ERROR
;288 O(DOWN) = CONTINUE AFTER ERROR REPORT
gSOO 14 1(UP) = LOOP ON TEST IF ERROR DETECTED
%988 O(DOWN) = CONTINUE TESTING
3800 13 1(UP) = INHIBIT ERRCR REPORTS
2888 O(DOWN) = PRINT ERROR REPORTS
4100 12 1(UP) = RUN INDIVIDUAL TEST
2%88 O(DOWN) = RUN TESTS IN SEQUENCE
4400 10 1(UP) = GET TEST NO. FROM SWS 4 : O
2288 C(DOWN) = USE DEFAULT TEST #0
4700 9 1(UP) = PMT MODE MINIMUM MANUAL INTERVENTION
5388 O(DOWN) = DMT MODE INTERVENTION REQUIRED
5000 8 1(UP) = RUN 1 PASS OF TEST SEQUENCE THEN HALT
2588 O(DOWN) = KEEP RUNNING TEST OR SEQUENCE

5300 {0 TEST NUMBER SELECTION
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4.1.1 SWITCH 15

PLACING SWITCH 15 DOWN WILL CAUSE THE PROGRAM 1O (ONTINUE
ON ERRORS DURING ANY OF THE i/0 TESTS. WITH SWITCH 15 UP,
THE PROGRAM WILL HALT (AT ERRHLT) ON ANY ERROR DURING THE
1/0_ TESTS WITH THE LOCATION OF THE ERROR IN RO. PRESSING
CCNTINUE WILL CAUSE THE PROGRAM TO CONTINUE IF SWITCH 12
1S POWN (LOOP ON ERROR). WITH SWITCH 12 UP, PRESSiING CON-
TINUE WILL CAUSE THE PROGRAM TO LOOP ON THE FAILING TEST.

4.7.2 SWITCH 14

PLACING SWITCH 14 UP MWILL CAUSE THS PROGRAM TO ’'100P ON
TEST'' IF AN ERROR IS DETECTED IN THAT TEST. ERROR REPQRTS
WILL BE TYPED UNLESS INHIBITED (SWITCH 13 UP). LCOPING
WILL OCCUR AUTOMATICLY, WITHOUT OPERATOR INTERVENTION, AND
WILL AND WILL CONTINUE UNTIL THE ERROR CEASES TO HAPPE, OR
THE SWITCH 1S PLACED DOWN OR =0. 4.1.2 SWITCH 14

PLACING SWITCH 14 UP WILL CAUSE THE PROGRAM TO ‘100P ON
TEST'' IF AN ERROR IS DETECTED IN THAT TEST. <£RROR REPORTS
WILL 'BE TYPED UNLESS INHIBITED (SWITCH 13 UP).  LOOPING
WILL OCCUR AUTOMATICLY, WITHOUT OPERATOR INTERVENTION, AND
WILL CONTINUE UNTIL THE ERROR CEASES TO HAPPEN, OR THE
SWITCH IS PLACED DOWN OR =0.

4.1.3 SWITCH 13

PLACING SWITCH 13 UP WILL INHIBIT THE PRINTING OF ALL
ERROR REPORTS. CAN BE USED IN CONJUNCTION WITH SWITCH
14 TO LOOP IN ERRORS FOR TROUBLESHOOTING.

4.1.4 SWITLH 12

PLACING SWITCH 12 UP WILL CAUSE THE PROGRAM TO LOOP IN THE
CURRENT, OR SELECTED TEST. IF SWITCH 8 IS UP THE TEST
WILL HALT AT THE END QF THE TEST. PRESSING CONTINUE WILL
CAUSE THE TEST TO BE STARTED OVER AGAIN. PLACING SWITCH
12 DOWN WILL CAUSE THE NEXT SEQUENTIAL TEST TO BE EXECUTED
éELg?%EgS THE TEST IS AN INTERVENTION TEST AND PMT MODE IS

4.1.5 SWITCH 11

NOT USED.

4.1.6 SWITCH 10

PLACING SWITCH 10 UP WILL CAUSE THE PROGRAM TG USE THE
CONTENTS OF SWITCHES & THRU O AS THE TEST NUMBER. If
SWITCH 12 IS UP THIS IS THE TEST THAT WILL BE RUN, IFf
SWITCH 12 IS DOWN THE SEQUENCE OF TESTS TO BE RUN WILL
START WITH THIS TEST.

4.1.7 SWITCH 9

PUTTING SWITCH 9 UP AT THE START OF TESTING WILL [INHIBIT
MANUAL INTERVENTION TESIS , AND JSE A FIXED SET OF PARAME~
TERS AS LISTED IN THC DESCRIPTION OF EACH TEST.

SEQ 0003
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SEQ GLO°
100
200 PAGE 9
300
400
500
600 4$.1.8 SWITCH 8
700 WITH SWITCH 8 DOWN THE PROGRAM WILL LOOP ON THE SELECTED
800 TEST GCR TEST SEQUENCE AS SELECTED BY SWITCH 12. PLACING
900 SWITCH B UP WILL CAUSE THE PROGRAM TO HALT AT THE C(OMPLE-
1000 TION OF THE CURRENT TEST, OR TEST SEQUENCE. PRESSING CON-
1100 TINUE WILL RESULT IN THE PROGRAM RESTARTING THE TEST OR
}%88 SEQUENCE DEPENDING ON SWITCH 12.
1400
1500 $.1.9 SWITCHES 4 TO 0
1600 SWITCHES 4 TO O ARE USED TO SELECT SPECIFIC TESTS WHEN
1700 UNDER SWITCH REGISTER CONTROL. TEST NUMBERS ARE ALWAYS [N
1800 OCTAL, FROM 00 70 22.
1900
2000
2100 4.2 KEYBOARD CONTROL
2200 SWIICHES ON THE CONSOLE SWITCH REGISTER WILL HAVE NO EFFECT
2288 WHEN UNDER TERMINAL CONTROL EXCEPT FOR SWITCH 13.
4
2500 THE PROGRAM WILi PRINT THE FOLLOWING : ENTER MODE D OR P
2600 : RESPCND BY TYPING EITHER A ‘D' FOR DMT MODE, OR A 'P" FOR
2700 PMT MODE (NO MANUAL INTERVENTION).
2800
2900
3000 THE PROGRAM WILL PRINT  READY ON THE CONSCLE, THEN WAIT fOR
%;88 COMMANDS FROM THE KEYBOARD.
2288 THE FOLLOWING COMMANDS WILL BE RECOGNIZED :
3500 R TO RUN A SELECTED TEST.
36C0 S  TO SEQUENCE THRU TESTS.
3700 L TO LOCP ON ERROR.
3800 H TO HALT ON ERROR.
3900 C TO CLEAR THE H B L COMMANDS
4000 W TO SET /HE "WIDTH'' CONTROL
4100
4200
4300 THE PERIOD (.) IS A TERMINATOR USED IN CONJUNCTION WITH THE R
4400 AND S COMMANDS TO SPECIFY A SINGLE PASS. THAT IS TO >TOP
4500 AFTER RUNNING A TEST, OR TO STOP AFTER RUNNING A SEQUENCE OF

4500 TESTS.




CZLAIBO LAOD, LA34 DMT PROG

2400
2500

2800
2900
3000
3100
3200
3300
2400
3500
3600
3700
3800
39CO
4000
4100
4201
4300
4400
4500
4600
4700
4800
4900

K 1
MACRO M1110 26-FEB=-79 14:37 PAGE 12

PAGE 10

TO ABORT OPERATIONS AND RETURN TO THE WAIT STATE AT ANY TIME
TYPE A (TL~(C., THE PROGRAM WILL RESPOND WITH READY AND WAIT
FOR COMMAND INPUT.

ENTER ONE COMMAND PER LINE, FOLLOWED BY A RETURN. IF  CON-
FLICTING COMMANDS ARE ENTERED THE LAST ENTRY WILL BE USED.

TO EXIT '"'COMMAND MODE'‘ TYPE AN ESCAPE. THE PROGRAM WILL TYPE

READY ~ AND BEGIN EXECUTION OF THE COMMANDS. (OMMANDS (AN
BE ENTERED AT ANY TIME, BUT NEW TESTS WILL NOT START UNTIL THE
ESCAPE CHARACTER IS RETIEVED.

EXAMPLES OF COMMANDS :

R12 RUN TEST 12

R23. RUN TEST 23 THEN HALT

S. SEQUENCE ALL TESTS THEN HALT

s27 SEQUENCE ALL TESTS STARTING WITH TEST 27

w100 SET WIDTH TO 100 (OCTAL) COLUMNS
( 204=132 COLM, 120=80 COLM )

IF A TEST 1S SELECTED THAT IS AN OPERATOR INTERVENTION TEST,
AND PMT MODE IS SELECTED THE FOLLOWING WILL BE TYPED: RUN
INTERVENTION TEST ? ANSWER Y OR N. IF ¢ IS TYPED THE TEST
géLL BE RUN. IF N IS TYPED A NEW TEST NUMBER WILL BE REQUEST-

THE R,S,H,L.W, AND ( MAY B8t EITHER UPPER OR LOWER CASE, BUT
THE TEST NUMBER MUST ALWAYS BE A 2 DIGIT OCTAL NUMBER. THE
COMMAND, TEST NUMBER, AND TERMINATOR ARE ECHOED BY THE PRO-
GRAM, THUS EACH CHARACTER WILL BE PRINTED TWICE IF THE TERMI-
NAL IS IN MALF DUPLEX. IF AN ERROR IS5 DETECTED IN THE TEST
SELECTION (JLLEGAL TEST NUMBER OR COMMAND CYARACTER) A QUES-
TION MARK IS PRINTED AND THE MESSAGE WILL BE REPEATED.

READY

SEQ 0010
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SEQ 001+
100
200 PAGE 11
300
400
500
600
700 5.0 TEST GROUPS
800
900
1000 5.7 TERMINAL TESTS
1100
1200
1288 5.2 INTERVENTION TESTS
1500 THE TESTS 17 THRU 24 REQUIRE MANUAL INTERVENTION. THESE
1600 TESTS ARE NOT RUN IN PMT MODE (SEE DESCRIPTION OF SW
4588 9 &.1.7, AND CONSOLE CONTROL STARTUP 4.2).
1900
5?88 5.3 EXERCISORS
2200 TESTS 15 AND 16 ARE DESIGNED AS EXERCISORS, AND (AN BE RUN FOR
5288 EXTENDED PERIODS TO "BURN IN'' THE UNITS UNDER TEST.
2500
5988 5.4 TEST ASSIGNMENTS
2800 TESTS LISTED AS DMT WILL NOT BE EXECUTED IN
%888 PMI MODE. SEE DESCRIPTION OF SWITCH 9 4.1.7 .
3100 TESTOC LAQD,LA34,LA38 DATA PATHS TEST
3200 TESTO1 LAQO,LA34,LA38 ALL PRINTABLE CHARACTCRS TEST
3300 TESTO2 LAQO,LA34,LA38 NON PRINTABLE CHARACTERS TEST
3400 TESTO3 LAQO,LA34,LA38 PRINTHEAD DGT MATRIX TEST
3500 TESTO4 LAQO,LA34,LA38 HORIZONTAL PITCH TEST
3600 TESTOS LAQO,LA34,LA38 SPACE-BACKSPACE TEST
3700 TESTO06 LACQ,LA34,LA38 SET MARGINS TEST
3800 TESTO7 LAQQ,LA34,LA38 HORIZONTAL TABS TEST
3900 TEST10 LAQQ,LA34,LA38 MULTIPLE LINE FEED TEST
4000 TEST11 LAQQ,LA34,LA38 HORIZONTAL MOTION TEST
4100 TEST12 LAQO,LAY4,LAS8 BUFFER OVERRUN TEST
4200 TEST13 LAQO,LA34,LA38 VERTICAL PITCH TEST
4300 TEST14 LAQO,LA34,LA38B BELL TEST
4400 TESTI5 LAQO,i.A34,LA38 LIiFE TEST
4500 TEST16 LAQO,LA34,LA3B PRINTER DYNAMIC EXERCISOR
4600 TEST17 DMT  INTERFACE SPEEDS TEST
4700 TEST20 DMT KEYBOARD ECHO TEST
4800 TEST21 DMT CHARACTER CODE ECHO TEST.
4900 TEST22 DMT PITCH SETUP TEST
5000
%100
5200 6.0. TEST LESCRIPTION
5300
5400
£500
5600
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6.1 DATA PATHS TESTOO

SE@ 0012
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6.2

6.3

PAGE 12

THIS TEST WILL PRINT FOUR LINES OF ALTERNATING «Usy PAT-
TERN. IT IS A CONFIDENCE TEST OF THE INTERNAL DATA BUS,
AND RECIEVER LOGIC.

EXAMPLE :
sUnUnUrUsUxUnUry. ..
UrUrUrUrUsUnUnyn,
xUrUrUnUsUsUnUrU., ..
UsUrUsUrUxUsUrUx, .,

ESTIMATED TIME AT 300 BAUD 18 SECONDS.

ALL PRINTABLE CHARACTERS TESTO1
THIS TEST WILL PRINT EACH OF THE PRINTABLE C(HARACTERS IN
GROUPS OF FOUR, SEPERATED BY TWO SPACES. THE GROUPS WILL
BE PRINTED IN ORDER, AND THE NUMBER OF GROUPS PER LINE
WILL BE DEPENDENT ON THE ‘WIDTH'® SET AT THE START OF THE
DIAGNOSTIC. (DEFAULT 132 COLM)

EXAMPLE :
AAAA BRBB (CCCC DDDD
EEEE FFFF  GGGG  HHHH
3333 4444 5555 6666
ZXXX 333@ 2 t+ee 2272

ESTIMATED TIME AT 300 BAUD 30 SEC

NON PRINTMBLE CHARACTERS TESTOZ2

THIS TEST CHECKS ALL NON-PRINTABLE C(HARACTERS. IN THIS
TEST ALL NON-PRINTABLE CHARACTER CODES ARE TRANSMITTED,
FOLLOWED BY THE WORDS: 'NON-PRINTING CHARACTER TEST.THE
NEXT LINE SHOULD BE BLANK.

IF ANY CHARACTERS APPEAR ON THE NEXT LINE AN ERROR EXISTS.

THE FOLLOWING CODES ARE TRANSMITTED :

000 NUL 002 STX 006 ACK
020 DLE 021 DCI 022 DC2
023 pC3 024 DC4 025 NAK
026 SYN 027 ET8 030 CAN
031 EM 032 suB 034 FS
035 GS 036 RS 037 JsS
177 DEL 021 DC1(XON)

ESTIMATED TIME AT 300 BAUD 5 SECONDS

SEQ G0" 3
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6.4 DOT MATRIX TESTO3

SEQ 0014
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THIS TEST WILL PRINT THE FIVE CHARACTERS ZH*#% , TU4EN
PRINT FOUR LINES OF DATA THAT WILL CREATE BLACK BOXES BY
OVERPRINTING THE SAME FIVE (HARACTERS AS ABOVE. TEN BOXES
WILL APPEAR ON EACH OF THE FOUR LINES AT DIFFERENT SPA(-
INGS. THIS TEST WILL AMPLIFY ANY WEAK OR INTERMITTANT
HEAD WIRE PROBLEMS. THE BOXES SHOULD APPEAR AN EVEN DARK
BLACK, WITH NO DOTS MISSING OR LITE STREAKS,

ESTIMATED TIME AT 300 BAUD 10 SECONDS

HORIZONTAL PITCH TESTOQ4

THIS TEST WILL PRINT FIVE GROUPS OF LINES AT EACH OF THE
HORIZONTAL PITCH SETTINGS. EACH GROUP OF LINES WILL CON-
SIST OF FIRST A LINE STATING THE CURRENT PITCH SETTINGS,
THEN A LINE OF THE CHARACTERS A THRU Z. THIS IS DONE FOR
HORIZONTAL PITCH SETTINGS OF 10 CPI, 12 CPI, 13.2 (Pl, AND
16.5 CPl. THE SETUP FOR THIS TEST IS DOWN LINE LOADED.

ESTIMATED TIME AT 300 BAUD 30 SECONDS

.0 SPACE-BACKSPACE TEST05

A LINE OF ALTERNATING SLASHES AND SPACES IS PRINTED ACROSS
THE PAGE. THE PROGRAM WILL THEN BACKSPACE THROUGH THE
LINE AND OVERPRINT THE SLASHES WITH BACKSLASHES. TWO
LINES ARE PRINTED FOR EACH PASS OF THE TEST. THE PATTERN
PRODUCED IS A LINE OF ALTERNATING X'S AND SPACES. THE TWO
§LASHE?ERSHUULD CROSS EXACTLY IN THE MIDDLE CREATING THE X
\.’wm .

EXAMPLE @ X X X X X X X XX XXXXXXXXXXXXXXX
ESTIMATED TIME AT 300 BAUD 45 SECONDS

SEG 0015
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6.7 SET MARGINS TEST06
THIS TEST WILL SET 4 PAIRS OF LEFT AND RIGHT MARGINS, THLN
IT WILL FRINT A LINE OF '='S THAT SHOULD BE WITHIN THOSE
MARGINS. ALSO A MESSAGE WILL BE SENT SPECIFYING AN ERROR
IF IT'S NOT AT THE LEFT MARGIN. A REFERENCE LINE WILL BE
PRINTED SHOWING THE MARGIN LIMITS BEING SET UP. ALL HORI-
IONTAL PITCH SETTINGS WILL BE TESTED.

EXAMPLE :

T - A S W S e e o WP vy A ———  ———
S — i — — T — — —— S W ————— —

ERROR IF NOT AT LH MARCIN
ESTIMATED TIME AT 300 BAUD 40 SECONDS

6.8 HORIZONTAL TABS TESTO7
THIS TEST WILL PRINT A REFERENCE LINE COMPOSED OF A NUMBER
OF PERJODS FOLLOWED BY A 'V'. THIS PATTERN IS REPEATED
ACROSS THE PAGE. THE LOCATION GF EACH V WILL MARK THE LO-
CATION OF A TAB STOP SET BY THE PROGRAM. THREE LINES WILL
THEN BE PRINTED UNDER THIS REFERENCE LINE, COMPOSED OF A
HORIZONTAL TAB FOLLOWED BY AN [, REPEATED ACROSS THE PAGE.
5@% I'S SHOULD LINE UP DIRECTLY UNDER THE REFERENCE LINE

EXAMPLE :

Pt et bt

THIS WILL BE REPEATED FOR A VARIETY OF DIFFERENT TAB
SETTINGS. THE NUMBER OF TABS PER LINE WILL BE CONTROLED
BY THE "WIDTH'® SPECIFIED AT THE START OF THE DIAGNCSTIC.

ESTIMATED TIME AT 300 BAUD, 132 (OL - 2 MIN

Sc’




(ZLAIBO LAOO, LA34 DMT PROG

100
200
300
400
500
600
700
800
900

1000

1100

1200

1300

1400

1500

1600

1700

1800

1900

2000

2100

2200

2300

2400

2500

2600

2700

2800

2900

3000

3700

3200

3300

24,00

3500

300

3700

3800

3900

000

4100

4200

4300

6400

4500

4600

4700

4800

4900

5000
5100
5200
5300
5400
5500
5600

E_2
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PAGE 15

6.9 MULTIPLE LINE FEED TESTI10

THIS TEST WILL PRINT A REFERENCE LINE OF DASHES THEN SKIP
N LINES AND PRINT THE NO. OF LINES SKIPPED ALONG WITH
SOME DASHES FOR VISUAL REFERENCE. EACH SKIP COUNT IS DONE
}xéﬁE FOR N =1 TO 7. VERTICAL PITCH WILL BE 6 LINES PER

EXAMPLE :

ESTIMATED TIME AT 300 BAUD 15 SECONDS

6.10 HORIZONTAL MOTION TEST11

THIS TEST WILL EXERCISE THE HEAD POSITIONING LOGIC BY
PRINTING A LINE OF H'S AT RANDOM COLUMN LOCATIONS WITHIN
THE LINE. THE HEAD WILL BE POSITIONED USING SPACES, BACK-
SPACES, AND CARRIJAGE RETURNS FOLLOWED BY SPACES. THE
NUMBER OF COLUMNS PRINTED IS CONTROLED BY THE °'WIDTH' AS
SET AT THE START OF THE PROGRAM. ALL H'S SHOULD BE EVENLY
SPACED, WITH NO OVERPRINTS.

ESTIMATED TIME AT 300 BAUD 4 MIN

6.11 BUFFER OVERRUN TEST12

THIS TEST WILL FORCE THE TERMINAL TO SEND AN XOFF (HAR
(023) BY ISSUEING A SERIES OF TIME CONSUMEING MOVEMENT
COMMANDS, FOLLOWED BY ENOUGH CHARACTERS TO FILL THE BUFFER
PAST IT'S 118 (HARACTER LIMIT., WHEN THE TERMINAL HAS EMP-
TIED THE BUFFER TO THE 10 CHARACTER LEVEL IT SHOULD
TRANSMIT AN XON CHARACTER (021) ALLOWING THE HOST TO FIN-
ISH SENDING DATA. ANY TERMINAL THAT FAILS TO SEND THE XON
WILL BE (ONSIDERED TO BE 'DEAD'' , AND WILL BE DESELECTED
OR SET INACTIVE.

ESTIMATED TIME AT 300 BAUD 10 SECONDS.

SEQ 0017




F
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SEG 0018
100
200 PAGE 16
300
400
500
600 6.12 VERTICAL PITCH TEST13
700 THIS TEST WILL PRINT SIX LINES AT EACH OF THE VERTICAL
800 PITCH SETTINGS: 2,3,4,6,8 AND 12 LINES PER INCH. THE
900 LINE PRINTED WILL BE A MESSAGE THAT LISTS THE CURRENT (PI
1000 AND LP] SETTINGS. THE SETUP FOR THIS TEST IS DOWN LINE
1100 LOADED.
;388 ESTIMATED TIME A7 300 BAUD 40 SECONDS
4
1500
1600 6.13 BELL TEST14
1700 THIS TEST CHECKS THE PRINTER BELL TO INSURE THAT EIGHT
1800 BELLS ARE DISTINCTLY HEARD, EVEN WHEN SENT A7 THE MAXIMUM
1900 TRANSFER RATE. THE PROGRAM SENDS 8 BELL CODES AT THE MAX-
2000 IMUM  RATE TO THE PRINTER THEN WAITS 2.5 SECONDS TO ALLOW
5;88 THE OPERATOR TO HEAR THE BELLS.
23060 ESTIMATED 1IME 1 SECOND
2400
2500
2600 6.14 LAOO,LA34,LA38 LIFE TEST1S
2700 ORDINARILY THIS TEST SIMPLY PRINTS A L INE OF 'A’S.
2900 WHEN THIS TEST IS LOOPED ON, IT PRINTS TWO LINES OF EACH
3000 PRINTABLE (HARACTER.  WHEN ALL PRINTABLE CHARACTERS HAVE
3100 BEEN DONE, THEY WILL SIMPLY BE REPEATED. THE CURRENT PASS
3200 NUMBER 1S PRINTED ON EACH LINE, WITH A 1 COLUMN OFFSET ON
3300 EACH NEW LINE.THE NUMBER OF CHARACTERS PER LINE WILL BE
%ggg DETERMINED BY THE 'WIDTH'' AS SELECTED AT PROGRAM STARTUP.
3600 EXAMPLE :
3700
3800
3500 ‘
4000 PARRRARARRRRR
4100 CCCC 01 ccececccecececcececececcc. .
2%88 CCCCe 01 cccccccceccccecccccceee. .
4400 ESTIMATED TIME 1 LINE 300 BAUD S5 SECONDS
4600

4700
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100
200
300
£00
500

G ¢
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-

6.15 LAQO,LA34,LA38 DYNAMIC EXERCISOR TEST16
THIS TEST WILL PRINT 35 LINES OF MIXED

PAGE 17

FORMAT DATA. A

PATTERN WILL BE CREATED WHICH IS COMPRISED OF THE UPPER

AND LOWER CASE CHARACTER SET PLUS EIGH]

OF THE SPECIAL

SYMBOLS. THIS PATTERN WILL BE IN THE FORM OF A 10'' BY 6"’

MATRIX, WHERE THE UPPER LEFT (ORNER WILL

HAVE THE GREATEST

CHARACTER DENSITY AND THE LOWER RIGHT CORNER WILL HAVE THE
LOWEST DENSITY. ALL POSSABLE COMBINATIONS CF HORIZONTAL

AND VERTICAL PITCH WILL BE USED.
ESTIMATED TIME AT 300 BAUD 2.5 MIN.

INTERVENTION TESTS
NO TIME ESTIMATES GIVEN

6.16 INTERFACE BAUD RATES TEST17

THIS TEST WILL REQUEST THA1 THE OPERATOR (HANGE THE SPEED
ON ALL TERMINALS TO 110 BAUD. THE PROGRAM WILL THEN
THIS BAUD RATE,

TRANSMIT A MESSAGE TO ALL TERMINALS AT

IDENTIFING THE CURRENT SPEED, THEN BY USE OF THE ESCAPt

SEQUENCE  ESC [OC  THE TERMINAL ID MESSAGE WILL BE SENT
FROM EACH TERMINAL TO THE PDP-11 TO VERIFY (ORRECT
TRANSMISSION AND RECEPTION BY THE TERMINAL.
PROCEDURE IS REPEATED FOR 300 BAUD. BECAUSE OF INTERVEN-

TION NO TIME ESTIMATE IS GIVEN

6.17 KEYBOARD ECHO TESTZ20

THIS TEST WILL REQUIRE THE OPERATOR TQ TYPE ALL THE PRINT-
ING KEYS ON THE KEYBOARD, [IF ANY KEYS ARE NOT SEEN BY THE
HOST THEY WILL BE REQUESTED AGAIN , AND A THIRD TIME |F
NECESSARY, INSTRUCTIONS WILL THEN BF iYPED TO PRESS THE
TAR, RETURN, AND OTHER NON PRINTING KEYS.

ALLOWED PER KEY DELAY,

6.18 CHARACTER (ODE ECHO TESTZ1
THIS TEST WILL PRINT THE OCTAL CODE OF

THEN THE TEST wlLL BE DONE.

ANY KEY PRESSED,
ALONG WJTH THE ASCII CHARACTER, WHERE THE (HARACTER IS A
NON PRINTABLE CODE THE MNEMONIC OF ThHAT
PRINTED, THE DELETE CHAR WILL BL ECHOED AS A MNEMONIC,

THIS SAME

FIVE SECONDS IS

CODE WILL BE

SEQ 0019




H 2
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SEG 0620

1CC

200 PAGE 18
300

400

€00

€00 6.19 PITCH SETUP TESTZ22

700 THIS TEST WILL REQUIRE THE OPERATOR TO (HANGE THE TERMINAL
800 SETUP TO THAT REQUESTED. AFTER FEA(CH SETUP (HANGE THE
%00 PDP=11 WILL SEND A LINE OF DATA THAT SHOULD CONFORM TO THE
1000 PARAMS SETUP, THE DATA SENT AFTER VERTICAL PITCH (HANGES
1100 WILL BE A NUMBER OF SHORT LINES THAT SHOULD SPAN 1 INCH
]%88 EE?TICALV. THAT IS EIGHT LINES AFTER THE (HANGE TO 8 LPI

1400 .ENDR
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100

000000

00G000

000000

000004
000012
000020

000C24

000041
000042
000044
000046
000050
000052

000060
000054
000000
000200
000340

0G0001
00002
000004
000010
000020
000040
000100
000200
000400
001000
0020G0
004000
010000
020000
040000
100000

000005

000000
000002

0000600
026000

€00000
000000 QO00u12
060016 000000
00000C

000000

[
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SEQ 0021

LTITLE  CZLAIBO LAOQO, LA34 DMT PROG

.SBTTL DMT/PMT PROGRAM FOR LAQQ TERMINAL

; PATCHED QUIET SUBROUTINE TO TIMEQUT IF XON NOT RECVD
; 23-FEBR-79 R.SCHAURER

.ENABL  ABS

ENABLE AMA

LIST MC,ME

;SOME DEF INITIONS
DLRVE (=60

DL TVEC=64
PRI0=000000

BIT

Wi h it n

NN VO N

BIT715=100000
DZCON=5. ;JMAX NO. OF DZ11°'S THIS COMPILE

LASECT

.=0
. WORD 2.0 sSTART OF TRAP CAT(CHER AREA

TRAP4: .WORD 6,0,12,0,16,0,22.0

=24

PEAIL:  .WORD START,PRI0

ACTPVC: .BYTE 0 ;ACT11 LOAD MEDIUM
"WORD 0 TACTT1 MODE O IS MANUAL MODE
"WORD  APTHDR -APT11 HEADER BLOCK ADDRESS
"WORD  EOP "ACT11 END OF PASS HOOK ROUTINE

0
.WORD 20000  ,ACT11 MANUAL MODE ONLY
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DMT/PMT PROGRAM +tOR LAQQ TERMINA_ SEQ 002¢

12300 000200 .=200
12400 00020C 000137 00122v JMP START
12500 000204 000137 001242 JMP KSTART




K
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DMT/PMT PROGRAM FGR LAOO TERMINAL

12700 001C00
12800

12900

13000

13100

13200

13300 001090 000000
13400 001002 001214
13500 001004 000360
13600 001006 001440
13700 001010 000012
13800 001012 000030
13900

14000

14100

164200 001014 000000
14300 001016 000000
14400 001020 000000
16500 001022 000000
14600 001024 000000
14700 001026 000000
14800 001030 000000
14900 001032 000000
15000

15100

15200

15300 001034 000
15400 001035 000
15500 001036 000020
15600 001040 000000
15700 001042 000000
5800 001044 000000
5900 001046 000000
€000 001050 0000CO
6100 001052 Q00000
6200 001054 000000
163C0 001056 0000CO
16400 001060 000000
16500 001062 000000
16600 001064 000000
16700 001066 GOOOOO
16800 001070 000000
16900 001072 000000
17000 001074

'710C

)
1
1
i
1

.=1000
.EVEN

; TOP OF STACK AREA
. APT PARAMETER BLOCK

APTHDR: .WORD 0
WORD  $MAIL
.WORD 240,
.WORD  800.
.WORD 10.
.WORD
JAPT MAILBOX AREA
$MAIL: L.WORD Q00000
$FATAL: .WORD 000000
$TSTNO: .WORD 000000
$PASNO: .WORD  00U000
$DEVCT: .WORD 000000
SUNIT: L.WORD 000000
$MSGAD: .WORD 000000
$MSGL: .WORD 000000
;APT ENVIORNMENT TABLE
$ETABL: BYTE 0
BYTE O
$SWREG: .WORD 000000
LWORD 000000
$CPU: WORD  00G000
SMEMAD: .WORD 000000
$MEMAR: .WORD 000000
SMEMA?2: _WORD 000000
$MEMRZ: .WORD 000000
SMEMA3: _WORD (00000
$MEMRX: .WORD 000000
$MEMAS4: WORD 000000
$MEMR4: .WORD 000000
SVECTT. .WORD 000000
$VECTZ2: .WORD 000000
$8ASE: LWORD  000QCO0
$DEVM: _WORD 00006V
$ETENL:

2

;HIGH ORDER ADDRESS BITS
;ADDRESS OF APT MA]LBOX

;TIME FOR LONGEST TEST 4 MIN.
;TIME FOR QUICK PASS

;TIME FOR EACH ADDITIONAL DVC
SETEND-SMAIL/2

;LENGTH OF MAILBOX + ETABLE

;MESSAGE TYPE CODE

:FATAL ERROR NO.

2TEST NUMBER
sPASS NUMBER
sDEVICE COUNT

JUNIT NO. UNDER TEST
sMESSAGE ADDRESS (WORD BOUNDRY)
JMESSAGE LENGTH (IN WORDS)

;0= STAND ALONE, 1=AUTOMATIC MODE

. CONTROL BITS

;APT SWIT{H REG:ISTER

;USER SWITCHES

:CPU TYPE AND OPTIONS
sMEM TYPE & HIGH ORDER BITS
:MEMORY ADDRESS~ HIGH

;VECTOR #1, AND PRIORITY
JVECTOR #2, AND PRIORITY
;BASE ADDRESS OF DEVICES

;DEVICE MAP

JEND: Or ETARLE

SEQ 0023




CZLAIBO LAOO, LA34 DMT PROG
COMMON DATA STORAGE

17200

17400 001074 160010
17500 001076 000300
17600 0017 3 000000
17700 001102 Q00000
17800 001104 000000

17900 001106 000000
18000 001110 000000
18100 001112 006000
18200 001114 000000
8300 001116 000000
18400 001120 000007
18500 001122 177570
18600 001124 000000
18700 001126 000000
18800 (01130 000000
18900 001132 000000
19000 001134 000000
19100 001136 000000
19200 001140 000000
19300 001142 000314

- )l
‘Og‘o ye)
\Jogl\
8008

19800

19900

20000 001144 000000
20100 0G1146 000000
20200 001150 000000
20300 001152 000000
20400 001154 000009
20500 001156 000000
20600 001160 000000

20700 001162 000000
20800 001164 000000
20900 001166 000000
21000 001170 000000
21100 001172 000204
21200 001174 000000
21300 001176 000000
21400 001200 000000
21500 001202 000000
21600 001204 000000
21700 001206 000000
21800 001210 000000
21900 001212 000000
22000 001214 000000
22100 001216 000000
20200

22300

L 2
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LSBTTL

DZf\DDR:
DZVECT:

DXTMP:

MSGTYP:
MSGADR:
SENDTM:

ERROR:
SEQ:
TEST:
SO:

SRCONT:

SWR:

PASSNQ:
ANTMPO :
ANTMP1 ;
ANTMPZ :

TEMP:

NOTYET:

HOOK :
LOOPC :

LOOPI :
LOOPO :
TSTMP:

NUML IN:

comi:
comMe:
WORK :
WORK1:
WORKZ2:
WORK3:

CHARIN:

WIDTH:
MODE :
PMODE :
RCTMP:
DINUM:

ONLINE:

PNTR:

TMPTST :
TSTTYP:

GO:
uuT:

.SBTTL

COMMON DATA STORAGE

160010 ;ADDRESS OF 1ST DZ11
000300 ;ADDRESS OF 1ST DZ11 VECTOR
000000 ;TEMP STORAGE FOR DZ XMIT [NTERRUPT ROUTINE
000000
000000
000000
000000 JERROR SWITCH
000000 :HOLDS TEST TABLE POINTER
000000 JPOINTER TO CURRENT TEST
000000 ;THIS IS THE SIMULATED SWITCH REGISTER
000001 JTHIS IS THE SWITCH REGISTER CONTROL SWITCH
177570 POINTER TO SWITCH REG, OR SOFT SR
000000 :THIS IS THE PROGRAM PASS NUMBER
000900
00u000
000000
000000
000000
000000
000314 :TIME CONSTANT FOR 11/20
JSET 10 202 FOR 11/03
;SET TO 251 FOR 11/10
:SET TO S54 FOR 11740
JSET TO 755 FOR 11/45, 11760
JSET TO 1237 FOR 11745, 11/70
;SET TO 2127 FOR 11745 BIP, 11/55
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
132, ;SET TO 120 FOR B0 COLM
000000 :DZ TRANSMIT MODE
000000 ;PMT MODE FLAG
000000
000000 :NO. OF DZ'S ACTUALLY ON SYSTEM
000000 ;LINE NO. UNDER TEST
000000 :CONSOLE BUFFER POINTER
000000 ;CONSOLE ROUTINE TEMP FLAGS
000000 :TEST DESCRIPTION DATA
000000
000000 :# OF UNITS UNDER TEST

START POINT FOR PROGRAM

SEQ 002«
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START POINT FOR PROGRAM

100 001220
200 001224
300 001232
400 001236
500
600

700
800 001242

001332
1900 N01336
2000
2100
2200
2300
2400 001342
2500 001344
2600 007350
2700 001356
2800 001362
2900 001366
3000 001370
3100 001374
2200 001400
3300
3400 001402
3500 001410
3600 001414
3700 001416
3800 001420
3900 001422
4000 001426
4100 001432
4200 001434
4300 001436
4400 001440
4500 001444
4600 001446
4700 001452

012706
052737
004737
000137

012706
004737
012737
012737
012737
012737
012737
005037
005037
012737

012705
004737
000137

012737
005737
001002
000000
000776
012706
013701
006301
006301
006301
010137
005000
012702
010260
010260
010260
062760
005060
005060
005060
005060
005060

001000
100000
003754
001342

001000
003754
017240
000200
000066
000200
000101
001210
001120
020332

034650
020310
001342

001216
001402
001074
001202

001202
000010

000006
001202

001000
001202

001152

020754
025134
025254
025374
000050
025014
026174
024674
024314
024554

M 2
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001120

000060
000062
000064
000966
177560

001206

0G0004

000004

025374

START: MOV
BIS
JSR
JMP

#1000, SP
#BIT15, SRCONT
PC,SWRTST
INIT

;SETUP STACK POINTLR
;SET SWITCH CONTROL

;START HERE IF IN CONSOLE CONTROL

KSTART: MOV
JSR
MOV
MoV
MoV
MoV
MOV
CLR
CLR
MOV
SENDC
MOV
JSR
JMP

JHERE WE INIT THE DZ11 ROUTINES

INIT: NOP
CLR
MOV
MOV
CLR
1%: TST
INC
ADD
BR

2%: MOV
TST
BNE
HALT
BR

3%: MOV
MOV
ASL
ASL
ASL
MOV
CLR
MOV

48 MOV
MOV
MOV
ADD
CLR
CLR
(LR
CLR
CLR

#1000,SP
PC,SWRTST
#TTYIN,a#60
#PRI4,aH62
#66,64
#PRI4 3466
#101,a4177560
TMPTST
SRCONT
#TKBUF ,PNTR
A#MSGOO
#MSGOO ,R5
PC,CSEND
INIT

w1
#2%,TRAP4
DZADDR RO
DZNUM
(RO)
DZNUM
#10,R0

1%

#6, TRAPS
DZNUM
3%

.=2
#1000, sP

RO
#DZCOMB,R?2
R2, COMIN(RO)
R2 . COMOUT (RO)
R, COMEND (RO)
#50, COMEND (RO)
COMCNT (RO)
CURREP (R0)
CURADD (RO)
CURTER(RO)
STOP(R0)

;INIT THE STACK

;INIT CONSOLE VECTOR AREAS
; COMMANDS HAVE PRIORITY
;TURN ON THE CONSOLE

s INPUT BUFFER POINTER
;SEND TEST ID

.GET MESSAGE ADDRESS
. SEND MESSAGE

:SU TRAP CATCHER
:GET FIRST DZ ADDRESS

:DZ PRESENT ?

sYES COUNT [T
sPOINT TO NEXT ADDRESS

JFIX TRAP CATCHER

JANY DZ°'S ?

;NO- NOTHING TO TEST
JCLEAR THE STACK POINTER
;GET DZ COUNT

:8 LINES PER DZ

:SAVE TOTAL NO OF LINES
:START OF COMMAND BUFFERS

;END IS 20 WORDS AWAY

SEQ 0025
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CZLAIBO LAQO, LA34 DMT PROG

START POINT FOR

5600 001520
5700 001526
5800 001532
5900 001536
6000 001540
6100

6200

6300

6400 001542
6500 001546
6600 001552
6700 001556
6800 001562
6900 001564
7000 001570
7100 001572
7200 001576
7300 001602
7400 001606
7500 001610
7600 001612

PROGRAM

012760
062709
062702
005301
001344

012702
012703
013705
013704
010225
012725
010325
012725
062703
062702
005304
001364
000240

000145
000002
000050

032412
032330
001076
001202

000240
000240

000012
000012

020634

INITT:

1%:

N ]
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MOV #145,DZL INE (RO)
ADD #2,RO

ADD #50,R2

DEC R1

BNE 6%

:SETUP VECTORS FOR INTERRUPTS
MOV #DZRINT ,R2
MOV #DZTINT ,R3
MOV DZVECT ,R5
MOV DINUM,R4
MOV R2,(R5) +
MOV #2460, (RS) +
MOV R3,(R5)+
MOV #240,(R5) +
ADD #12,R3
ADD #12.R2
DEC R4
BNE 1%

NOP

;INIT TO 300 BAUD ODD PARITY
:NEW BUF=0LD BUF + 20.

;FIRST VECTOR ADDRESS

;SETUP A COUNT FOR DIS

sSETUP RECIEVE INT VECTOR

JAND ITS PRIORITY

;SETUP TRANSMIT VECTOR

:AND ITS PRIORITY

:SET POINTER TO NEXT INT SERVICE ROUTINE
;SU NEXT RX INT SVC ROUTINE

sNEXT LINE PLEASE

;IF THERE IS ONE

SEQ 0026
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START POINT FOR PROGRAM

7800
7900 ;INIT D211 RECIEVE
8000 001614 013701 021152 INIT2: MOV NUML IN,R] JGET # OF LINES
8100 001620 012702 026454 MoV #KBBUF ,R2 ;SETUP FIRST KEYBOARD BUFFER AREA ADDRESS
8200 001624 005000 (LR RO
8300 001626 005060 025634 1%: CLR KBCNT(RO) . ZERO rHAR COUNT
8400 001632 010260 026074 MOV R2,KBBUFB(RO)  ;DEFINE BEGINING OF BUFFER
8500 001636 010260 026214 MOV RZ,KBBUFI(RO)  ;INIT PUT IN POINTER
8600 001642 010260 026334 MoV RZ,KBBUFO(RO)  ;AND TAKE OUT POINTER
8700 001646 010260 025754 MOV R2,KBBUFE (RO)  ;DEFINE END OF BUFFER
8800 001652 062760 000016 025754 ADD #16,KBBUFE(RO) ;AS 16 BYTES PAST BEGINING
8900 001660 062700 000002 ADD #2,R0O ;NEXT LINE PLEASE
9000 001664 062702 000020 ADD #20,R2 ;BUFFER AREAS ARE 20 BYTES LONG EACH
910C 201670 005301 DEC R1 ;ANY MORE TO SETUP?
8%88 001672 001355 8NE 1% ;YES. DO SO
9400 :INIT DZ11 CSR REGISTER TABLE
9500 001674 013700 001202 INIT3: MOV DZNUM,RO ;COUNT OF DZS
9600 001700 012701 031554 MoV #DZCSR,R1 ;SETUP ADDRESS OF TABLE
5700 001704 013702 001074 MOV DZADDR,R2 ;SETUP ADDRESS Of 15T (SR
9800 0017210 010221 1$: MOV RZ,(R1)+ JPUT A (SR ADDRESS INTO THE TABLE
9900 001712 012712 000020 MoV #20, (R2) . CLEAR THE DZ
10000 001716 062702 000010 ADD #10,R2 :CSRS ARE 4 WORDS APPART
10100 001722 005300 DEC RO :ANY MORE TO DO?
10200 001724 001371 BNE 1% ;YES. DO EM.
10300
10400
10500
10600 ;INITIALIZE TABLE CF TCR BITS
10700 001726 013701 001202 INIT4: MOV DZNUM,R1
10800 001732 012702 025514 MOV #TCRBIT ,RZ
10900 001736 012703 000001 18: MOV #1,R3
11000 001742 010322 2%: MOV R3,(R2)+
11100 001744 006303 ASL R3
11200 00174€ 022703 Q00400 CMP #400,R3
11300 001752 001373 BNE 2$
11400 001754 005301 DEC R1
;}288 001756 001367 BNE 1%
11700 001760 005000 INITS: (LR RO
11800 001762 005003 CLR R3
11900 001764 012737 002044 000004 MOV #5%, TRAP4
12000 001772 016001 031554 1%: MoV DZCSR(RO) ,R1
12100 001776 012702 012720 MOV #12720,R2 ;RX-ON, 300,P-0DD,1~STOP,7-BIT
12200 002002 010261 000002 2%: MOV R2,2(RT) *LOAD LPR REG
12300 002006 005202 INC R?
126400 002010 022702 012730 {MFP #12730,R2 ;DONE ALL LINES ?
12500 002014 001372 BNE 2%
12600 002016 062700 000002 ADD #2,R0
12700 002022 005203 INC R3
12800 002024 023703 001202 (MP DINUM,R3
12900 002030 001360 BNE 1%
13000 002032 012737 000006 000004 MOV #6, TRAP4
13588 002040 000137 002046 JMP INIT6
13300 002044 000000 5%: HALT :DZLPR TRAPPED (16XXX2)

13400

SEQ 0027
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START POINT fOR PROGRAM SEQ 0028
13600
13700 002046 005000 INIT6: (LR RO
135800 002050 013701 001202 MOV DZNUM, R
13900 002054 016002 031554 1%: MOV DZCSR(RO) ,R2
14000 002060 012737 002156 000004 MOV #5%, TRAP4
164100 002066 005762 000006 TST 6(RS) ;RING=CARRIER REG.
14200 002072 012737 002164 00G0C4 MOV #6%, TRAP4
14300 002100 012712 040140 MOV #40140, (R2) s SCAN=EN,RX INT EN,TX INT FN >>CSR
14400 002104 012737 002172 000004 MOV #7%,TRAPS
14500 002112 112762 Q00377 000004 MOVR #377,4(R2) JENABLE ALL LINES TX >> T(R
14600 002120 012737 002200 000004 MOV #8%, TRAP4
14700 002126 112762 000377 000005 MOVB #377,5(R2) ;SET DTR ALL LINES >> T(R+1
14800 002134 062700 000002 ADD #2,R0
1400 002140 005301 DEC R1
15000 002142 001344 BNE 1%
15100 002144 012737 (00006 000004 MOV #6, TRAPS
15200 002152 000137 002220 JMP ISEQ
15300
15400
15500 002156 000GO0 5%: HALT : TRAPPED FRCM 16XXX6 RING/CARRIER
42988 002160 000137 002202 JMP 10%
15800 002164 000000 6%: HALT s TRAPFED FROM 16XXX0 CSR
;2888 002166 000137 002202 JMP 10%
16100 002172 000C00 7%: HALT : TRAPPED FROM 76XXX4 TXMIT CTL
;2%88 002174 000137 0Q022C2 JMP 10%
16400 002200 000000 8%: HALT . TRAPPED FROM 16XXX5 DTR
16500 002202 005737 001120 10%: TST SRCONT
16600 002206 001002 BNE 1i%
16700 002210 000137 001242 JMP KSTART
}2888 002214 000137 001220 11%: JMP START

17000




C7LAIBO LAOO, LA34 DMT PROG

START POINT FOR PROGRAM

7200
17300
17400
17500
17600 002220
17700 002224
17800 002232
002232
002236
002242
17900 002246
"8000 002252
18100 002256
18200 002260
18300 002264
18400 002272
18500 002300
002300
002304
18600 002310
18700 002314
18800 002316
002316
002322
18900 002326
002326
002332
19000 002336
19100 002340
19200
19300
19400
19500 002342
19600 002350
19700 002356
19800 002364
19900 002366
20000 002374
20100 002376
20200 002402
20300 002410
20400 002416
20500 002422
20600 002430
002430
0024 34
20700 002440
20800 002446

012706
012737

012705
005037
004737
004737
005737
001402
000137
012737
012737

012705
004737
004737
000001

012705
004737

012705
004737
000001
000776

113777
142777
122777
001004
052737
000402
005037
012737
012737
005037
117737

012705
004737
012737
000002

001000
020332

034650
001174
031706
004216
001120

002450
002342
000000

042341
020310
034250

042327
020310

042400
020310

177562
000240
000120

100000

001176
017240
000340
001160
176560

001160
020310
000101
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001206

000060
000062

SEQ8:

176636
176630
176622
001176
000060
000067

001160

177560

;TEST SEQUENCER SUBROUTINE
; TEST SEQUENCE INITIALIZATION

;SET STACK AT 1000
;INIT TTY BUFFER POINTER
;SEND TEST 1.D.
;BLILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;SIZE FOR TERMINALS
;SWITCH CONTROL ?
JYES=JUMP

;SU TTI RECV INTR VECTOR

;PRI O

;PMT MODE MSG.

;GET MESSAGE ADDRESS
:SEND MESSAGE

;SEND 'READY’’

.GET MESSAGE ADDRESS
; SEND MESSAGE

;" ENTER COMMANDS'’

;GET MESSAGE ADDRESS
;SEND MESSAGE

;GET INPUT ANSWER
;STRIP PARJTY & LC
JPMT MODE ?

;NO- JUMP

JYES= FLAG IT

:DMT MODE
JSET TTY IN VECTOR
:PRIORITY 7

cECHO THE CHARA(CTER
:GET MESSAGE ADDRESS
> SEND MESSAGE
s CONSOLE ACTIVE

[SEQ: MOV #1000,SP
MOV #TKBUF ,PNTR
SENDALL #MSGOQO0
MOV #MSGOO RS
CLR MODE
JSR PC.SEND
JSR PC,SCAN
ST SRCONT
BEQ 4%
JMP LSEQ
4%: MOV #SEQMS , ax60
MOV #PRIO,a462
SENDC  #MSGK/Z
MOV #MSGKZ RS
JSR PC,CSEND
JSR PC,QUIET
WA]T
SENDC #MSGK1
MOV #MSGK1 ,R5
JSR PC,CSEND
SENDC  #MSGK4
MOV #MSGK4 RS
JSR PC,CSEND
WSEQ: WAIT
BR Y.
; MODE ANSWER AND TTY VECTOR SETUP
SEQMS: MOVR a#177562,aPNTR
BI(B #2460 ,aPNTR
CMPB #'P,aPNTR
BNE V¢ 3
BIS #817T15,PMODE
BR s
2$: (LR PMODE
3%: MOV #TTYIN,N60
MOV #PR17 ,an62
(LR WORK
MOVRB aPNTR,WORK
SENDC  MWORK
MOV #MWORK RS
JSR PC,CSEND
MOV #101,a#4177560
4%: RT!

SEQ 0029




(ZLAIBO LAQO, LA34 DMT PROG

23200 002566

23400 002572
002572
002576
002602

23500 002606

23600 002612

23700

23800 002616

23900 002622

24000 002626

24100 002634

24200

24300

24400

24500 002640

24600 002644

24700 002650

24800 002654

24900 002656

25000 002662

25100 002666

25200 002672

25300 002676

25400 002700
002700
002704

25500 002710

25600 602716

25700 002722

25800 002730

25900 002734

START POINT FOR PROGRAM

005737
001471
004737
032737
001452
004737
005737
001433
004737
004737
005737
001402
000137
032737
00141¢
005037

012705
005037
004737
000137
105237
000137

012705
005037
004737
005037
000137

105037
004737
012737
000137

004737
004737
005737
001402
000137
004737
042705
122705
001411

012705
004737
012737
000137
112737
005737
001405

001120

004036
002000

003302
001214

003356
003460
001214

002730
010000

001214

042552
001174
031706
002730
001116
002462

042514
001174
031706
001214
002730

001116
003356
000001
002730

003356
003460
001214

002730
004104
000240
000131

042327
020310
177777
002730
000001
001214
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001116

001116

001214

001214
001214

JINITIAL TEST STARTUP SEQUENCE

LSEQ:

1%:

2%:
3%:

4%

5%:

10%:

13¢:

’0%:

roORO
Y
W A

27%:
40%:

TST SRCONT
BEQ 20%

JSR PC,GE TSWS
BIT #B1710,S0
BEQ 13%

JSR PC,VALID
TST GO

BEQ 10%

JSR PC,GETTST
JSR PC,MODCON
TST GO

8EQ 3%

JMP 40%

8171 AB1IT12,50
BEQ 5%

CLR GO
SENDALL #MSGS?2
MOV #MSGS2, RS
CLR MODE

JSR PC,SEND
JMP 40%

INCB SO

JMP 1%
SENDALL #MSGS1
MOV #MSGS1,RS
CLR MODE

JSR PC,SEND
CLR GO

JMP 40%

CLRB SO

JSR PC,GETTST
MOV #1,60
JMP 40%

. CONSOLE CONTROL SECTION
JSR PC,GETTST
JSR PC,MODCON
TST GO
BEQ 25%

JMP 40%

JSR PC,ANYWAY
BIC #240,R5
CMPR #'Y,R5
BEQ 27%

SENDC  #MSGK1
MOV #MSGK1,R5
JSR PC,CSEND
MOV #-1,G0
JMP 40%

MOVB #1,G0

TST GO

BtQ 43%

;SWI"CH CONTROI. ?
;NO-JUMP TO 20
JREAD SWITCH REG.
;TEST NO, IN SWs ?
;NO=- GOTO 13
;CHECK VALICITY

;NO GOOD GOT0 10
;TEST ADDR & INFO
sMOCE CONFLICT ?

;YES- GOTO 3

;O0K= GO STAKR™ TEST

: SEQUENCE TESTS ?
:YES GOTO 5

;ERROR MODE CONFLICT wwwan
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGF
;TRY NEXT TEST

;ERROR INVALID TEST NO. ##xw+
:BUILD SEND CAL! USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE

;SU FOR TEST O
sTEST ADDR & INFO

:GET TEST ADDR & INFO
;MODE CONFLICT ?

:YES~ GOTO 25
;60 START TEST
JRUN ANYWAY ?

;YES 6GOTO 27

;SEND °READY"'

:GET MESSAGE ADDRESS
;SEND MESSAGE

;G0 BACK TO WA]T

SEQ 0030




(ZLAIBO LAQO, LA34 DMT PROG
START POINT FOR PROGRAM

26000 002736 100002

26100 002740 000137 002336
26200 002744 000137 002754
32288 002750 000137 00245C

F 3
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L1%:
42%:
43%;

BPL
IMp
mp
mP

L2%

WwSEQ
RSEQ
LSEQ

;WAIT FOR NEW (OMMANDS
;START TESTING
;GET NEW TEST CATA FROM SWS

SEQ 0031
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START POINT FOR PROGRAM

52588 :sTEST RUN & POST RUN CONTROL
26900 002754 004737 033062 RSEQ: JSR PC,RESETO
27000 002760 005737 001216 TST uuT

27100 002764 001474 BEQ 91%

27200 002766 SENDALL #MSG7S
002766 012705 (037370 MOV #MSG75,RS
002772 005037 001174 CLR MODE
002776 004737 031706 JSR PC,SEND

27300 003002 004777 176106 JSR PC,RTEST

27400 003006 004737 034250 JSR PC,QUIET

27500 003012 005277 176074 INC aSEQ

27600 003016 004737 0035°0 JSR PC,EOPT

27700 003022 005737 001120 18T SRCONT

27800 003026 001433 BEQ 5%

27900 003030 017737 176066 001160 MOV ASWR , WORK

28000 003036 032737 001000 001160 BIT #81T9,WORK

28100 003044 001404 BEQ 1$

28200 003046 052737 100000 001°76 BIS #BIT15,PMODE

28300 003054 000402 B8R 2%

28400 003056 005037 001176 1%: C.R PMODE

28500 003062 042737 067377 001160 2%: 8IC #007377 ,WORK
28600 003670 053737 001160 001116 8IS WORK , S0
28700 003076 005137 001160 COM WORK

23800 003102 042737 007377 001160 8IC #007377 ,WORK
28900 003110 043737 001160 001132 8IC WORK, SO

JRESET THE TERMINALS
JANY TERMINALS TO TEST ?

;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;GO DO TEST >=d=dedadedadad->
JWAIT TILL DONE

;PASS COUNT +1

;REPORT PASS DONE

;SWITCH CONTROL ?

:NO- GO T0 5

JCHECK SWITCH REG FOR (HANGES

;LOOK AT BITS 15,114,735, £8

29000 003116 032737 010000 0011 5%: 8iT #BIT12,S0 JSEQUENCE TESTS ?

29100 003124 001423 BEQ 10% JYES- JUMP 10 10

29200 003126 032737 000400 001116 6%: BIT #B178,50 SEND OF TEST HALT ?

29300 003134 001406 BEQ 9% ;NG JUMP

29400 003136 005737 001120 TST SRCONT sSWITCH CONTROL ?

29500 003142 001401 8EQ 8% :NO JUMP

29600 003144 000000 HALT : END OF TEST .eeiieinernnnenncanaaann.

29700 003146 000137 002316 8%: JMP SEQ8 sGET NEW CONTROL INFO

53388 003152 000137 002754 9%: ™Mp RSEQ sRESTART TEST

2N000 003156 91%: SENDC  #MSGK5S ;NO TERMINALS SELECTED !!!.
003156 012705 042460 MOV AMSGK6 RS .GET MESSAGE ADDRESS
003162 004737 020310 JSR PC,CSEND s SEND MESSAGE

30100 003166 000000 HALT

30200 003170 000137 002220 JMP ISEQ

30300 003174 105237 001116 108 INCB SO JPOINT TO NEXT TEST

3040C 003200 004737 003356 JSR PC,GETTST :GET TEST ADDR & INFQ

30500 003204 023727 001114 *77777 CMP TEST,A-1 ;END OF TAB(E ?

30600 003212 001407 BEQ 15% ;YES= JUMP

30700 003214 004737 003460 JSR PC,MODCON s CHECK MODE

3G800 003220 005737 001214 TST GO

30900 003224 001763 BEQ 108 ;BAD~ TRY NEXT TEST

%;?88 003226 000137 002754 11%: JMP RSEQ ;0K GO DO NEXT TEST

31200 003232 005237 001124 *5%: INC PASSNO ;PASS NUMBER +1

1300 003236 004737 003634 JSR PC,EQP
400 003242 032737 000400 001116 16%: 81T #8178,S0
500 003250 001406 8EQ 19%

600 003252 006737 00112C TST SRCONT
700 003256 001401 BEQ 17%

JREPORT PASS COMPLETE
JEND OF PASS HALT ?
JNO= JUMP

;SWITCH CONTROL 2

JNC JUMP

SEQ@ 0032




(ZLAIBO LAQO, LA34 DMT PROG
START POINT FOR PROGRAM

37800 003260 000000
31900 003262 000137 002450
32000

32100 003266 105037 001116
32200 003272 004737 003356
32300 003276 000137 002754
32400

32500

32600 003302 005037 001214
32700 003306 105737 001116
32800 003312 002407

32900 003314 123727 001116
33000 003322 003003

33100 003324 012737 000001
53200 003322 000207

33300

33400 003334 105037 001214
33500 003340 005737 001212
33600 003344 100403

33700 003346 012737 000001
33800 003354 (000207
33900

34000 003356 005037 0011
34100 003362 005037 001
34200 003366 113737 001N
34300 003374 006337 0011
34400 003400 063737 0011
34500 003406 006337 001112
34600 003412 063737 001160
34700 003420 062737 004424
34800 003426 017737 175460
34900 003434 062737 000002
35000 003442 017737 175444
35100 003450 062737 000002
35200 003456 000207

35300

35400 003460 112737 000001
35500 003466 005737 00117¢
35600 003472 001405

35700 003474 105737 001212
35800 003500 100002

35900 003502 005037 001214
36000 003506 000207

36100

26200

36300

36400 003510 005037 001134
36500 003514 113737 001116
36600 003522 012705 020600
36700 003526 004737 033730
36800 003532 113737 020604
36900 003540 113737 020605
37000 003546 017737 175340
37100 003554 012705 020600
37200 003560 004737 (033730
37300 003564 113737 (020603
37400 Qu3572 113737 020604
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000022
001214

001214

001160
001112

001134

035106
035107
001134

035075
035076

17%:
19%:
22%:

VALID:

4%:

REAL :

1%:
GETTST:

MODCON:

2%:
JEND OF
EOPT:

HALT JEND OF PASS c.iiiiericcrarearnncnnnes
JMP LSEQ ;GET NEW TEST NO. tIC.
CLRB SO ;SET TEST O

JSR PC,GETTST

JMP RSEQ JSTART TEST.....
CLR GO

TSTR S0

8LT 4%

CMPR SO,#22

B8GT 4%

MoV #1,G0

RTS PC

CLRB GO

TST TSTTYP

BMI 1%

MoV #1,G0

RTS PL

CLR WORK

CLR SEQ

MOvV8 SO,WORK

ASL WORK

ADD WORK, SEQ

ASL SEQ

ADD WORK , SEQ
ADD #TSTTBL,SEQ
MoV aSEQ,TEST
ADD #2,SEQ

MoV aSEQ,TSTTY®

ADD #2,SEQ ;POINT TO PASS NO.

RTS PL

MOvB ”1,GU

TST PMODE

BEQ 2$

TS18B TSTTYP

BPL 2%

CLR GO

RTS PC

TEST PASS ROUTINE

CLR TEMP ;CONVERT TEST NO TQ ASTII

MOVB SO, TEMP
MOV #EBUF ,RS
JSR PC.BIOCT
MO8 EBUF +4 ,MSG03+23.
MOvB EBUF +5,MSGC3+24.
MOV QASEQ, TEMP

MOV #EBUF ,RS

JSR PC,BI0CT

MovB EBUF +3,MSG03+14,
MOVR EBUF +4 ,MSG03415,

.PUT [N MSGO3
s CONVERT PASS NO.

JPUT [N MSGO3

SEQ 0033




CZLAIBO LAOD, LA34 DMT PROG
START POINT FOR PROGRAM

37500 003600 113737 020605
37600 003606
003606 012705 035057
003612 005037 001174
003616 004737 031706
37700 003622
003622 012705 035057
003626 004737 020310
37800 003632 000207
37900
38000
38100
3820C0
38300 003634
003634 012705 035040
003640 005037 001174
003644 004737 031706
38400 003650
003650 012705 035040
003654 004737 020310
38500 003660 013737 001124
38600 003666 012705 020600
38700 003672 004737 033730
38800 003676 105037 020606
38900 003702
003702 012705 0205600
003706 005037 001174
003712 004737 031706
33000 003716
003716 012705 Q20600
003722 004737 020310
39100 003726
003726 012705 037370
003732 005037 001174
003736 004737 031706
39200 003742
003742 012705 037270
003746 004737 020310
29300 003752 000207
39400
39500
39600
39700
39800
39900 003754 012737 004002
40000 003762 012737 0003240
40100 003770 017737 175126
40200 003776 000240
40300 004000 000407
40400 004002 012737 000176
40500 004010 017737 175106
40600 004016 000002
40700 004020 012737 000006
40800 004026 012737 000000
40900 004034 000207
4" 2300
41100
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035077

001134

000004
000006
001116

001122
001116

000004
000006

MOvR EBUF +5,MSG03+16.
SENDALL #MSGO3

MOV #MSGO3,RS

CLR MODE

JSR PC,SEND

SENDC  #MSGO3

MOV #MSGO3,RS

JSR PC,CSEND

RTS PC

;REPORT END OF TEST PASS
JBUILD SEND CALL USING MESSAGF ADDRESS

;NOW SEND THE MESSAGE

.GET MESSAGE ADDRESS
s SEND MESSAGE

----------------------------------------------------------------

:END OF PASS SUBROUTINE "

EOP: SENDALL #MSGO1
MOV MMSGO1,RS
CLR MODE
JSR PC,SEND
SENDC  #MSGO1
MOV #MSGO1 RS
JSR PC,CSEND
MOV PASSNO, TEMP
MOV #EBUF ,RS
JSP PC,BIOCT
Cikd  EBUF+6
SENDALL #EBUF
MOV #EBUF RS
CLR MODE

JSR PC.,SEND

SENDC  WEBUF

MOV #EBUF ,RS

JSR PC.CSEND

SENDALL #MSG75

MOV MSG75,RS

;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE
;GET MZSSAGE ADDRESS
s SEND MESSAGE
- CONVERT PASS NO TO ASCII
;sPRINT PASS NO.
;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE
.GET MESSAGE ADDRESS
; SEND MESSAGE

;SEND CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS

CLR MODE
ISR PC,SEND NOW SEND THE MESSAGE
-.NDC  #MSG75

;GET MESSAGE ADDRESS
; SEND MESSAGE

RTS C :RETURN
:"""T’F‘oh‘h‘Aﬁ‘D.Aéé‘g‘wi’r&g‘Ré‘Gié’réé . & 8 0 0P B POV S S R s L ] [ A 2
; SWR = 176 IF NONE ON SYSTEM
SWRTST: MOV #2%, TRAPS

MOV #PR17.,TRAP4+?2
1%: MOV aSWR, SO

NOP
B8R 3%
2S: MOV #176,SWR JTRAPPED TO &4 SET UP FOR

Q?Y aSWR, SO ;SOF TWARE SWITCH REG.
3% MOV #6,TRAPS JRESET TRAP CAICHER

MOV #0,TRAPL +2

RTS PC

SEC 0034




CZLAIBO LAQO, LA34 DMT PROG
START PCINT FOR PROGRAM

41290
41300
41400
41500 004036 023727 001122
41600 004044 001001
417CC 004046 GOO000
41800 004050 017737 175046
41900 004056 032737 001000
42000 004064 001404
42100 004066 052737 100000
42200 004074 000402
42300 004076 005037 001176
42400 004102 000207
42500
42600
42700
4,2800
42900 004106 012737 004146
43000 004112 005005
43700 004114
004114 012705 042426
004120 004737 020310
43200 004124
004124 012705 023420
004130 004737 033676
43300 004134 105705
43400 004136 001002
43500 004140 112705 000116
43600 004144 000207
43700
43800 004146 113705 177562
43900 004152 012737 017240
44000 004160 105737 177564
44100 004164 100375
4200 004166 110537 177566
44300 004172
004172 012705 037370
004176 004737 020310
44400 004202 005037 001146
44500 004206 012737 000101
44600 004214 000002
44700
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*"ROUTINE TO' GET SWITCHES
000176 GETSWS: CMP SWR, 4000176
BNE 3¢
HAL T
001116 3$: MOV aSWR, SO
001116 BIT #81T9°S0
BEQ 1%
00°176 BIS #81T15,PMODE
BR 2%
1$: CLR PMODE
2%: RTS PC
S"ROUTINE 70" HANDLE MODE
000060 ANYWAY: MOV #3%, 3460
CLR RS
SENDC  #MSGKS
MOV #MSGKS ,RS
JSR PC,CSEND
sTaLL  #10000.
MOV #10000. ,RS
JSR PC,MSTA( L
TSTB RS
BNE 2%
1%: MOVB  #'N.RS
28 : RTS PC
3%: MOVB  aW#177562.RS
000060 MOV #TTYIN, a#60
4% : TSTB  a#177564
8PL 43
MOVB  RS.a¥177566
SENDC  #MSG7S
MOV #MMSG7S RS
JSR PC,CSEND
CLR LOOPO
177560 Q?Y #1071, 34177560

-------------------------------

JREAL SWS ?
JYES SKIP HALT
JALLOW OPERATOR TO CHANGE 176
JREAD SWS TO WORK COPY
;PMT MODE ?
;NO
JYES= SET THE FLAG

---------------------------------

JSET INTERRUPT TO 3%
sRUN ANYWAY ? MSG

.GET MESSAGE ADDRESS
;SEND MESSAGE

;SETUP STALL TIME CONSTANT

;ASSUME NO OF NO ANS

;GET ANS
JRESTORE TTY INTR HANDLER

;ECHO THE (HAR

:GET MESSAGE ADDRESS
s SEND MESSAGE
+ABORT THE TIMEOUT
JENABLE (ONSOLE

SEG 0035




K 3
CZLAIBO LAQO, LA34 DMT PROG MACRO M1110 26~FEB-79 14:37 PAGE 30

START POINT FOR PROGRAM SEQ 0036
44900 . THIS ROUTINE WILL SCAN ALL LINES FOR ACTIVE TERMINALS
45000 . BE REQUESTING AN ANSWERBACK FROM ALL LINES. THE SELECT
45100 . 8IT WILL BE SET ACCORDINGLY IN THE DZLINE TABLE.

s
45400 004276 012737 004410 001140 SCAN: MOV #5% ,HOOK ;LINK TO RECV ROUTINE
45500 Q04224 SENDALL #MSGO5 ;PROMPT TERMINALS
004224 012705 035755 MOV #MSGOS ,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
00423C 005037 001174 CLR MODE
004234 004737 031706 JSR PC, SEND ;NOW SEND THE MESSAGE
45600 004240 STALL  #600C. JWAIT A WHILE
004240 012705 013560 MOV #6000. ,RS ;SETUP STALL TIME CONSTANT
204244 004737 033676 JSR PC MSTALL
45700 004250 005037 CO1160 CLR WORK
45800 004254 023737 001160 001152 1%: CMP WORK ,NUML IN ;ALL LINES DONE ?
45900 004262 001424 BEQ 4% ;YES- EXIT
46000 004264 013700 001160 MOV WORK ,RO
46100 004270 006300 ASL RO ;X2 FOR WORD OFFSET
46200 004272 005760 020634 157 DZLINE(RO) ;BIT 15 SHOULD BE SET
46300 004276 100006 BPL 3% ;NO RESPONSE~ DESELECT
46400 004300 042760 100200 020634 8I(C #100200,DZL INE (RO)
46500 004306 005237 001160 INC WORK ;CHECK NEXT LINt
46600 004312 000760 BR 1%
46700 004314 052760 000200 020634 3%: BIS #81T7,DZL INE(RO) ;SET LINE INACTIVE
46800 004322 005060 024054 CLR ACTIVE(RO)
46900 004326 005237 001160 INC WORK
47000 004332 000750 BR 1% ;CHECK NEXT LINE
47100 004334 005037 001140 4% CLR HOOK
47200 004340 005037 001204 CLR ONL INE
47300 004344 005037 001216 CLR UuT
47400 004350 023737 001204 001152 6$: CMP ONL INE ,NUML IN
47500 004356 001413 BEC 8%
47600 004360 013700 001204 MOV ONL INE ,RO
47700 004364 006300 ASL RO
47800 004366 105760 020634 1518 DZL INE (RO)
47900 004372 100402 BM] 4
48000 004374 005237 001216 INC uuv
48100 004400 005237 001204 7%: INC ONL INE
48200 004404 000761 8R 6%
48300 004406 000207 8%: RTS PC
48400
48500
48600 004410 004737 033446 5%: JSR PC,KBOUT ;REMOVE (HAR FROM BUFFER
48700 004414 052760 100000 020634 BIS #BIT15,DZL INE(RO) ;SET RESPONDED BIT
2gg88 004422 000207 RTS PC

49000




CZLAIBO LAQD, LA34 DMT PROG
START POINT FOR PROGRAM

100 004424 005410
200 004426 000000
300 004430 000000
400 004432 005452
500 004434 000001
600 004436 000000
700 004440 005700
1800 004442 000002
1900 004444 000000
2000 0C4446 005732
2100 004450 000003
2200 004452 000000
2300 004454 006040
2400 004456 000004
2500 004460 000000
2600 004462 006412
2700 004464 000005
2800 004466 000000
2900 004470 006610
3000 004472 000006
3100 004474 000000
3200 004476 007520
3300 004500 000007
3400 004502 0000GO
3500 004504 010072
3600 004506 000010
510 000000

8800 (04512 (10464
5900 004514 000071
004516 000000

52¢ 011164

4200 004522 000012
4300 004524 000000
4400 004526 011630
4500 004530 000013
4600 004532 000000
4700 004534 012170
4800 004536 000014
4900 004540 000000
5000 004542 015676
5100 004544 000015
5200 004546 000000
5300 004550 016340
5400 004552 000016
5500 004554 000000
5600 004556 004612
5700 004560 000217

L 3
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CSBTTL TEST SEQUENCE TASLE

;ONE WORD OF TEST ADDRESS

JONE WORD OF TEST DESCRIPTION DATA

; BIT7  TEST MANUAL INTERVENTION
BIT4:0 TEST NUMBER

"ONE WORD OF PASS COUNT

TSTIRBL:

TESTOO
000000
000000
TESTO1

000001

000000
TESTOZ2
000002
000000
TESTO3
000003
000000
TESTO4
000004
000000
TESTOS
000005
000000
TESTO6
000006
000000
TEST07
000007
000000
TEST10
000010
000000
TEST11
000011
000000
TEST1?2
000012
000000
TEST13
000013
000000
TEST14
000014
000000
TEST1S
000015
000000
TEST16
000076
(00000
TEST17
000217

;DATA PATHS TEST

;ALL PRINTABLE CHARACTERS TEST

;NON=PRINTABLE CHARACTERS TEST

;PRINTHEAD DOT MATRIX TEST

;HORIZONTAL PITCH 1EST

;SPACE -~ BACKSPACE TEST

:SET MARGINS TEST

;sHORIZONTAL TABS TEST

JMULTIPLE LINE FEED TEST

JHORJZONTAt MOTION TEST

sBUFFER OVERRUN TEST

JVERTICAL PITCH TEST

JBELL TEST

JLIFE TEST

;DYNAMIC EXERCISOR

;BAUD RATE TEST

SEQ 0037




- r—

CZLAIBO LAOQ, LA34 DMT PROG
TEST SEQUENCE TABLE

5800 004562 000000
5900 004564 012260
6000 004566 000220
6100 004570 000000
6200 004572 014412
6300 004574 000221
6400 004576 000000
6500 004600 015214
6600 004602 000222
6700 004604 000000
6800 Q04606 177777
9888 004610 000000

M 3
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000000
TEST20
000229
000000
TESTZ2]
000221
000000
TEST22
000222
000000
177777
000000

;DMT KEYBOARD ECHO TEST

;DMT CHARACTER CODE ECHO TEST

;DMT PITCH SETUP TEST

;END OF TABLE FLAG

SEQ 0038




26

CZLAIBO LADO, LA34 DMT PROG

TESTS

7200
7300
7400
7500
7600
7700 004612
004612
004616
004622
7800 004626
7900 004632
8000 004636
8100 004642
8200 004646
004646
004652
004656
8300 004662
004662
004666
004672
8400 004676
004676
004702
004706
8500 004712
8600 004716
8700 004722
8800 004726
004726
004732
004736
8900 004742
004742
004746
004752
9000 004756
004756
004762
004766
9100 004772
9200 004776
9300 005002
9400
9500 005004
9600 005006
9700 005012
9800 005020

0200 005040
10300 005042
10400 005046
10500 005050
10600 005054
10700 005056

012705
005037
004737
012703
012704
012702
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737
004737
012702
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737
004737
005037
000207

000240
005037
012737
023737
002402
000137
013700
006300
105760
100003
005237
000767
000240

035762
001174
031706
036052
036074
005374
033524

037677
001174
031706

036157
001174
031706

036332
001174
031706
005004
005402
033524

037677
001174
031706

036326
001174
031706

036332
001174
031706
005004
001140

001204
03516¢
001204

005372
001204

020634
001204

N 3
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.SBTTL

TESTS

---------------------------------------------------------------------

STATTEZT  OF  THE' VAR100S' RA(
AL INTERVENTION 1S REQUIRED

O~

US BAU

---------------------------------------------------------------------

TEST

5%:
001160
001152 6$:
66%:
61%:

MOV
CLR
JSR
MOV
MOV
MOV
JSR
SENDALL
MOV
CLR
JSR
SENDALL
MOV
CLR
JSR
SENDALL
MOV
CLR
JSR
JSR
MOV
JSR
SENDALL
MOV
CLR
JSR
SENDALL
MOV

CLR
JSR
SENDALL
MOV
CLR
JSR
JSR
CLR
RTS

NOP
CLR
MOV
(Mp
BLT
JMP
MoV
ASL
TSTB
8PL
INC
B8R
NOP

'lé?'t'l'l"lllllllllllll.'lll

17:" SENDALL " #MSG

LN A A B Y B A A B B B A A

SEG 0039

§g8g27'R5 JBUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND JNOW SEND THE MESSAGE

#MSG30,R3 ;SETUP ADDRESS OF 1ST PART OF MESSAGE
#MSG31 R4 ;SETUP ADDRESS OF "HIT RETURN WHEN DONE'’ MESSAGF
#T0318L ,R2 ;SETUP TABLE ADDRESS

PC,ANVENT .G0 THRU ALL TABLE ENTRIES

#MSGES8 JPRINTED AT MSG

ggggBS,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND ;NOW SEND THE MESSAGE

AMSG3?2 ;110

gggg32.ﬂ5 JBUILD SEND CALL USING MESSAGE ADDRESS
PC.,SEND JNOW SEND THE MESSAGE

#MSG36 ;BAUD

;ggg36.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
PC.,SEND JNOW SEND THE MESSAGE

PC,5% ;GET ANSWER BACK

#T03TB2 ,R2 :SU NEXT PASS

PC ,ANVENT ;GO THRU TABLE AGAIN

#MSGBS ;PRINTED AT

:gggBB.RS ;BUILD SEND CALL USING MESSAGE ADDRESS
PC.,SEND JNOW SEND THE MESSAGE

#MMSG3S ;300

gggg35.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND JNOW SEND THE MESSAGE

#MSG36 :BAUD

;ggg36.ﬂ5 ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND ;NOW SEND THE MESSAGF

PC,5% ;GET ANSWER BACK

HOOK

PC

ONL INE JINIT LINE O

#MSGO6 , WORK ;SHOULD BE MESSAGE

ONL INE _.NUML IN ;DO ALL LINES

66$

20%

ggLINE.RO

g%gINE(RO) ;IS LINE SELECTED 7/

gzLINE ;NO TRY AGAIN




CZLAIBO LACO, LA34 DMT
TESTS

10B00 095060 005037
10900 00506« 012737
*1000 005072 012737
11100 005100 012737
11200 005106

005106 012705

005112 112737

005120 113737

005126 004737
00 005132 004737
00 005136

005136 012705

005142 004737
500 005146 005737
600 005152 001004
700 005154 005237
800 005160 000137
005164 012746
000 005170 004737
100 005174 000240
12200 005176 012746
12300 005202 004737
12400 005206 000090
12500 005210 005237
12600 005214 000137

12800 005220 000240
12900 005222 042705
13000 005226 110577
13100 005232 005237
13200 005236 005237
13300 005242 023727
1340C 005250 001415
12500 005252 105760
13600 005256 001407
13700 005260 005060
13800 005264 9012746
13900 005270 004737
14000 005274 000000
14100 005276 004737
14200 005302 0Qu0207
14300 005304 (005037
14400 0053°0 012737
14500 005316 005737
14600 005322 001420
14700 005324 127777
14800 005332 001007
14900 005334 005237
15000 005340 005237
100 005344 005337
200 005350 000762
200 005352 012746
5

1
1
1
1
1
1
1

PON) — b sl
o

00 005356 004737
00 005362 000240
600 005364 005237
700 005370 CQ0613
800 005372 000207

S N NV W L 'Y
VALV RV ALV RV, LU, AU, L0, |

PROG

010070
016324
177777

005220

035155
000010
001204
031706
034250

003720
033676
001136

0012064
005020
035113
020352

035415
020352

001204
005020

177600
173730
010070
001162
010070

031567
031566
035415
020352
033446
001136
016324
010070
173630
0011¢0
001162
010070

041014
020352

001204

B &
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SEQ 0040
CLR COUNT s INPUT CHAR (OUNT =0
001162 MOV #7130BUF , WURK] ;BORROW A BUFFER AREA
001736 MOV #-1 . NOTYET *GETS CLEARED WHENE DONE
001140 MOV #10$ , HOOK SLINK TO RECY ROUTINE
SEND]  #MSGOS,ONLINE  *ESCAPE SEQ TO TERMINAL
MOV #MSGO5 RS *MESSAGE ADDRESS TO RS
001175 MOVB  #10.MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONLINE,MODE ;SELECTED LINE NO.
JSR PC, SEND
JSR PC.QUIET
STALL  #2000. ;ALLOW 2 SEC FOR ANSWERBACK
MOV #2000. ,RS :SETUP STALL TIME CONSTANT
JSR PC,MSTALL
3 NOTYET :SHOULD BE CLR IF MSG RECVD
BNE 7¢ *GO REPORT ERROR
INC ONL INE *DO NEXT LINE
JMP 6$
7% MOV #MSGO4 , - (SP) :NO RESPONSE !
dgg PC.ERRORT
8$: MOV #MSG15,«(SP) ;:ERROR MESSAGE ADDRESS
JSR PC.ERRORT *TO ERROR ROUTINE
HALT SIF BIT1S IS SET
INC ONL INE :DO NEXT LINE
JMP 6%
108 : NOP
BIC #177600.R5 JCLEAR PARITY BIT
MOVB  RS,a3WORK1 :SAVE IN BUFFER
INC COUNT :BUMP CHAR COUNT
INC WORK 1 *BUMP BUFFER POINTER
000007 cMP COUNT , #7 -LOOKING FOR 7 CHARS
BEQ 12% :GO COMPARE TO SHOULDBE
TSTR  RECERR+1(R0) SERROR SET ?
BEQ 11%
CLR RECERR(RO) ;RESET THE ERROR FLAGS
MOV #MSG15,-(SP) “ERROR MSG ADDRESS
JSR ¢ ERRORT :TO ERROR ROUTINE
HALT YIF BIT1S IS SET
11%: JSR PC,KRBOUT
X RTS PC :WAIT FOR MORE
12%: CLR NOTYET ;TURN OFF FOR NOW
001162 MOV #T30BUF ,WORK1  -RESET BUFFER POINTER
13%: TST COUNT *COMPARE ALL 5 CHARS
BEQ 18%
173630 CMPB  RWORK,aWORK1
BNE 14$
INC WORK
INC WORK 1
DEC COUNT
BR 138

14%: MOV #MSG148,-(SP)
JSR PC,ERRQORT

NOP
18%: INC ONL INE sTEST NEXT LINE
B8R 6%

20%: RTS P(
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TESTS SEQ 0041
15900
16000
16100
16200 005374 036157 TO3TBL: MSG32 ;110 , ODD PARITY , 7 BIT
16300 005376 011320 11320
16400 005400 000000 000000
16500 005402 036326 TO3TRZ: MSG35 ;300 BAUD , ODD PARITY , 7 BIT
16600 005404 012720 12720
%2g88 005406 Q00000 000000 JEND OF TABLE
16900
17000
17100
17200
17300
17400
17500
17600
17700 I T N R R R e
*7800 ;THIS IS THE TEST OF DATA PATHS WITHIN THE LAOO
1;888 JTHE =<UxU PATTERN IS ALTERNATING O AND ONE BITS
8100 005410 TESTOO: SENDALL #MSG4.Z2 JANOUNCE TEST
005410 012705 036751 MOV #MSG42 RS ;BUILD SEND CALL USING MESSAGE ADDRESS
005414 005037 001174 CLR MODE
005420 004737 031706 JSR PC,SEND ;NOW SEND THE MESSAGE
18200 005424 SENDR  #MSG43., 44
005424 012705 037005 . MOV #MSG4L3,RS
005430 112737 000004 001174 MOVB #4 ,MODE
005436 112737 000020 001175 MOVR #20,MODE+1
005444 004737 031706 JSR PC,SEND
13288 005450 000207 4%: RTS PC

18500




(ZLAIBO LADO, LA34 DMT
TESTS

18700
18800
18900
19000
19100
16200
19300 005452
005452 012705
005456 005037
005462 004737
19400 005466 013737
19500 005474 005037
19600 005500 162737
19700 005506 003403
19800 005510 005237
19900 005514 000771
20000 005516 012737
20100 005524 013737
20200 005532 123727
20300 005540 002050
20400 005542 005737
20500 005546 003433
20600 005550
005550 013705
005554 012737
005562 112737
005570 004737
20700 005574
005574 012705
005600 012737
005606 112737
005614 004737
20800 005620 004737
2C900 005624 105237
21000 005630 005337
21100 005634 000736
21200 005636
005636 012705
005642 005037
005646 004737
21300 005652 013737
21400 005660 000724
21500 005662
005662 012705
005666 005037
005672 Q04737
21600 005676 000207
2700
21800

PROG

037445
001174
031706
001172
010070
000006

010070

000041
010070
001164

001160

001164
000004
200020
032310

000040
00G102
000020
032310
034250
001164
001160

037370
001174
031706
010070

037373
001174
031706

D_ 4
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001160
001160

001164
001160
000177

001174
001175

001160

---------------------------------------------------------------------

;ﬁhik?%[é'E%AtiéégfﬂTég?'!""l‘l'llll"l"".'l""'l"""'l'lll'
;THIS TEST PRINTS FOUR OF EACH PRINTABLE CHARACTER.
JASCII CODES 04" THRU 176.

---------------------------------------------------------------------

TESTO1:

1%:
2%
3%

4%:
5%:

6%:

8%:

SENDALL
MOV
CLR
JSR
MOV
CLR
Su8
BLE
INC

BR

MOV
MOV
CMPB
BGE
TST
BLE
SENDC2
MOV
MOV
MOVB
JSR
SEND(?2
MOV
MOV
MOovB
JSR
JSR
INCB
DEC

B8R
SENDALL
MOV
CLR
JSR
MOV
B8R
SENDALL
MOV

CLR
JSR
RTS

#MSG81
#MSG81,RS
MODE
PC,SEND
WIDTH,WORK
COUNT
#6,WORK

2%

COUNT

1%

#4171 ,WORK?2
COUNT , WORK
WORK? ,#177
8%

WORK

6%
WORK 2 , #4
WORKZ ,R5
#4 ,MODE
#20,MODE +1
PC,CHROUT
#4042
#40,R5

#2 ,MODE
#20 ,MODE +1
PC,CHROUT
PC,QUIET
WORK 2
WORK

3%

#MSG7S
#MSG75,.R5
MODE
PC,SEND
COUNT ,WORK
f$ 3

#MSG77
#MSG77 RS
MODE
PC,SEND
P(

;SEND TEST ID
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;WORK = WIDTH /7 6

JINIT ASCIT CODES
;DO WHILE CHAR < 177
;DO WHILE WORK > 0

;SEND (HAR 4 TIMES
;GET CHAR TO R5
:GET REPEAT COUNT
:SET REPEAT MODE
;CALL CHAR OQUTPUT ROUTINE
;SEND 2 SPACES
;GET CHAR TO RS
;GET REPEAT COUNT
:SET REPEAT MODE
;CALL CHAR OUTPUT ROUTINE

JNEXT ASCII CODE
s CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE
JRESTORE WIDTH/6

;SKIP 3 LINES
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

SEQ 0042
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TESTS SEQ 0043
22000
22100
22200 T T N I T I R A R R N R
22300 JTHIS IS THE NON PRINTING CHARACTER TEST.
22400 JALL NON=-PRINTING CHARS ARE SENT T0O THE LAQQ. THE RESULT SHOULD BE
22500 A BLANK LINE.
22600 cecesseceneisetrerioas Fe et scse it eteceteieidiiiiiilliee il
22700 005700 TESTO2: SENDALL #MSGLL
005700 012705 037104 MOV #MSG44 RS JBUILD SEND CALL USING MESSAGE ADDRESS
005704 005037 001174 CLR MODE
005710 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGF
22800 005714 SENDALL #MSG4S
005714 012705 037214 MOV #MSGLS RS ;BUILD SEND CALL USING MESSAGE ADDRESS
005720 005037 001174 LR MODE
005724 004737 031706 JSR PC,SEND JNOW SEND THE MESSAGE
22900 105730 000207 RTS PC
23000
23100
23200
23300
23400
23500 P L R P P P R R R P R R R R R O o
23600 ;DOT MATRIX TEST
23700 JTHIS TEST PRINTS FIVE CHARACTERS '‘ZH~#%'‘' IN LINE.
23800 JA LINE OF 7'S AND SPACES IS PRINTED THEN THIS
23900 JLINE 1S OVERPRINTED WITH A LINE OF H'S AND SPA(CES,
24000 ;*'S AND SPACES , AND #'S AND SPACES. THIS OVERPRINT
24100 JCREATES TEN BOXES THAT SHOULD BE ALL BLACK.
24200 S eiiiieiiiicacceieiitiiiaciiiiieiiiliiiilieliiieiieiiiiiiiiiiiiiii:
24300
246400 005732 TESTO3: SENDALL #MSGS83 ;SEND TEST ID
005732 012705 037511 MOV #MSG83,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
005736 005037 001174 CLR MODE
005742 Q04737 031706 JSR PC,SEND JNOW SEND THE MESSAGE
24500 005746 SENDALL #MSG/77 ;SKIP 3 LINES
005746 012705 037373 MOV #MSG77 RS JBUILD SEND CALL USING MESSAGE ALDRESS
005752 005037 001174 (LR MODE
005756 Q04737 031706 JsR PC,SEND JNOW SEND THE MESSAGE
24600 005762 SENDALL #MSG84 ;SEND THE CHARS
005762 012705 037536 MOV #MSGB4 RS JBUILD SEND CALL USING MESSAGE ADDRESS
005766 005037 001174 (LR MODE
005772 004737 031706 JSR PC,SEND ;NOW SEND THE MESSAGE
24700 005776 °%: SENDR  #MSGB5,#4 JMAKE & LINES OF 10 BOXES
005776 012705 037550 MOV #MSG8S5, 'RS
006002 112737 000004 001174 MCVB #4 MODE
006010 112737 00002C 001175 MovB  #20,MODE+1
006016 004737 031706 JSR PC, SEND
24800 006022 5%: SENDALL #MSG77 ;SKIP 3 LINES
006022 012705 037373 MOV #MSG77 RS JBUILD SEND CALL USING MESSAGE ADDRESS
006026 005037 001174 CLR MODE
006032 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGE
52888 006036 000207 RTS PC

25100




CZLAIBO
TESTS

25300
25400
25500
25600
25700
25800
25900
26000
26100

26200

26300
26400
26500
26600
26700
26800
26900
27000
27100
27200
27300

27400

27500

27600

27700

27800

27900

28000

LAQQ, LA34 DMT

006040
006040
006044
006050
006054
006054
006060
006064
006070
006074
006102
006104
006110
006114
006120
006126
006134
006142
006150
006150
006154
006160
006164
006164
006170
006174
006174
006200
006204
006210
006210
006214
006220
006224
006224
006230
006234
006240
006240
006244
006250
006254
006254
006260
006264
006270
006270
006274
006300

012705
005037
004737

012795
005037
004737
005037
023727
003122
005037
005037
005037
613737
013737
062737
062737

017705
005037
004737

012705
004737

012705
005037
004737

012705
005037
004737

017705
005037
004737

012705
005037
004737

012705
005937
004737

012705
005037
004737

PROG

040120
001174
031706

037373
001174
031706
001160
0011606

001164
006366
006370
001160
006366
006402
006372

000214
001174
031706

000250
033676

037370
001174
031706

037677
001174
031706

000136
001174
031706

037753
001174
031706

037771
001174
031706

240001
001174
031706

F 4
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000006

006366
006370
006370
006366

------------------------------

E
;A MESSAGE WILL BE
;FOLLOWED BY THREE LINES Of
sPITCHES TESTED :

---------------------------------------

T
IS DOWN LINE LOADED FROM THE PROGRAM,
INTED IDENTIFYING THE CURRENT PJT(H,
A..l AT THE CURRENT PITCH.

10, 12, 13.2, 16.5 (Pl. ALL AT

6 LPI.

--------------------------------------

LA A B A A A A A N O A B R B B N B N B A BN BN AN A AN AN AN A AN B B AN A A N A N N A A A A AR A AR A N N N N N R N A R R A

TESTO4: SENDALL #MSG109
MOV #MSG109,RS
CLR MODE
JSR P{,SEND
SENDALL #MSG77

MOV #MSG77 ,R5
(LR MODE
JSR PC,SEND
CLR WORK

1%: (MP WORK , #6.
BGT 4%
CLR WORKZ2
CLR TT11A
CLR T118
MOV WORK,T11A
MOV T11A,T118B

ADD #TABLHF ,T118
ADD #TABLH,T11A
SENDALL aT11B

MOv aT11B,R5

CLR MODE

JSR PC,SEND
STALL  #250

MOV #250,R5

JSR PC,MSTALL

2%: SENDALL #MSG75
MOV #MSG75 ,R5
CLR MODE

JSR P(,SEND
SENDALL #MSG8B
MOV #MSGB8 RS
(LR MODE

JSR P(,SEND
SENDALL aT11A
MoV dT11A,RS
(LR MODE

J3R PC,SEND
SENDALL #MSG93
MOV #MSGI3. RS
CLR MODE

JSR PC,SEND
SENDALL #MSG96
MoV #MSG96,R5
CLR MODE

JSR PC,SEND
SENDALL #MSG98
MOV #MSG98,RS
(LR MODE

JSR PC,SEND

;SEND TEST 1D
;BUILD SEND CALL USING MESSAGE ADDRESS

JNOW SEND THE MESSAGE
:3 LINES
JBUILD SEND CALL USING MESSAGE ADDRESS

sNOWw SEND THE MESSAGE

;DO WHILE WORK > 0

;GET TABLE OFFSET
JPOINTER TO FORMAT (MD
-POINTER TO ID MSG
JSETUP HORIZ PITCH
;BUILD SEND CALL USING MESSAGE ADDRESS
sNOW SEND THE MESSAGE
;SETUP STALL TIME CONSTALT

+SEND CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
JBUILD SégsNgA{E ng?geGEESSAGE ADDRESS
.NOW SEND THE MESSAGE
;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE
;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE
JBUILD SEND CALL USING MESSAGE ADDRESS
sNOW SEND THE MESSAGE
;BUILD SEND CALL USING MESSAGE ACDRESS

sNOW SEND THE MESSAGE

SEQ 0044




(2. AIBQ
TESTS

28100

28200
28300
28400
28500
28600
28700
28800

28900
29000
29100
29200
29300

29400
29500

29600
29700

LAOD, LA3SL DMT

006304
006304
006310
006314

01270>
005037
004737
023727
003003
005237
00717
062737
000137

012705
005037
004737
000207

000060
000200
037746
037727
0460006
640113

PROG

040056
001174
031706
001164

001164

000002
006074

037373

001174
031706

037741
040013

G 4
MACRO M1110 26~FEBR=79 "4:37 PAGE 35-1

SFG 0045
SENDALL #MSGI1Q7
??g ;ggg107,R5 JBUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND JNOW SEND THE MESSAGE
000003 {MP WORKZ ,#3%
BGT 3%
INC WORK 2
BR 2%
001160 7%: ADD #2 ,WORK JGET NEXT PIYLH
JMP 1%
4%: SENDAL . #MSG77
??g ;ggg??.RS JBUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND JNOW SEND THE MESSAGE
RTS PC JEXIT...

T11A: .WORD 000000
T118: .WORD 000000
037734 TABLH: ,WORD  MSG92,MSGO1 ,MSGO0 ,MSGBS

040020 TABLHF : .WORD  MSG99,MSGT100,MSG101,MSG108




H 4
CZLAIBO LAOQ, LA34 oMT PROG MACRO M1110 26-FEB=79 14:37 PAGE 36

TESTS SEQ 0046
29900
30000 H RN T I R P R R R R S
30100 JSPACE - BA(CKSPACE TES
3020C JTHIS TEST PRINTS A LINE OF ALTERNATING SLASHES AND APA(ES.
30300 s THEN BACKSPACES THROUGHM THE LINE OVERPRINTING THE *'/*' §
30400 :WITH '\'S, THE RESULTING LINE SHOULD BE A LINE CF ALTERNATING
30500 JX'S AND SPACES. TWO LINES ARE PRINTED PER PASS.
30600 R R I R R R R
30700
30800 006412 TESTOS: SENDALL #MSG78 JSEND TEST [ID
006412 012705 037400 MOV #MSG78,RS ;JBUILD SEND CALL USING MESSAGE ADDRESS
006416 005037 001174 CLR MODE
006422 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGF
30900 006426 012737 000002 010070 MOV #2,COUNT JSU FOR 2 LINES
31000 006434 005737 (010070 2%: TST COUNT
31100 006440 003454 LE 7% ;DO UNTIL COUNT =0
31200 006442 013737 001172 001160 MOV WIDTH,WORK
31300 006450 006237 (01160 ASR WORK
31400 006454 162737 000002 001160 Sus #2 ,WORK JMAKE SHURE WE'RE NOT AT MARGIN
31500 Q06462 SENDR  #MSG79,WORK JSEND '/
006462 012705 (037435 MOV #MSG79,RS
006466 113737 001160 001174 MOVRB WORK ,MODE
006474 112737 000020 001175 MOVB #20,MODE +1
006502 004737 031706 JSR PC,SEND
31600 006506 000240 NOP
31700 006510 000240 NOP
31800 006512 013737 001172 (01160 4% MCY WIDTH,WORK
31900 006520 006237 001160 ASR WORK JRESET COLM COUNT
32000 006524 SENDR  #MSG80,WORK ;SEND “BS BS \ BS"
006524 012705 037440 MOV #MSG80 RS
006530 113737 001160 001174 MOvB WORK ,MODE
006536 112737 000020 001175 MOvVB #20,MODE +1
006544 004737 031706 JSR PC,SEND
32100 006550 6% SENDALL #MSG7S :CRLF
006550 012705 037370 MOV MMSG?5,RS JBUILD SEND CALL USING MESSAGE ADDRESS
006554 005037 O0OC1174 (LR MODE
006560 004737 031706 JSR PC,SEND JNOW SEND THE MESSAGE
32200 006564 005337 010070 DEC COUNT
32300 006570 000721 8R 2%
32400 006572 7%: SENDALL #MSG77 ;SKIP 3 LINES
006572 012705 037373 MOV #MMSG77 RS JBUILD SEND CALL USING MESSAGE ADDRESS
006576 005037 001174 CLR MCDE
006602 004737 (031706 JSR PC,SEND ;NOW SEND THE MESSAGE
25288 006606 000207 RTS P JEXIT...

32700
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TESTS SEQ 004’
32900
33000 S i ieenaieseettenteee ettt il il iiiiliiiiiiiiiiiiiiiiiti:
33100 ;SET MARGINS TEST
33200 M THIS TEST WILL SET 4 PAIRS OF L £ R MARGINS
33300 ; THEN WILL PRINT A LINE OF = SIGNS THAT SHOULD
33400 ; BE WITHIN THOSE MARGINS. ALSO A MESSAGE Wil BF
33500 ) SENT SPECIFYING AN ERROR [F IT'S NOT AT THE LH
33600 ; MARGIN.
33700 ; A REFERENCE LINE WILI. BE PRINTED SHOWING THE
33800 ; MARGIN LIMITS BEING SET uP.
33900 : ALL HORIZ PITCH SETTINGS WILL BE TESTED.
34000
34100 JEXAMPLE @ L..... Veereeroaonneess eeevoans Veeewene.
342()0 : SIITI TEESeEsEEscSs~—~=zzZ===
34300 ERROR IF NOT AT LM MARGIN
34400
34500 MM S S N S B B SR
34600
34700 006610 TESTO6: SENDALL #MSG111 ;SEND TEST ID
006610 212705 040204 MOV #MSG111,RS JBUILD SEND CiLL USING MESSAGE ADDRESS
006614 005037 001174 (LR MODE
006620 004737 031706 JSR PC,SEND ;NOW SEND THE MESSAGE
34800 006624 005037 001160 (LR WORK
34900 00663C 005037 001162 (LR WORK 1
35000 006634 005037 007512 CLR w1 :D0 4 PITCH SETTINGS
357100 006640 023727 007512 000003 1%: (MP Wl,~3 ;1F DONE GOTO 30
35200 006646 003402 BLE 4
35300 006650 000137 007432 JMP 30%
35400 006654 006337 007512 A ¥ ASL W1 ;%2 FOR WORD OFFSET
35500 006660 012737 006402 007516 MOV #TABLHF ,W3 :PITCH MSG TABLE
35600 006666 063737 007512 007516 ADD Wwl,w3
35700 006674 SENDALL aw$ ;SETUP H PITCH
006674 017705 000616 MOV aW3,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
006700 005037 001174 LR MODE
006704 004737 031706 JSR PC.SEND :NOW SEND THE MESSAGE
358C0 006710 006237 007512 ASR Wl
35900 006°14 005037 007514 (LR we :00 5 MARGINS TESTS
36000 006720 023727 007514 000004 2%: (MP wWe,#4
36100 006726 003402 BLF 5%
36200 006730 000137 007422 JMpP 208
36300 006734 5%: SENDALL #T12FIX JRESET MARGINS
006734 (012705 007500 Mov #T12F IX,RS JBUILD SEND CALL USING MESSAGE ADDRLSS
006740 005037 001174 CLR MODE
006744 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGE
36400 006750 013737 007514 007516 MOV wZ,w3
36500 006756 006337 007516 ASL w3
36600 006762 013701 007516 MOV w3,R1
36700 006766 062701 007454 ADD #TBL12A,R1 JPOINT TO SETUP ADDR
36800 006772 013737 007514 007516 MOV We, w3
36900 007000 062737 007466 007516 ADD #TBL12B W3 JPOINT TO LH MARGIN
37000 007006 117737 000504 001160 MOVA aW3, WORK ;GET LH MARSIN
37100 007014 013737 007514 007516 MOV we,w3
37200 007022 062737 007473 007516 ADD #TBL12C,W3 :POINT TO RH MARGIN
37300 007030 117737 000462 001162 MOVB aW3, WwORK1 ;C°T RH MARGIN
376400 007036 123737 001162 001172 CMPB WORK1,WIDTH :WITHIN RANGE OF PAPER ?
37500 007044 103405 8LO 1%

37600 007046 (12737 000005 007514 MOV #5,We ;NO DO NEXT PITCH GRO P
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CZLAIBJ) LAOO, LA34 DMT PROG

TESTS

37700 007054
37800 007060
37900 007066
38000 007072
007072
007076
007102
38100 007106
007106
007112
007120
007126
38200 007132
007132
007136
007142
38300 007146
38400 007154
38500 007162
38600 007166
00716%
007172
007200
007206
38700 007212
007212
007216
007222
38800 007226
78900 097234
39000 007242
007242
007246
007254
007262
39100 007266
39200 007272
007272
007276
007302
39300 007306
39400 007312
007312
007316
007322
39500 007326
007326
007332
007340
007346
39600 007352
007357
007356
007362
39700 007366
007366
007372

000137
113737
005337

012705
005037
004737

012705
113737
1127%7
004737

012705
005037
004737
013737
163737
005337

02705
013737
112737
004737

012795
005037
004737
013737
163737

012705
013737
112737
004737
011137

013705
005037
004737
004737

012705
00537
004737

012705
112737
112737
004737

012705
005037
004737

012705
005037

007422
0501160
001164

037370
001174
031706

03730/
001164
000020
031706

200126
001174
032310
001162
001160
001164

000056
001164
000020
032310

000126
001174
032310
001172
001162

000056
001164
000020
032310
001164

001164
001174
031706
034250

037370
001174
031706

240257
000031
000020
031706

040261
001174
031706

037370
001174

J

4
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007" 64

001174
001175

001164
001164

001174
001175

001164
001164

001174
001175

3%:

JMP
MOvVB
DEC
SENDALL
MOV
(LR
JSR
SENDR
MOV
MOvVB
MCvB
JSR
SENDCH
MOV
(LR
JSR
MOV
S8
DEC
SENDC?
MmOV
MOV
mMova
JSR
SENDCH
MOV
CLR
JSK
MOV

SUB
SENDC?
MOV

MOV
MCVB
JSR
MOV
SENDALL
MoV

LR
JSR
J5R
SENDALL
MOV
CLR
JSR
SENDR
MOV
MOVE
MOVB
JSR
SENDALL
MOV

CLR

JSR
SENDALL
MOV

CLR

20%

WORK , WORK 2
WORK 2
#MSG75
#M3G75 RS
MODE

PC, SEND

#MSGE2 ,VIRKZ

MMSGHE2 RS
WORKZ .MODE
#20 ,MODE +1
PC,SEND
'y

#'v,RT
MODE
PC,CHROUT
WORK 1 ,WORK?
t'ORK ,WORK?Z
WORK 2

N, WK2
®,.%>
wOP <2 ,MODE
870 ,MODE +1
*C,CHROUT
ARy

#'V RS
MODE
P(,CHROUT
WIDTH,WORKZ
WORK i , WORK 2
#* . ,WORK?
2'..RS
WORK?2 ,MODE
#20,M0DE +1
PC,CHROUT
(R1) ,WORK?
WORK 2
WORKZ ,R5
MODE
PC,SEND
PC,QUIET
MSG7S
#MMSG/S RS
MODE
PC,SENV

#MSG115,425.

#MSG115,RS
#25. ,MODE
#20 ,MODE +1
PC,SEND
#MSG116
#MSG116,R5
MODE
PC,SEND
#MSG75
#MSG75,RS
MODE

SEQ 0048

s SEND CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;PRINT PERIODS....

JPRINT A 'YV’

;GET CHAR TO RS

;STD MODE

;CALL CHAR OUTPUT ROUTINE

: RH~LH

;PRINT PERIODS
;GET (HAR TO RS
;GET RFPEAT COUNTY
;SET REPEAT MODE
. CALL CHAR OUTPUT ROUTINE
JPRINT A "V
;GFT CHAR TO R5
;STD MODE
;CALL CHAR OUTPUT ROUTINE

;PRINT MORE PERIODS
;GET CHAR TG R5
<GET REPEAT COUNT
;SET REPEAT MODE
;CALL CHAR OQUTPUT ROUTINE

;SETUP MARGINS
;BUILD SEND CALL USING MESSAGE ADDRESS

:NOW SEND THE MESSAGE
;WAIT FOR CATCHUP
;SEND CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGL
JSEND "=' 25 TIMES

JAND EPROR [F MSG
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
sSEND CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS




CZLAIBO LAQO, LA34 DMT

TESTS

39800

39900
40000
40100
40200
40300
40400

40500
40600
40700
40800

40900
41000

41100
41200

41300
41400
47500
41600
41700
41800
41900
42000

007376
007402
007402
007406
007412
007416
007422
007426
007432
007436
007436
007442
007446
007452

007454
007462

007466
007471
007473
007476
007500
007503
007506

007512
007514
007516

004737

012795
004737
005237
000137
005237
000137
004737

012705
005037
004737
000207

041450
041502

002
116
032
146
033
073
062

000000
000000
000000

PROG

031706

000300
033676
007514
006720
007512
006640
033062

037373
001174
031706

041460
041514

032
144
062
174
133
061
163

K_ 4
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0471471

064
114
061

063
000

20%:
30¢:

TBL12A:

TBL12R:
TBL12C:
T12rIx:

JSR
STALL
MOV
JSR
INC
JMP
INC
JMP
JSR
SENDALL
MOV
(LR
JSR
RTS

.WORD

BYTE
BYTE

-WORD
.WORD
.WORD

.EVEN

P{,SEND
#300
#300,RS
EC.MSTALL

PC,RESETO
#MSG77
#MSG77 RS
MODE
PC,SEND
PC

;NOW SEND THE ME SSAGE

;SETUP STALL TIME CONSTANT

JNEXT MARGIN PAIR

:NEXT H PITCH

JRESET THE TERMINAL

JSKIP 3 LINES

;BUILD SEND CALL USING MESSAGE ADDRESS

JNOW SEND THE MESSAGE
;JBYE....

MSG180,M5G181,MSG182,MSG183,M5G184

2,26.,52.,78.,100.
26.,50..,76.,102..,124.
33,133,61,73.61.,63.62,163.0

SO0

SEQ 0049




CZLAIBO LAQU, LA34 DMT PROG

TESTS

42200

42300

42600

42500

42600

42700

42800

42900

43000

43100

43200 007520
007520
007524
007530

43300 007534

43400 007542

43500 607550
007550
007554
007560

43600 007564

43700 007572

43800 007576

43900 007602

44000 007606
007606
007612
007616

44100 007622

44200 007630

44300 007632

44400 007634
007634
007640
007644
007652

44500 007656
007656
007662
007666

44600 007672
007672
007676
007702

44700 007706

44800 007712

44900 007716

45000

45100 007720

45200 007726

45300 007734

45400 007736
00776
007742
007746

45500 007752
007752

012705
005037
004737
012737
013737

012705
005037
004737
117737
005237
105077
013701

012705
005037
004737
163737
002433
005301

012705
010137
112737
004737

012705
005037
004737

012705
005037
004737
105277
013701
000741

012737
117737
001430

012705
005037
004737

012705

037245
001174
031706
010050
001172

037304
001174
031706
171374
001164
171362
010066

0373570
001174
031706
010066

000056
001174
000020
032370

037311
001174
031706

000126
001174
032310
171252
010066

000003
171232

037370
001174
031706

037316

L 4
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010066

001162

001175

010070
010066

-------------------------------------------------------------------

LA LA A AN N R B A Y AN BN A A B A B B R A A A A A AN Y Y A A A R N R A ] L B A B

;HORIZONTAL TABS TEST,

;A REFERENCE LINE IS PRINTED, MADE UP OF PLRIODS AND V'S
;TAB STOPS ARE THEN SET CORRESPONDING TO THE POSITION OF
;THE V'S, THREE LINES OF TABS AND 1'S ARE PRINTED, WHERE
sTHE 1'S SHOULD LINE UP UNDER THE V'S,

. THIS IS REPEATED FOR TAB SETTINGS OF 4,8,9,16,18,32, AND
;64 CHARACTER SPACES.

--------------------------------------------------------------------

LR A B B B A K N N A AN B N B B B A AN AN B A B AN BN A B AN B AN BN A RN AN B A NV N I N I I B Y BV BV R R R R P R R P RPN NP AP s e r e,

TESTOZ7: SENDALL #MSG60 :SEND TEST ID

1%:
2%:

6%:
7%:

8%:

MOV
CLR
JSR
MOV
MOV
SENDALL
MOV
CLR
JSR
MOVB
INC
CLRB
MOV
SENDALL
MOV
CLR
JSR
suB
BLT
DEC
SENDC?2
MOV

MOV
MOvB
JSR
SENDALL
MOV

CLR
JSR
SENDCH
MOV

CLR
JSR
INCB
MOV
BR

MOV
]
BEQ
SENDALL
MoV

LLR

JSR
SENDALL
MOV

#MSG0,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND ;NOW SEND THE MESSAGE
#TABL13,WORK2
WIDTH, WORK 1
#MSGG6 1 ;ESC=2 RESETS TABS
AMSG61 RS :BUILD SEND CALL USING MESSAGE ADDRESS
PC, SEND :NOW SEND THE MESSAGE
aWwORK2, TAB
WORK2
AWORK?2
TA8,R1
#MSG75 :SEND CRLF
AMSG75 RS :BUILD SEND CALL USING MESSAGE ADDRESS
PC, SEND :NOW SEND THE MESSAGE
T8, WORKT :SU TAB COUNT PER LINE
R1 :PRINT TAB -1 PERIODS
# . .R] :PRINT PERIODS
#'..RS *GET CHAR TO RS
R1,MODE :GET REPEAT COUNT
#20,MODE +1 :SET REPEAT MODE
PC, CHROUT :CALL CHAR OUTPUT ROUTINE
#MSG63 :SET TAB STOP
:ggges.ns :BUILD SEND CALL USING MESSAGE ADDRESS
PC, SEND :NOW SEND THE MESSAGE
#y PRINT A 'V*'
#'V_RS *GET CHAR TO RS
MODE :STD MODE
PC, CHROUT CALL CHAR QUTPUT ROUTINE
aWwORK2
TAB,R1
3%
Seee Voo Ve Vel VsVl
#3, COUNT
aWORKZ, TAB
11$
#MSG75
;gggrs,ns ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND :NOW SEND THE MESSAGE
#M3G6S TISSJE A TAB

#MSG65 RS sBUILD SEND CALL USING MESSAGE ADDRESS

SEQ 0050
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CZLAIBO
TESTS

45600

%700
45800
45900
46000
46100

46200
46300
46400
46500
46600
46700
46800
46900
47000
47100
47200
47300
47400
47500
47600
47700
47800

LAOO, LA34 DMT

007758
007762
007766
007766
007772
007776
010002
010006
010010
010014
010016
010016
010022
010026
010032
010036
010044
010046

010050
010052
010054
010056
010060
010062
010064
010066
010070

005037
004737

012705
005037
004737
005337
001361
005337
001344

012705
005037
004737
005237
023727
001236
000207

000004
000010
000011
000020
000022
000040
000100
000000
000002

i J
PROG MACRO M1110 26-FEB-/9 14:37 PAGE 38-~1

001174
031706

0001
001174
032310
010066

010070

037373
001174
031706
001164
001164 010066

10%:
11%:

TABL13:

TARB:
COUNT :

(LR
JSR
SENDCH
MOV
CLR
JSR
DEC
BNE
CEC
BNE
SENDALL
MOV
CLR
JSR
INC
(MP
BNE
RTS

.WORD
.WORD
. WORD
. WORD
.WORD
.WORD
.WORD
. WORD
-WORD

MODE

PC, SEND
4']
#']1,RS
MODE
PC,CHROUT

7

#MSG?77
#MSG77 RS
MODE
PC,SEND
WORK 2
WORKZ ,#TAB
2%

PC

SPU000N. o

O QMAN— =000 &

JNOW SEND THE MESSAGE
;PRINY AN l!]ll

;GET (HAR TOD RS

;STD MODE

;CALL CHAR OUTPUT ROUTINE

;BUILD SEND CALL USING MESSAGE ADDRESS
sNOW SEND THE MESSAGE

JEXIT

SEQ (051
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TESTS SEQ (05
48000
48100 I I I T T R T R R R A P P A o ¥
L8200 JMULTIPLE LINE FEED TEST
48300 : THIS TEST WILL PRINT A REFERENCE LINE OF DASHES
48400 N THFN SKIP N LINES AND PRINT THE NUMBER OF LINES
48500 ; SKIPPED, ALONG WITH SOME LCASHES FOR VISUAL
48600 ; REFERENCE. EACH SKIP COUNT N IS DONE TWICE FOR N
48700 : = | TO 7. AT 6 LINES PER INCH.
48800 Sl i i iiiliiiiiariiiiiiiii
48900
49000 010072 TEST10: SENDALL #MSG123 ;SEND TEST ID
010072 012705 040355 MOV #MSG123,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
010076 005037 001174 CLR MODE
010102 004737 031706 JSR PC,SEND sNOW SEND THE MESSAGE
49100 010106 SENDALL #MSG77 ;SKIP 3 LINES
010106 012705 037373 Moy #MSG?7 RS JBUILD SEND CALL USING MESSAGE ADDRESS
010112 005037 001174 CLR MODE
010116 004737 031706 JSR PC,SEND JNOW SEND THE MESSAGE
49200 010122 012737 000001 001160 MOV #1,WORK
49300 010130 012737 000012 001164 MoV #12,WORK?2
49400 010136 SENDALL #MSG124 ;SEND LINE OF DASHES
010136 012705 040412 MOV #MSG124 RS ;BUILD SEND CALL USING MESSAGE ADDRESS
010142 005037 001174 CLR MODE
010146 004737 031706 JSR PC,SEND ;NOW SEND THE MESSAGE
49500 010152 023727 001160 000010 1%: CMP WORK ,#10 ;ALL DONE ?
49600 010160 001532 BEQ 4% ;YES~ JUMP
49700 010162 013757 001160 001162 MOV WORK , WORK 1
49800 010170 SENDR #WJORK 2, WORK 1 ;SEND LINE FEEDS
010170 012705 001164 MOV #MWORKZ2 RS
010174 113737 001162 001174 MOVR WORK1,MODE
010202 112737 000020 001175 MOVB #20,MODE+1
010210 Q04737 031706 JSR PC,SEND
49900 010214 013700 001162 MOV WORK1 ,R0O
50000 010220 062700 041274 ADD #MMSG160,R0O ;GET NUMERIC CHARACTER
50100 010224 111037 001166 MOVR (RO) ,WORK3
50200 010230 SENDC2 #'~ #6 ;SEND 6 DASHES
010230 012705 000055 MOV #'-,R5 ;GET CHAR TO RS
01023& 012737 000006 001174 MOV #6 ,MODE JGET REPEAT COUNT
010242 112737 000020 001175 MOVB #20,MODE +1 :SET REPEAT MODE
010250 004737 032310 JSR PC,CHROUT ;CALL CHAR OUTPUT ROUTINE
50300 010254 SENDCH #°0 :AND A ZERO
010254 012705 000060 MOV #'0,RS :GET CHAR TO RS
010260 005037 001174 CLR MODE :STD MODE
010264 004737 032310 JSR PC,CHROUT ;CALL CHAR OUTPUT ROUTINE
50400 010270 SENDCH WORK3 JAND THE NUMBER FROM ABOVE
010270 013705 001166 MOV WORK3,R5 ;:GET CHAR TO RS
010276 005037 001174 CLR MODE :STD MODE
010300 004737 032310 JSR PC,CHROUT ;CALL CHAR QUTPUT ROUTINE
50500 010304 SENDALL #MSG66 ;NOW RETURN (CHAR
010304 012705 037320 MOV #MSG66,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
010310 005037 001174 CLR MODE
010314 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGE
50600 010320 3%: SENDR  WWORKZ,WORK1 :SKIP A LINE
010320 012705 001164 MOV #WORKZ2 RS
010324 113737 001162 001174 MOVB WORK1 ,MODE
010332 112737 000020 001175 MOVB #20,MODE+1

010340 004737 031706 JSR PC,SEND




(ZLAéBO LACO, LA34 DMT PROG

TEST

50700 010344

50800

50900

51000

VivaLh
—_ e
LAWY —
3888

515C0
51600
51700
51800

010344
00350
010356
010364
01037C
010370
010374
010400
010404
010404
010410
010414
010420
010420
010424
010430
0104 34
010440
010444
010446
010446
010452
010456
010462

012705
005037
004737

013705
005037
004737

012705
005037
004737
005237
004737
000642

012705
005037
004737
000207

000055
000006
000020
032310

000060
001174
032310

001166
001174
032310

037320
001174
031706
001160
03425C

037373
001174
0317C¢

B 5
MACRO M1110 26-FEB-79 14:37 PAGE 39-1

001174
001175

4%:

SENDC2 #'- 46
MOV #'=-,RS5
MOV #6 ,MODE
MOvVB #20,MODE +1

JSR PC,CHROUT
SENU.H  #'0
MOV #'0,R5

CLR MODE

JSR PC,CHROUT
SENDCH WORK3
MOV WORK3.R5
CLR MODE

JSR PC,CHROUT
SENDALL #MSG66
MOV #MSG66,RS

CLR MODE
JSR PC,SEND
INC WORK

JSR PC,QUIET
B8R 1%
SENDALL #MSG77
MOV #MSG77 RS

CLR MODE
JSR PC,SEND
RTS PC

JSEND 6 DASHES
;GET CHAR T0 RS
;JGET REPEAT COUNT
;SET REPEAT MODE

;CALL CHAR OUTPUT ROUTINE

sGET CHAR TO RS
:STD MODE

. CALL CHAR OUTPUT ROUTINE
;GET (HAR TO RS

;STD MODE

;CALL CHAR OUTPUT ROUTINE

:SEND (R

;BUILD SEND CALL USIMNG MESSAGE ADDRESS
sNOW SEND THE MESSAGE

;CHANGE NO OF LF°'S

;SKIP 3 LINES

cBUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE

SEQ 0053




TES

52000
52100
52200
52300
52400
52500
52600

52

52
52

700 010464
010464
010470
010474

800 010500

900 010504

53000 010512
53100 010516

53
53

200 010520
300 010526

534G0 010530

53

500 010536

53600 010540

53

700 010542

53800 010550
53900 010556
54000 010564

54

54
54

100 010566
010566
010572
010576

200 010602

300 010606

54400
54500 010610
54600 010616

54

700 010624
010624
Gi0€e30
010636
010644

800 010650

900 010656

100 010660
010660
010664
010670

200 010674

300 010702

500 010704
010704
010710
010714

600 010720

700 010724

800 010730

900 010734

000

012705
005037
004737
012703
012737
112337
001510
123737
101371
123737
00146¢
101023
013737
162737
123737
103435

012705
005037
004737
005337
000750

013737
163737

012705
013737
12737
004737
013737
000412

012705
005037
004737
012737
000712

012705
005037
004737
004737
005237
005037
000137

C2h¢§80 LAOO, LA34 DMT PROG

036007
001174
031706
010756
000001
001162

001162
001162

001162
000012
001160

035172
001174
031706
001160

001162
001160

000040
001166
000020
0323210

001162

035174
001174
031706
000001

000110
001174
032310
034250
001160
001162
010512

(O
MACRO M1110 (6-FEB=79 14:37 PAGE 40

001160

001172
001160

001164
001164
001164

001166
001166

001160

---------------------------------------------------------------------

L B B BN BN AN B BN BN B BN BN BN BN BN N AN AN AN BN B B A A A A A A A A A A A N A AN ]

TEST11:

1%:

2%:

4%:

6%:

8%:

SENDALL
MOV
CLR
JSR
MOV
MoV
MOVB
BEQ
(MPB
BHI
CMPR
8EQ
BH!
Mov
SuB
(MPB
BLO
SENDALL
MoV
CLR
JSR
DEC
BR

MoV
SuB
SENDCZ
MOV
MOV
MOVB
JSR
MOV
BR

SENDALL
MOV
(LR
JSR
MOV

BR

SEND(H
MoV
CLR
JSR
INC
(LR
JMP

THE LINE IS FULL.
TH"'

E PRINTED AT RANDOM COLUMN POSITIONS
CONTROLLED BY THE

AS DETERMINED AT STARTUP,

---------------------------------------------------------------------

#MSG28
#MSG28,R5
MODE
PC,SEND
#COLTRL ,R3
#1 WORK
(R%)+,WORK
o$

#gRK1.UIDTH
WORK 1, WORK
8%

4%
WORK1,WORK?
#12 ,WORKZ2
WORK , WORK 2
6%

#MSGO8
#MSGO8B,R5
MODE
PC,SEND
WORK

2%

WORK1,WORK3
WORK , WORK 3
#40 ,WORK3
#40,R5
WORK 3 ,MODE
#20 ,MODE +1
PC,CHROUT
ggRK],UORK

#MSGO9
#MSG09,R5
MODE
PC,SEND
#1,WORK
2%

#'H
#'H,RS
MODE

PC, CHROUT
PC,QUIET
WORK
WORK 1

1%

LA AN B A AN A A A A N NN Y N A A B A A AN N A Y

sSEND TEST ID
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;POINTER TO TABLE OF COLUMNS
;PRESENT POSITION
;DESTINATION POSITION

:BR IF END OF TASLE

;IN RANGE OF PAPER ?

;NO GET NEW DEST.

;1F DEST > POS THEN SPACE
;IF DECT = PCS THEN PRINT X
;IF DEST < POS THEN

. IF DEST < POS-12 DO CR FIRST
s THEN SPACES

;ELSE BACKSPACE 1
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
.POS = POS-1

;CALCULATE # OF SPACES
;DEST -~ POSITION
;SEND SPACES
;GET CHAR TO R5

;GET REPEAT COUNT
. SET REPEAT MODE
;CALL CHAR OUTPUT ROUTINF
;POS = DEST

oSEND RETURN FIRST

<BUILD SEND CALL USING MESSAGE ADDRESS
sNOW SEND THE MESSAGE

;POS - 1

sPRINT AN H

;GET CHAR TO RS

:STD MODE

+CALL CHAR OUTPUT ROUTINE

sNEW POSITION
JGET NEW DEST COLMN

SEQ 0054




D 5
JLAIBO LAOO, LA34 DMT PROG MACRO M1110  26-FEB=-79 14:37 PAGE 40-1

(
TESTS SEQ 0055
56100 070740 9%: SENDALL #MSG7? JSKIP 3 LINES
010740 012705 037373 MoV #MSG77 ,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
010744 005037 001174 CLR MODE
010750 004737 031706 JSR PC,SEND ;NOW SEND THE MESSAGE
56200 010754 000207 RTS PC
56300
56400
56500 000012 .RADIX 10
56600 010756 035 134 050 COLTBL: .BYTE  29,92,40,128,62,102,110,24,22,9,89,74,126
010761 200 076 146
010764 156 030 026
010767 011 135 112
010772 176
56700 010773 151 126 173 .BYTE  105,86,123,119,129,107,132,91,82.1,101,37,97

010776 167 201 153
011001 204 133 122
011004 001 145 045

011007 141
56800 011010 166 130 070 .BYTE  118,88,56,96,76,38,21.81,32,94,60,17,61
011013 140 114 046
011016 025 121 040
011021 136 074 021
011024 075
56900 011025 165 031 105 BYTE  117,25,69,114,65,30,98,90,125,12,120,10.,70
011030 162 101 036
011033 142 132 175
011036 04 170 012
011041 106
57000 011042 037 016 027 BYTE  31,14,23,121,6,35,2.13,8.63,67,106,122
011045 171 006 043
011050 002 015 010
011053 077 103 152
011056 172
57100 011057 202 044 113 . BYTE 130,36,75,18,99.16,42.,113,5,49,112,33,15
011062 022 143 020
011065 052 161 005
011070 061 160 G4
011073 017
57200 011074 066 115 047 BYTE 54,77,39,73,87,95,115,108,41,124,48,19.4
011077 111 127 137
011102 163 154 051
011105 174 060 023
011110 004
57300 01111 177 065 147 BYTE  127,53.103,52.93.85,83,50,43,116,59,57.7
011114 064 135 125
011117 123 062 053
011122 164 073 071
011125 007
57400 011126 067 107 104 BYTE  55,71,68,3,111,100,65,78,11,131,28,84,72
011131 003 157 144
011134 055 116 03
011137 203 034 124
011142 110
57500 011143 072 042 054 BYTE  58,34,44,47,27,20,79,109,66.64,104,80,26
011146 057 033 024
011157 117 155 102
011154 100 150 120




LAIBO LAQO, LA34 DMT PROG
STS

011157 032
57600 011160 063
57700
57800 000010
57900
58000

C56

E 5
MACRO M1110 26-FEB=79 14:37 PAGE 40<2

000

.EVEN
LRADIX 8

BYTE

51.46,0

St@ 0056




(ZLAIBO LAGQ, LA34 DM”

TESTS

58200
58300
58400

59300

POPINIPONININ) =~ 2

59400
39500
59600
59700

COO0OQOOOOOCCOOOCOO
e s d d d rd d e e ) d —id D o —ad D
e ) b d o ek b b b d b bk

A LS 1AV 1 ST, ¥
OPUOOJ\ObJ\O?Og:\C\DJJ\J\

SN WNNY

5G680C 011264

59900 011274
60000 011300
6C100 011304
60200 011310
60300 Q11314

60600 011316
60500 011320
60600 011322
60700 011326
60800 011334
60900 011336
61000 011342
61100 011346
61200 011350
61300 011352
61400 011354
61500 011360
61600 011366
61700 011372
61800 011376
61900 011400
62000 011404
62100 011406

0114606

011412
62200 011416

012705
005037
004737

012705
005037
004737

012705
005037
00473/
013737
006337
062737

012705
005037
004737

012705
004737
005037
012700
063700
020037
103034
105710
100006
042710
062737
000761
012702
063702
105712
100001
000765
006237
013737
012746
004737
000000
006337
000750

0°2705
004737
000240

PROG

036342
001174
G31706

037304
01174
031706

036373
001174
031706
0N1152
001166
024554

036477
001174
031706

021450
033676
001160
024554
001160
001166

000200
000002

020634
001160

001160
001160
036441
020352

001160

007640
03367¢

F
MACRO M1110 26~FEB~79 14:37 PAGE 41

001166
001166

0011460

001204

: SENDALL  #MSG37”

1%:

2%:

3%:

4%:

5%:

-------------------------------------------------------------

ILL FORCE THE TERMINAL TO TRANSMIT AN XOFF
AMMING A SERIES OF TIME CONSUME ING MOVEMLNT CHARS
INTO THE BUFFER , FOLLOWED BY ENOUGH CHARS TO FiLL
THE BUFFER. WHEN THE TERMINAL HAS EMPTIED THE BUFFER
TO 10 CHARS [T SHOULD SEND AN XON.

-------------------------------------------------------------

LA S A Y SN A B B AT A B B B B BN Y Y A AV A A N N N A N I A A N A A RN AR A AP ]

?Eg ;88?37.R5 JBUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND .NOW SEND THE MESSAGE

SENDALL #MSG61 ;CLEAR ALL TAB STOPS

?Eg ;ggg61.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND NOW SEND THE MESSAGE

SENDALL #MSG38 :SET TABS AT (OL 1 & 132

?Eg ;ggg38.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND ;NOW SEND THE MESSAGE

MoV NUML IN,WORK3

ASL WORK 3

ADD #5TOP,WORK3

SENDALL #MSG41T ;STUFF THE BUFFER FULL

?Ez :ggg41,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND NOW SEND THE MESSACE

STALL  #9000. :SHOULD GFT XOFF FROM ALL

MOV #9000, RS ;SETUP STALL TIME CONSTANT
~SR PC,MSTALL

(LR WORK sCHECK ALL LINES FOR XOFF

MOV #STOP RO

ADD WORK ,RO

(mp gg.UORKS

BHIS

TSTR (RO) ;BII7 SET 2

BPL 3% sNO~ POSSABLE ERROR
8iC #BI717,(RO)

ggD :g.UORK ;OK- CHECK NEXT LINE
MOV #D2L INE ,R? IS LINE ACTIVE ?
ADD WORK ,R?

TSTB (RP?

BPL 48 ;YES- REAL ERROR NO XCOFF
B8R 2% sNO- CHECK NEXT LINE
ASR WOURK ;GET REAL LINE NO.

MOV WORK , ONL INE
MOV #MSGLO,~(SP) +MSG ADDR FOR ERROR REPORT

JSR PC,ERRORT +REPORT ERROR

HALT JIF BIT1S IS SET

ASL WORK sRESTORE POINTER

B8R 2% sCHECK NEXT LINE

STALL  #4000. JWAIT FOR TERMINALS TO CAT(H UP

MOv #400C. RS JSETUP STALL TIME TONSTANT
JSR PCMSTALL

NOP

SEQ D057




"ZLAIBO
TESTS

62300
62400
62500
62600
62700
62800
62900
63000
63100
63200
63300
63400
63500
63600
63700
63800
€3900

64100
64200
6430C
64400
64500
64600

64700
61'- 800

65000
65100
65200
65300
65400
€5500

LAOO, LA34 DMT PROG

7t

mbl\l\i\gl\bbb
~o

44
50

mlelelelelalelvlelolelolololalololaleslololelolololslolalalelololololololele o)
\nuunuuhuwﬂunnuunuun
(aV]

—l__,.—l—-l—l_]—-l—J-\-....—-l-.-l—.l_l_.l—l—l—-—l—l—l_l—-i.—-l—-l—l—l—l..l—)—d—d—l—i—l—d—‘-—-l

005037
012700
063700
020037
103037
032710
001406
642710
062737
000760
012702
063702
105712
100001
000765
006237
013737
012746
004737
000000
006337
052712
000746

012705
005037
004737
005037
012700
06370C
020037
103006
042710
062757
000763

012705
005037
004737

001140
024554
001160
001166

000001

000001
C00002

020634
001160

001160
001160
036404
020352

001160
000200

035174
COt1174
031706
001160
024554
001160
001156

000201
000002

037304
001174
03170¢

MACRO M111Q

0G1160

0012C4

001160

G 5
C6-FER=79 14:37 PAGE 41-

5%

7%
8%:

GY:

15%:

16%:

¢

v

$:

(LR
MOV
ADD
(MP
BHIS
BIT
BEQ
BI~
ADD
BR
MOV
ADD
1STR
BPL
BR
ASR
MOV
MOV
2SR
HALT
ASL
BIS

8R
SENDAL I
MOV
IR
JSR
CLR
MOV
ADD
(MP
BHIS
8IC
ADD

B8R
SENDALL
Mov
(LR
JSR

WORK
#STOP,RO
WORK ,RO
RO ,WORK3
15%

#8170, (RO
8%

#8110, (RO)
#2 ,WORK

6$
#DZL INE ,R2
WORK ,R2
(RZ)

9%

7%

WORK

WORK , ONL INE
#MSG39, - (SP)

PC,ERROF T

WORK
#BIT7,(R2)
7%

#MSGO9
#MSGO9,RS
MODE
PC,SEND
WORK
#S°CP,RO
WORK RO
RO, WORK3
208

#2017, (RO)
&7 ,WORK
16%
MSG6T
#SGEY RS
MODE
P(C,SEND

;(HECK ALL LINES FOR XON

;HAS XON BEEN RECVD ?
;NO=- PCSSABLE ERROR

s CHECK NEXT LINE

IS LINE ACTIVE ?

JTEST BI1 7

;YES ERROR, NO XON

;NO CONTINUE

;GET REAL LINE NO.

;MSG ADDRESS FOR ERROR REPORT
JREPORT ERROR NOW

JIF BIT15 IS SET

;RESTORE POINTER
sDESELECT I INE [T S DEAD.

;SEND <(R>
;BUILD SEND (ALL USING MESSAGE ADDRESS

JNOW SEND THE MESSAGE
;CLEAR BITS 7 8 0 IN "ABLE

sCLEAR THE FLAG BITS
DO NEXT LINE

;CLEAR ALl TABS
JBUILD SEND C(ALL USING MESSAGE ADDRES.

cNOW SENO THE MESSAGE

SEQ 0058
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(ZLAIBO LAOO, LA34 DMT BROG
TESTS
130 011626 0OG02(C7 RTS PC
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“ILAlB0 LAQDC, (A% M7

TES57S

200

300

L00

500

600

700

80O 011630
03163
011634
C11640

Q00 011644
011644
011650
011654

1000 011660
1100 011664
1200 011672
1300 011674
1400 0117200
1500 0171704
1600 011710
170C 011716
1800 031724
1900 011732
2000 011740
011740
011744
U11750
2100 011754
011754
011742
2200 011764
2300 011772
2400 011774
011774
012000
012004
2500 012010
012010
012014
012020
2600 01¢024
012024
012030
012034
2700 012240
012040
012044
012050
2800 012054
012054

2900 012070
012070
012074

012705
005037
004737

012705
005037
004737
005037
023727
003111
005037
005037
005037
013737
013737
062737
062737

017705
005037
004737

012795
004737
023727
001445

012705
005037
004737

012705
00503/
004737

012705
005037
004737

017705
005037
004737

012705
005037
004737

012705
004757

R

T
(4]
o

040153
00117«
031706

037373
001174
031706
001160
001160

001164
012134
012136
001160
012134
012154
012140

000172
001174
031706

000250
233676
001164

03767/
001174
031706

037727
V1174
031706

037753
001174
031706

000070
001174
031706

040001
001174
031706

000200
033676

MA(RO M1110 26-FER-’S

000012

012134
012136
01213¢€
012134

006G06

I
14:37 PAGE 44

-------------------------------------------------------------------

1
THE HOST, ¢

B

T IS DOWN LINE LOADED FROM
RE PRINTED AT EACH OF THE FOLLOWING :
2 LINES PER INCH,

---------------------------------------------------------------------

TEST13: SENDALL #MSG110

1%:

°%:

MOV

(LR

JSR
SENDALL
MOV

(LR

JSR

(LR

'
B8GT

{LR

LR

(LR
MOV
MOV

ADD

ADD
SENDALL
MOV

(LR
JSR
STALL
MOV
JSR
c(MP
BEQ
SENDALL
MOV
(LR
JSR
SENDALI
MOV
(LR
JSR
SENDAL {
MOV
(LR
JSR
SENDALL
MOV
CLR
JSR
SENDALL
MOV
CLR
JSR
STALL
MOV
JSR

#MSG110,RS
MODE
PC,SEND
#MSG77
#MSG77 RS
MODE
PC,SEND
WORK
WORK , 412
4%

WORK2

T17A

T17R

WORK ,T17A
T17A,1178
NTABLVF,T17R
HTABLY.,.T17A
aT178
al17B,RS
MODE

PC ,SEND
#250
#250,RS
PCMSTALL
WORK 2 ,#6
1%

#MSGEE
#MMSG8B . RS

MMSG93,RS5
MODE
PC,SEND
aT17A
aT174,RS
MODE
PC,SEND
#MSGS8
#MSG98, RS
MODE
PC,SEND
#200
#200,RS
PC,MSTALL

;SEND TEST [D

;BUILD SEND CALL USING MESSAGE ADDRESS

+NOW SEND THE MESSAGE
;5KIP 3 [ INES

;BUILD SEND (A« 1. USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;GET TABLE OFFSETY

;BUILD SEND CALL USING MESSAGE
JNOW SEND THE MESSAGE
JSETUP STALL TIME CONSTANT

+PRINT MESSAGE LINE
;BUILD SEND CALL USING MESSAGE

sNOW SEND THE MESSAGE

JBUILD SEND CALL USING MESSAGE
sNOW SEND THE MESSAGE

;BUILD SEND CALL USING MESSAGE
NOW SEND THE MESSAGE

JBUILD SEND CALL USING MESSAGE
;NOW SEND THE MESSAGE

;BUILD SEND CALL USING MESSAGE
;NOW SEND THE MESSAGE

;SETUP STALL TIME CONSTANT

ADDRESS

ADDRESS

ADDRESS

ADDRE S>

ACDRESS

ADDRE 5SS




4600
4700
4800
450C

5000
5100
5200
5300

5400

5500
5600
5700

32

012154
012162

012170
012170
012174
012200
012204
G12212
012216
012224
012224
012230
012234
012240
012240
012244
012250
012254
012256

005237
000727
062737
000663

012705
005037
004737
000207

000000
000000
037734
037765
040037
040315

012705
005037
004737
012737
GC5037
112737

012705
005037
004737

012705
004737
005337
001363
000207

PROG

001164
000002

037373
001174
031706

037775
0%7761
040051
040044

040326
001174
031706
000010
001164
000007

001164
001174
031706

000100
033676
001160

J 5
MACRO M1'10 26-FEB=-79 14:37 PAGE 44-1

SEG N061
INC WORK 2
B8R 2%
001160 3%: ADD #2 ., WORK
BR 1$
4$: SENDALL #MSG?77 ;SKIP 3 LINES
?Ez §88277'R5 *BUILD SEND CALL US:NG MESSAGE ADDRESS
JSR PC,SEND :NOW SEND THE MESSAGE
RTS pC

T17A: .WORD  0C0000
1178: .WORD 000000

825;;; TABLV: .WORD  MSG90,MSG97,MSG96,MSGP5,MSG94,MSG118
040032 TABLVF: .WORD  MSG104 ,MSG106,MS35103,MSG117 ,MSG105,MSG102
040025
:’Ph’]h’réé’ééii'?éé?"“'.'.""‘“.‘ L N A A J L L A A A A A A A B '::l
: THIS TEST WILL ISSUE 8 BELL CODES, WITH A DELAY
: OF .1 SEC BETWEEN EACH BELL.
TEST14: SENDALL #MSG120 ;SEND TEST ID
?Ez gggg120.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND sNOW SEND THE MESSAGE
001160 MOv #10,WORK ;8 BELL COUNT
(LR WORK 2
001164 moves #7 ,WORK?2
13: SENDALL #WORK?Z
?Eg ggg?K?.RS ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR P(C,SEND sNOW SEND THE MESSAGE
STALL  #100
MOV #100,R5 JSETUP STALL TIME CONSTANT
JSR PC,MSTALL
DEC WORK
BNE 1%
RTS PL




CZLAIBO LAOO, LA34 DMT PROG

TESTS

5900
6000
6100
6200
6300
6400
6500
6600
6700
6800
6900
7C00
7100 012260
7200 012264
7300 012272
7400 012276
7500 012302
7600 012310
7700 012312
7800 012316
7900 012322
8000 012324
8100 912330
8200 012332
012332
012336
012344
012352
8300 012356
8400 012362
012362
012366
012374
012402
8500 012406
8600 012414
8700 012422
8800 012426
012426
012432
8900 012436
9000 072444
9100 012446
9200 012452
9200 012456
9400 51246C
9500 012464
9600 012470
9700 012472
9800 012476
9900 012500
10000 012504
10100 012506
10200 012512
10300 012520
012520
012524

005037
013737
006337
013702
023737
103402
000137
105762
106003
005237
000755

012705
112737
113737
004737
005037

012705
112737
113737
004737
012737
042737
004737

012705
004737
032737
001445
012703
020327
103405
004737
005237
000746
123712
001403
062703
000762
052713
113737

012705
112737

001204
001204
001160
001160
001204

014370
020634

001204
041344
000010
001204
031706
014302

0460442

034250
011610
033676
00000

014140
014300

013772
001110

001170
000002

100000
001170

001162
000010

K 5
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001160

001152

001175
001174

001140
014302

014307

001162

001175

SEQ C062
;MIN KEYBDADTEST A A B N A A A A AN B N A B R A N N ]
: THIS TEST WILL REQUIRE THE OPERATOR TO TYPE ALL
: THE PRINTING KEYS ON THE KEYBOARD. IF ANY KEYS ARE
- NOT SEEN BY THE PROGRAM THEY WILL BE REQUESTED
: AGAIN, AND A THIRD TIME IF NECESS5ARY.
; INSTRUCTIONS WILL BE TYPED TO PRESS THE SHIFTS
; CAPS=LOC, ECS, AND FUNCTION KEYS.
/ FIVE SECONDS 1S ALLOWED PER KEY .
TEST20: CLR ONL INE :SET CURRENT LINF TO ZERO
1$: MOV ONL INE , WORK
ASL WOR/
MOV WORK ,R2
CMP ONLINE,NUMLIN  ;ALL DONE 2
BLO .46
JMP END22 ;VES EXIT
TSTB  DZLINE(R2) “1S THIS LINE SELECTED 2
BPL 2% “YES DO TEST
ézc ?QLINE *NO GET NEXT LINE NO
2%: SENDI  #MSG164,ONL INE :SEND TEST ID
MOV #MSG164 RS *MESSAGE ADDRESS TO RS
MOVE  #10,MODE+1 :SET SINGLE LINE MODE
MOVB  ONL INE ,MODE -SELECTED LINE NO.
JSR PC.SEND
CLR FLAG2] :CLEAR TEST FLAG BITS
SENDI  #MSG140.ONL INE SPRINT INSTRUCTIONS
MOV #MSG140.RS *MESSAGE ADDRESS TO RS
MOVB  #10,MODE+] :SET SINGLE LINE MGDE
MOVE  ONL INE ,MODE ;SELECTED LINE NO.
JSR PC.SEND
3%: MOV #6$ ,HOOK :LINKAGE TO RECV ROUTINE
BIC #BIT11.FLAG) :RESET LEFTOVER FLAG
JSR PC,QUIET
STALL  #5000. ;S SECOND TIMEOUT
MOV #5000, ,RS SSETUP STALL TIME CONSTANT
J5R PC.MSTALL
8IT #8IT13,FLAG21  ;CHAR IN SET ?
BEQ 4$
oV #KEYTBL ,R3 :PQINT TO KEY TABLE
7% cMP R3,#KEYFND *ALL DONE ?
8LO 8% ;NO
JSR FC,T21E *REPORT ERROR.....
INC ERROR
B8R L} 3
§$: égge ggARIN.(RS) ;COMPARE TO TABLE
ADD #2.R3 :POINT TO NEXT ENTRY
B8R 7$ *KEEP LOOKING
9% : 8ls #BIT15, (R3) *SET CHAR IN FLAG
MOVE  CHARIN.WORK1 “ECHO THE CHARACTER
SENDI  #WORK1.ONL INE
MOV #WORK1 RS ;ME3SAGE ADDRESS 'O RS
MOVE  #1G,MODE+1 ;SET SINGLE Llwc MODE




CZLAIRO
TESTS

10500
10600
10700 012560
1080C 012564
10900 012566

01
01
10400 01
01
01

11000 212612

11100 012636

i el b —
PR U N
AN
3888
(s lele

O

—

n

(e

~

O

60
7
8
9
0

o
<
—_
no
~
no
£

012732

[ YR S N N N I
NITUN) = = a2
nJ
Q
o

88888

1

012734
12300 012740
12400 012744
12500 012750
12600 012754
12700 012762
12800 012766
12900 012770
13000 12774

13800 013010
013010
013014
013022
013030

LAOO, LA34 DMT

113737
004737
032737
001715
000137
105737
100045

012705
112737
113737
004737

012705
11273/
113737
004737

112705
112737
113737
004737
042737
005237
000137

012705
112737
113737
004737
052737
000625

005037
005037
042705
010537
052737
120527
001403
004737
000207
000240
052737
000770

012705
112737
113737
004737

PROG

001204
031706
10000

013010
014302

041001
000010
007204
031706

041374
000010
001204
031706

040730
000010
001204
031706
000200
001110
013374

040666
000010
001204
031706
0060200

001146
001162
177600
001170
00000
000040

033446

0100C0

037370
000010
001204
031706

L 5
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001174
01430¢

o0
ole]
—
— ——
NN
£Houn

001175
001174

001175
001174

014302

001175
001174

014302

014302

014502

001775
001174

MOvR
JSR
BIT
BEQ
JMP
A ¥ TSTR
BPL
SEND]
MOV
MOVR
MOVH
JSR
SEND]
MOV
MOVB
MOVSB
JSR
SEND]
MOV
MOVR
MOVA
JSR
BIC
INC
JMP
5%: SEND]
MOV
MOVR
MOVB
JSR
BIS

ONL INE ,MODE
PC,SEND
§g1T12.FLAGZT

11%
FLAG21
5%

AMSG146,0NL INE

#MSG146 RS

#10 ,MODE +1

ONL INE ,MODE
PC,SEND

#MS165,ONLINE

#MSG165,R5

#10 ,MODE +1

ONL INE ,MODE
PC,SEND

#MSG143,O0NL INE

#MSG143,R5
#10,MODE +1
ONL INE ,MODE
PC,SEND
#B117,FLAGZT
ERROR

17%

#MSG142 .ONL INE

#MSG142,RS5
#10,MODE +1
ONL INE ,MODE
PC,SEND
gng?.FLAGZ1

sSELECTED LINE NO.
;CHECK FOR DONE BIT

;ELSE TIMEOUT ERROR

JFIRST TIMEOUT ?

;YES TRY AGAIN
;NC SPACE MSG.....
.MESSAGE ADDRESS TO RS

;SET SINGLE L INE MODE
;SELECTED LiNE NO.

;MESSAGE ADDRFSS TQ RS
sSET SINGLE LINE MODE
;SELECTED LINE NO.

.MESSAGE ADDRESS TO RS
sSET SINGLE LINE MODE
;SELECTED 1 INE NO.

;GO TO SECTN-2
JHIT SPACE MSG.....
.MESSAGE ADDRESS TO RS
;SET SINGLE LINE MODE
;SELECTED LINE NO.

:SET 2ND TRY FLAG

--------------------------------------------------

¢JRESET TIMEOUT COUNT
;CLEAR PARITY BIT

:SET CHAR [N FLAG
;IS CHAR A SPACE ?

;REMOVE CHAR FROM BUFFER

;SET DONE FLAG

-----------------------------------------------------------

6% (LR LOOPO
CLR WORK 1
BIC #177600.R5
MOV R5,CHARIN
BIS #BI1T13,FLAGT
(MPS RS, #40
BEQ 111%

10%: JSR PC ,KBOUT
RTS PC

1118:  NOP
BI1S #B1T12,FLAGAT
BR 1C$

LEFTOVERS SCAN ROUTINE

11%: SENDI  #MSG75,0NL INE
MOV #MSG75,RS
M2VB #10,MODE +1
MOVB ONL INE ,MODE
JSR PC,SEND

LA BN B A BR BN B B BN BN P R B BN R N BN BN B AN Y AN AN AN AY BF BN BN RN BN BN B AN AN J

s CRLF

;MESSAGE ADDRESS 7O RS
;SET SINGLE LINE MODE

JSELECTED LINE NO.

SEQ 0063
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TESTS SEQ 0064

13900 013034 012703 014140 MOV #KEYTBL ,R3 ;POINT TO TABLE

14000 013040 042737 010000 014302 BIC #BIT12,FLAG2T

14100 013046 005037 001162 CLR WORK 1

14200 013052 020327 014300 12%: CMP R3, #KEYEND ;DONE YET ?

14300 013056 00143 BEQ 13% ;YES ..GO TO 13%

14400 013060 005723 TST (R3)+ ;CHECK CHAR IN FLAG(BIT 15

14500 013062 100773 BMI 12%

14600 013064 005037 001160 CLR WORK

14700 013070 052737 (34000 014302 BIS #BIT11,FLAG2T  ;SET LEFTOVER KEY FLAG

14800 013076 005303 DEC R3

14900 013100 114337 041307 MOV -(R3) ,M5G162 ;PUT CHAR IN MSG

15000 013104 SENDI  #MSG162,0NL INE ;AND TYPE IT OUT
0131064 012705 041307 MOV #MSG162,R5 .MESSAGE ADDRESS TO RS
013110 12737 000010 001175 MOV #10,MODE +1 ;SET SINGLE LINE MODE
013116 113737 001204 001174 MOVB ONL INE ,MODE ;SELECTED LINE NO.
0131246 004737 031706 JSR PC,SEND

15100 013130 004737 034250 JSR PC,QUIET

15200 013134 062703 000002 ADD #2,R3 ;GET NEXT TABLE ENTRY

153C0 013140 000744 BR 12% JKEEF SCANNING FOR LEFTOVERS

15400 V13142 032737 0040CC 014302 13%: BIT #81T11,FLAG2T  ;ANY LEFTOVERS ?

15500 013150 001465 BEQ 15% sNO GO CLEAN THE TABLE ETC.

15600 013152 SENDI  #MSG143,0NL INE sNOT SEEN MSG.....
013152 012705 040730 MoV #MSG143 RS :MESSAGE ADDRESS TO R5
013156 112737 000010 Q01175 MOVB #10 ,MODE +1 ;SET SINGLE LINE MODE
013164 113737 001204 001174 MOVB ONL INE ,MODE ;SELECTED LINE NO.
013172 004737 031706 JSR PC,SEND

15700 013176 012703 014276 MOV #KEYEND=-2,R3

15800 013202 042713 100000 BIC #81715,(R3) ;RESET SPACE IN FLAG

15900 013206 005237 014302 INC FLAG21 ;OPERATOR GETS THREE TRIES

16000 013212 013737 014302 0011060 MOV FLAG21 ,WORK

16100 013220 042737 177770 001160 BIC #-8. ,WORK

16200 013226 023727 001160 000003 {MP WORK ,#3

16300 013234 003026 BCT 14% ;3 STRIKES YOU'RE OUT !!!

16400 013236 SEND]  #MSGT44,ONLINE :TRY AGAIN MSG.....
013236 012705 040764 Mov #MSG144 RS sMESSAGE ADDRESS TO R5
013242 112737 000010 001175 MOVB #10,MODE +1 ;SET SINGLE LINE MODE
013250 113737 001204 001174 movs ONL INE ,MODE sSELECTED LINE NO.
013256 004737 031706 JSR PC,SEND

16500 013262 SENDI  #MSG145,0NLINE ;HIT SPACE LAST MSG.....
013262 012705 040632 MOV #MSG145,RS :MESSAGE ADDRESS TO RS
013266 112737 000010 001175 Movs #10 ,MODE +1 sSET SINGLE LINE MODE
013274 113737 001204 001174 MOVB ONL INE ,MODE ;SELECTED LINE NO.
013302 004737 031706 JSR PC,SEND

12?88 013306 000137 012406 JMP 3%

16800 013312 012746 040730 14%: MOV #5643 <(5P) ;NEVER RECVD ERROR MSG....

16900 013316 004737 020352 JSR PC,ERRORT

17000 013322 000000 HALT

17100 013324 012703 014140 15%: MOV #KEYTBL ,R3 :CLEAN THE TABLE FLAGS

17200 013330 042723 100000 16%. 8IC #BIT15,(R3)+

17300 013334 020327 074300 (MP R3,AKEYEND

17600 013340 103773 8LO 16$

17500 013342 005037 014302 CLR FLAG21

17600 013346 SENDI  #MSG/7,ONLINE ;SKIP 3 LINES
013346 012705 037373 MOV #MSG77 RS -MESSAGE ADDRESS TO RS
013352 112737 000010 001175 MOVB #10,MODE +1 sSET SINGLE LINE MODE

013360 113737 001204 001174 MOVB ONL INE ,MODE sSELECITED LINE NO.




5¢

CZLAIBO LAOO, LA34 DMT PROG

TESTS

013366
17700 013372
17800
17900
18000
18100
18200 013374
18300 013402
18400 013406
18500 013412
18600 013420
18700 013424
18800 013426
18900 013432
19000 013436
19100 013442
19200 013444
19300 013446
19400 013454
19500 013456
19600 013464
013464
013470
013476
013504
19700 013510
013510
013514
013522
012530
19800 013534
013534
013536
013544
013552
19900 013556
20000 013562
013562
013566
20100 013572
20200 013576
2030C 013600

20400 013624
20500 0136320

20600 013652

013672

004737
000240

012737
012703
012704
012737
005777
001004
005237
000137
062703
005713
001004
062737
000761
042737

012705
112737
113737
004737

017705
112737
113737
004737

011305
112737
113737
004737
004737

012705
004737
105737
100445

012705
112737
113737
004737
162703

012305
112737
113737
004737

012705
112737
115737
004737

031706

014304
014312
014352
013740
165542

001204
012264
000002

000002
000200

041055
000010
001204
031706

165452
000010
001204
031706

000010
001204
031706
034250

011610
033676
014302

041001
000010
001204
031706
000002

000010
001204
031706

040730
000010
001204
(031706

N 3
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001166

001140

001166
014302

001175
001174

001175
001174

001175
001174

JSR
NOP

PC.SEND

--------------------------------------------------------------

19%:

20%:

T
#SHIT
#CODTBL ,R4
#22%,HOOK
adWORK3
19%

ONL INE
1$
#2,R3

(R3) ;END OF

20%
18%

#BIT7.FLAG
#MSG150, ONL INE
#MSG150.RS
#10,MODE +1

ONL INE ,MODE
PC.SEND
SWORK 3, ONL INE
AWORK3 RS
#10,MODE+1
ONL INE ,MODE
PC, SEND

(R3), ONLINE
(R3) .RS
#10_MODE +1
ONL INE .MODE
PC.SEND
PC.QUIET
#5000

#5000. ,RS
PC.MSTALL
FLAG21

218
#MSG146 , ONL INE
#MSG146 RS
#10,MODE +1

ONL INE ,MODE
PC,SEND

#2 R3
(P$)+,ONL INE
(R3)+.RS
#10,MODE+1

ONL INE ,MODE
PC, SEND
#MSGT43, ONL INE
#MSG143 RS
#10,MODE+1

ONL INE , MODE
PC, SEND

JEND OF CTLTBL ?

sSELECT NEXT LINE
;YES EXIT TEST

SHITBL ?

;CLEAR DONE FLAG
;SEND INSTRUNTIONS
-MESSAGE ADDRESS 70O RS
;SET SINGLE LINE MODE
;SELECTED LINE NO,

SEND INSTRUCTION #2
sMESSAGE ALDRESS TO RS
2SET SINGLE LINE MODE
sSELECTED LINE NO.

sMESSAGE ADDRESS TO RS
sSET SINGLE LINE MODE
;SELECTED LINE NO.

;WAIT 5 SECONDS
;SETUP STALL TIME CONSTANT

;DONE FLAG SET ?

:YES BRANCH

sERROR DIDN'T RECV (HAR

.MESSAGE ADDRESS TO R5
:SET SINGLE LINE MODE

;SELECTED LINE NO.

:MESSAGE ADDRESS TO RS
;SET SINGLE LINE MODE
sSELECTED LINE NO.

;MESSAGE ADDRESS 1O RS
;SET SINGLE LINE MODE
JSELECTED LINE NO.

SEQ 0065




(ZLAIBO LAQO, LA34 DMT
TESTS

20700 013676 005237
20800 013702 005737
20900 013706 100253
21000 013710 000000
013712 000240
013714 123724
013720 001646
013722 004737
013726 005304
013730 162703
00 013734 00037

IAVIaVILAN 1AW 161,91, §)
i d e e D )

22200 013740 000240
22300 013742 052737
22400 013750 042705
22500 013754 010537
22600 013760 005037
22700 013764 004737
22800 G13770 000207

23300 013772 032737
23400 014000 001056
23500 014002 013737
23600 014010 012705
23700 014014 004737
23800 014020 113737
23900 014026 113737
24000 014034 113737
26100 014042
014042 012705
014046 112737
014054 113737
014062 004737
26200 014066
014066 012705
014072 112737
01410C 113737
014106 C04737
24300 014112
014112 012705
014116 112737
014124 113737
014132 004737
24400 014136 000207
24500
24600
24700 014140 000054
014146 000057
014154 000062
014162 000073
24800 014166 000065

PROG

001110
001116

001170
013772

000002
013436

000200
177600
001170
001146
033446

020000

001170
020600
033730
020603
020604
020605

041001
006010
001204
031706

041014
000010
001204
031706

041132
000010
001204
031706

000055
000060
000063
000047
000066

B 6
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014302

001116
001134
041132

041133
041134

001175
001174

001175
001174

001175
001174

000056
000061
000064

000067

INC
TST
BPL
HAL T
21%: NOP
CMPB
BEQ

ERROR
SO
19%

CHARIN, (R4) +
19%

sHALT ON ERROR 7

sIF BIT 15 SET

;CHECK FOR CORRECT CODE
;CALL ERROR ROUTINE

-------------------------------------------------------

;GE™ CHAR FROM FIFO

#B1T7,FLAG2T
#177600 RS
R5,CHARIN

L O0PO
PC,KBOUT

PC

;SET DONE FLAG
;CLEAR PARITY BIT

;TURN OFF TIMER

-------------------------------------------------------------

L oo b o e v L ]

LA AL AN A B R N BN Y B N A A

*BAD CHAR CODE ROUTINE

r21e:  B8IT
BNE
MOV
MOV
JSR
MOVB
MOVB
MOVR
SEND]
MOV

268:  RTS

KEYTBL: .WORD

.WORD

#BIT13,S0

26%
CHARIN,TEMP
#EBUF RS
PC,BIOCT

EBUF +3,MSG149
EBUF +4 ,MSG149+1.
EBUF +5 ,MSG149+2.
MMSG146,0NL INE
#MSG146.,RS

#10 ,MODE +1

ONL INE ,MODE
PC,SEND
#MSG148,0NL INE
#MMSG148 RS
#10,MODE +1

ONL INE ,MODE
PC,SEND
#MSG149,0NL INE
MMSG149,RS
#10,MODE +1

ONL INE ,MODE
PC,SEND

PC

L A N A A A A AN B A B B BN A A AN AN Y A AN B A B A

JCHECK Sw 13
JSET UP CONVERTER
;CONVERT TO ASCII

:MESSAGE ADDRESS TO RS
sSET SINGLE LINE MODE
;SELECTED LINE NO.

;MESSAGE ADDRESS TQ RS
:SET SINGLE LINE MODE
sSELETTED LINE NO.

;MESSAGE ADDRESS TO RS
+SET SINGLE LINE MODE
sSELECTED LINE NO.

54,55,56,57.60,61,62,63,64,73,47

65,66,67,70,71,75,133,134,135

SEQ (066




(ZLAIBO LAOO, LA34 DMT PROG

TE

LA
STS

24900

N = = D
SrroR N

25000

2292929220

25100

Il o S
PNV
~NG~W
(@ ¥ ¥

25200

25300
25400
25500
25600 304

4312

25700
25800 014314
014322
¢5900 014330
014336
26000 014344

26100
26200 014352
014355
014360
014363
014366

26300

26400
26500 014370
26600 014374
26700 014400
26800 014404
26900 014410

27000

4276
4300
302

— md h b d

O OONOO
F T

———d

006070
000133
000140
000143
000146
000150
000153
000156
000160
000163
000166
000170
000040
000000
000000

041446
00CL00

041136
041263
041416
041442
061442

101
015
012
044
000

005037
005037
005037
005037
000207

000071
000134
000141
000144
000147
000151
000154
000157
000161
000164
000167
000171

041110

041066
041167
061431
041163
041163

102
020
177
104

001146
001204
014302
001140

¢
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000172

041212

041255
041402
000000
000000
0¢C0000

011
010
104
064

KEYEND:
FLAGZT:
CTLTRL:

SHITBL :

CODTRBL:

.EVEN
ENDZ22:

.WORD

. WORD

.WORD

.WORD

+WORD
.WORD

- WORD

.WORD
. WORD
.WORD
BYTE

(LR
CLR
CLR
CLR
RTS

140,147,142,143%,144,1465,146,147
150,151,152,153,154,155,156,157
160,161,162,163,164,165,166,167

170,171,172,4C

0
0

MSG170,MSG156,M8G157,0

MSG151,MSG152,M5G158,MSG159,M5G154,MSG166
MSG167,MSG168,000000,MSG169.M5G153, 000000
MSG16%,M5G153, (00000
101,102,011,015,020,010,012,177.,104 044,104 ,064,0

LOOPO
ONL iNE
FLAG21

PC

SEQ 0067




{21 AIBO LAOO, LA3SL DMT

TESTS

27200
27300
27400
27500
¢ 7600
27700
27800
27900
28000 0144717
28100 014416
282N0 014422
28300 014426
28400 014430
28500 014436
28600 014440
28700 014444
28800 014450
28900 014452
29000 014456
29100
29200 014460
014460
014464
014472
014500
29300 014504
29400 014512
29500 (14516
014516
014522
29600 014526
29700 014534
29800 014536
014536
014542
014550
014556
29900 014562
30000
30100 014564
30200 014570
30300 014576
30400 014600
30500 014604
30600 014612
30700 014620
30800 014624

014676
316400 014702

005037
005037
013700
006300
023737
103402
000137
105760
100003
005237
000761

012705
112737
113737
004737
012737
004737

012795
004737
032737
001013

012705
112737
113737
004737
000753

005037
123727
001557
005037
113737
113737
105037

PROG

001204
014302
001204

001204

015146
020634

001204

035524
000010
001204
031706
015164
034250

010000
03367¢
000004

042366
000010
C01204
031706

214302
001170

001160
001170
001160
001135
016324
033730
016327
016330
016331

041132
000010
001204
031706

D 6
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001152

001175
001174

001140
014302
001175

“

00117

000177

----------------------------------------------------------------

TESTZ21:

1%:

4%:

2%:

3%:

5%:

Oom e

IF N

ObE
TEST
VED

'Tél?léﬁ"."ll""l'l""'""l""l lllll LA AN 4
L ECHO THE OCTAL CODE OF THE CHARAC(TER
. ALONG WITH THE CHARACTER IF [T ]S PRINTABLE.

NPRINTABLE THE MNEMONIC WILL BE RETURNED.

TYPE A DELETE 7O EXIT THIS TEST,

---------------------------------------------------------------
LR AN B B A B A A N B BN B A A B BN B A N BN AN B A A BN AN A A A A B B B A A A A A A N AN A A R A A R A B R R R AP R

CLR ONLINE :SU FOR LINE 0
CLR FLAG2T

MOV ONL INE RO

ASL RO :MAKE WORD OFFSE™ TO TABLES
CMP ONLINE,NUMLIN  :DONE YET ?

BLO L$

JMP 208

TSTB  DZLINE(RO) :1S LINE SELECTED ?

BPL 2% *YES- GO TEST LINE

INC ONL INE *NO- TRY NEXT LINE

B8R 1%

SENDI  #MSG18,ONLINE  :SEND TEST ID MSG

MOV #MSG18 RS :MESSAGE ADDRESS TO RS
MOVB  #10,MODE+1 :SET SINGLE LINE MODE

MOVEB  ONLINE,MODE SSELECTED LINE NO.

JSR PC, SEND

MOV #308 . HOOK

JSR PC.QUIET :WAIT FOR PRINTING TO FINISH
STALL  #10000 "THEN WAIT 10 SECONDS

MOV #10000.,RS ;SETUP STALL TIME CONSTANT
JSR PC MSTALL

BIT #8iT2.FLAG2T  :CHAR RECVD FLAG SET ?

BNE 5s *YES GOTO 5

SEND]  #MSGK3.ONLINE  -NO- PROMPT OPERATOR

MOV #MSGK3.RS :MESSAGE ADDRESS TO RS
MOVB  #10,MODE+1 :SET SINGLE LINE MODE

MOVB  ONLINE,MODE SSELECTED LINE NO.

JSR PC, SEND

BR 3¢

CLR FLAG2]

CMPB  CHARIN,&#177 ;DELETE CHAR °

BEQ 108 SVES JUMP TO 10

CLR WORK

MOVEB  CHARIN,WORK :SAVE CHAR

MOVE  WORK, TEMP 1SU TO CONVERT TQ OCTAL/ASCII
CLRB  TEMP+1

MOY #T30BUF ,RS

JSR pC.BIOCT :CONVERT & STORE AT T30RUF
MOVE  T30BUF+3,MSG149

MOVE  T30BUF +4.MSG149+1

MOVB  T30BUF +5.MSG149+2

SEND]  #MSG149.ONLINE ;SEND OCTAL DATA

MOV #MSG149 RS :MESSAGE ADDRESS TO RS
MOVB  #10,MODE+1 ;SET SINGLE LINE MODE

MOVB  ONLINE ,MODE ;SELECTED LINE NO.

JSR PC,SEND

SENDI  #MSGT15.ONLINE :AND AN '='

SEG 0068




1
1
3
31900 014742
32000 014746
32100 014750
32200 014754
32300 014760
32400 014764
32500 014770
32600 014772
32700 014776
32800 015000
32900 015004
015004
015010
015016
015024
33000 075030
23100
33200 Q15032
33300 015040
015040
15044
015052
015060
33400 015064
33500 015072
33600 015074
33700 015100
53800 015104
33900 015106
015106
015112
015120
015126
34000 015132
34100 015136
34200 015142

—_—
\n
o~

QOO OO00 OO
— md —d el et —b

123727
101034

012704
005003
113703
006337
063703
116324
005203
116324
005203
116314

012705
112737
113737
004737
000415

113737

012705
112737
113737
004737
032760
001405
012746
004737
000000

012705
112737
113757
004757
000137
005237
000137

Ci2705
005037
004737
000207

005037
052737
042705
010537
004737
000207

PROG

040257
000010
001204«
031706
034250
001160

041132

001160
001160
001166
036163

036163
036163

061132
000010
007204
031706

001170

037330
000010
001204
031706
040000

035415
020352

037370
000010
007204
031706
014512
001204
014422

037373
001174
031706

001146
000004
177600
001170
033446

MACRO M1110 26-FEB=79 14:37

001175
001174

000040

037330
001175
001174
031566

001175
001174

014302

6%

7%:

8%:

9%:

10%:

20%:

30%:

MOV
MOVB
MOVA
JSR
JSR
CMPB
BHI

MOV
CLR
MOvAa
ASL
ADD
MOVB
INC
MOVB
INC
MOVH
SEND]
MoV
MOVB
MOvVS
JSR

SENDALL
MOV
CLR
JSR
RTS

CLR
BIS
BIC
MOv
JSR
RTS

E 6
PAGE 46~"

#MSG115,RS :MESSAGE ADDRESS TO RS
#10 ,MODE +1 :SET SINGLE LINE MODE
ONL INE ,MODE :SELECTED LINE NO.
PC,SEND
PC.QUIET
WORK , #40 ;PRINTABLE CHARACTER ?
7% ;YES= GCTO 7
#MSG149 R4
R3
WORK ,R3
WORK
WORK ,R3 :CODE *3 FOR TABLE OFFSET
:gcsi(ns),(n4>+
2§GSS(R3),(R4)+
MSG33(R3), (R4) :GET MNEMONIC CHARS
#MSG149, ONL INE :PRINT CHAR MNEMON]C
#MSG149 RS “MESSAGE ADDRESS T0 RS
#10,MODE +1 ;SET SINGLE LINE MODE
ONL INE ,MODE :SELECTED L INE NO.
PC,SEND
8%
CHARIN,MSG70  :ECHO RECVD CHARACTER
#MSG70 . ONL INE
#MSG70.R5 :MESSAGE ADDRESS TO RS
#10 MODE +1 ;SET SINGLE LINE MODE
ONL INE ,MODE :SELECTED LINE NO.
PC,SEND
s§1714.RECERR(R0) :PARITY OK ?
#MMSG15,-(SP) :NO CALL ERROR RTN.
PC,ERRORT

:IF BIT 15 SET IN SWR
#MSG75 ,ONL INE
#MSG75 RS ;MESSAGE ADDRESS TO RS
#10,MODE+1 :SET SINGLE LINE MODE
ONL INE , MODE :SELECTED LINE NO.
gg.SEND
?gLINE ;TEST NEXT UINE
MSG77
‘38277,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
gE.SEND :NOW SEND THE MESSAGE
LOOPO :ABORT TIMEOUT
#BIT2.FLAG?] *SET CHAR RECVD FLAG
#177600,RS
RS, CHARIN
PC.KBOUT
P( ;10 RECV RIN.

SEQ 0069




(ZLA]IBO
TESTS

235400
35500
25600
35700
35800
35900
36000
36100
36200
36300
36400
36500
36600
36700
30800
36900
37000
37100
37200
37300
37400

37500
37600
37700
37800
37900
38000

38100
38200
38300

38400

28900
39000
39100
39200

LAOD, LA34 DMT PROG

015214
015220
015224
015230
015236
015242
015244
015252
015254
015260
015262
015266
015270
015270
015274
015302
015310
015314
015320
015326
015330
015334
015336
C15336
015342
015350
015356

015470
015472
015476

005037
012701
005C37
012737
013700
006300
023737
001550
105760
100003
005237
000763

012705
112737
113737
004737
05037
023727
002403
005237
000740

012705
112737
1313737
004737
013701
006301

016105
112737
113737
004737

012705
112737
113737
004737
012737

012705
004737
005737
001420
105761
100410
012746
004737

001204
015622
001160
015602
001204

001204
020634
001204

042136
000010
001204
031706
001164
001164

001294

041617
000010
001204
031706
001164

015622
000010
001204
031706

041676
000010
0017204
031706
177777

035230
033676
001135
024554

036441
020352

F 6
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001140

001152

001175
001174

000012

001175
001174

001175
001174

01175
001174

001136

TESTZ2?2:

1%:

’%:

A ¥

5%:

---------------------------------------------------------

TES

TEST WILL REQUIRE THE OPERATOR TQ ENTER
MODE, AND CHANGE THE MODE TO THAT SPECIFIED.
A LINE OR LINES OF DATA WILL BE PRINTED AND
SHOULD BE AT THE NEW PITCH.

---------------------------------------------------------
L B AN A AN AR B A A A A A A A Y B B A A A A A A R A A A A A N N N N N A A

CLR ONL INE ;START ON LINE 0
MOV #TABL 24 ,R1

CLR WORK

MOV #11$, HOOK SSET INTR CATCHER

MOV ONL INE , RO

ASL RO

CMP ONL INE ,NUM_IN :DONE ALL LINES ?

BEG 108 SYES JuMP

TSTB DL INE(RQ) SACTIVE LINE ?

8PL g 3 JYES= START TESTS

éﬁc ?gLINE ‘NO- TRY NEXT LINE
SEND]  #MSG320,ONL INE SSEND TEST ID

MOV #MSG320.R5 “MESSAGE ADDRESS TO RS
MOV  #10.MODE+1 :SET SINGLE LINE MODE

MOVR  ONL INE ,MCDE SSELECTED LINE NO.

JSR PC,SEND

CLR WORK?2 :SUBTEST 0 OF 9

P WORK2, #10. *DONE 10 YET?

BLT 4$ 'NO KEEP TESTING

égc ?§Lx~e “YES GET NEXT LINE
SENDI  #MSG303.ONL INE :SEND INSTRUCTIONS

MOV #MSG303.RS *MESSAGE ADDRESS 70 RS
MOVG  #10,MODE+1 :SET SINGLE LINE MODE

MOVE  ONL INE.MODE :SELECTED LINE NO.

JSR PC,SEND

Q?f :?sz.a1 :POINT TO MSG TABLE
SEND]  TABL24(R1),ONLINE :SEND MSG FOR SUBTEST
MOV TABL 24 (R1) RS *MESSAGE ADDRESS TO RS
MOVB  #10.MODE+1 ;SET SINGLE LINE MODE

MOV  ONLINE,MODE ;SELECTED L INE NO.

JSR PC, SEND

SEND]  #MSG304,ONL INE

MOV #M3G304 RS :MESSAGE ADDRESS TO RS
MCVB  #10,MODE+] sSET SINGLE 1 INE MODE

MOVB  ONLINE,MODE SSELECTED LINE NO.

JSR PC, SEND

MOV #=1 NOTYET :GETS CLEARED BY XON MSG

STALL  #15000. TALLOW SETUP TIME 15 SEC

MOV #15000. ,RS sSETUP STALL TIME CONSTANT
JSR PC MSTALL

TST NOTYET ;SEEN XON YET °

BEQ 7% *YES CONTINUF

TSTB  STOP(R1) *LINE SELECTED

BM] s “YES WAIT MORE TIME

MOV #MSG4LO,=(SP) JREPORT ERROR

JSR PC.ERRORT

SEQ 0070




(JLAIBO (A0, LA3L DMT

TESTS

39300
39400
39500
39600
39700
39800

elelslelelels
o Qi s G G Gonr St

015574
015600

015602
015606
01561C
015614
015620

015622
C15630
015036
015644

015650
0715656
015662
015670

000000
005237
000652
000240
105062
000137
0002/ 0
905761
001414

016105
112737
113737
004737
004737
005237
000137
005037
000207

122705
001004
005037
005037
000207

041755
042013
042025
042051

040056
040C56
042224
a22re

BROG

001204

024554
015446

015650

015650
000010
001204
031706
034250
001164
015320
001140

000021

001136
001146

061767
042075
0461743
000000

040056
042164
0462244
042304

MACRO M1110 26-FEB=-79 14:37

OO
o0
— —
— —
~N~N
£0n

042001
0462037
042063

040056

042264
00000

6%:

7%:

9%:
10%.

11%:

12%:

TABL 2 :

TARQLK:

HALT
INC
BR
NOP
CLRAR
JMP
NOP
TST
BEQ
SENDI
MOV
MOVA
MOVB
JSR
JSR
INC
JMP
CLR
RTS

CMPR
BNE
(LR
CLR
RTS
-WORD

.WORD

.wORD
.WORD

G_ 6
PAGE 47-1

;IF SW 15 SETY

?@LINE JTRY NEXT L INE

STOP(RZ)

5%

TAB24R(R1)

0% JYES JUMP

TAB24B(R1) ,0MNL INE ;SEND THE MSG
TAB24R(R1) ,RS JMESSAGE ADDRESS TGO RS
#10_,MODE +1 JSET SINGLE LiINE MODE

ONL INE ,MODE JSELECTFD LINE NO.
PC,SEND

PC,OUIET

ggRKZ ;SU NEXT SURBTEST

HOOK ;RELEASE INTR CATCHER

PC JEXIT. .o,

#21.,RS JXON ?

12%

NOTYET ;CLEAR IN XON

%gOPO JABORT TIMEOUT

MSG309,M55510,M56311,MSG6312,M5G317,M5G314
MSG313,M5G308,M5G316,M56315,000000

MSG107.MSG107 ,MSG107 ,MSG107,M5G321
MSG322,M5G323,MSG324 ,MSG325 ,M5G326, 000000

ZEQG 0071




"ILALET
TESTS

62300
42400
4250C

42900
43000
43100
43200
43300
43400

43500
43600
43700
43800

43900

44000
44100
44200
44300
4644600
44500
44600
446700
44800
44900
45000
%5100
45200
45300

CALC,

015676
015676
015702
015706
015712
015716
015724
015726
015726
015732
015740
015746
015752
015752
015756
015762
015766

015770
V15776
016004
016012
v1602C
C16026
016032
016036
016044
016046
01605«
216056
014056
016062
016070
016076
016102
016102
016106
016112
016116
01612V
016126
016134
016136
01613%6
016162
016150

012705
005037
004737
005037
032737
001021

012705
013737
112737
004737

012705
005037
004737
000207

013737
162737
113737
012737
112737
005037
004737
032737
001742
13737
001412

135705
(13737
112737
004737

012705
005037
004737
005003
113737
163737
001412

012705
013737
112737

LA DMT PROG

041527
001174
031706
001124
010000

000101
001172
000026
032310

037373
001174
031706

001172
000005
001160
000041
£00002
001162
016270
010000

001162

001160
C27516
000020
032310

0416172
001174
031706

007512
001162

001160
0075°6
000020

MA RGO M1110

001716

001160
001160
007512
001 160
007514

001116

007516

001174
001175

00751¢€

0075158

001174
001175

H 6
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---------------------------------------------------------------

: THIS TEST WILL PRINT A (ONTINUDUS PATTERN
OF ALL PRINTABLE (HARACTERS. EACH (HARA(TER
WILL BE PRINTED ON 2 FUL. LINES,

wiTH THE PASS COUNT INBEDDED IN THE LINES.
TH1S PATTERN WILL PRECESS ° (HAR POSITION
EACH LINE PRINTED,

LOOPING IS CONTROLLED BY SWITCH #12,

--------------------------------------------------------------

aBg BB, w0, 08,

TESTIS: SENDALL #MSG270 ;SEND TEST D

?Eg :SSEZ70.RS JBUILD SEND CALL USING MESSAGE ADDRES>
JSR PC,SEND :NOW SEND THE MESSAGE
CLR PASSNO ; START WITH PASS 0
gég §g1712,so :I1F LOCPING 0O TO SECTION &
SENDC2 #'A,WIDTH ;PRINT A FULL LINE OF A'S
MOV #'A,RS :GET CHAR TO RS
MOV wiDTH,MODE ;GET REPEAT COUNT
MOVS #20 ,MODE +1 :SET REPEAT MODE
JSR PC,CHROUT ;CALL CHAR QUTPUT ROUT INE
2%: SENDALL #MSG77 ;SKIP 3 LINES
?E; ;ggg7?.RS ;JBUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,oEND :NOW SEND THE MESSAGE
RTS oC 113.3 & SR
3% MOV WIDTH,WORK :GET WIDTH
SuB #5 WORK ;PRECESS LIMIT
MOVR WORK , W1 ;SAVE IN Wt
MOV #41,WORK ;PRINTING (HAR (ODE
MCV3 #2,W2 :SU 2 LINES PER CHAR
(LR WORK 1 :CURRENT FRECESS COUNT
JSR PC,GETPN :CONVERT PASSNC TO ASCII
4%: BIT #81712,50 ;DO WHILE BIT 12 - 1
8tEQ 2%
MOV WOSK1,w3 ;GET PRECESS COUNT
BEQ 6% .
SEND(C2 WORK,W3 ;PRINT THE ({HARA(TER
MOV WORK ,RS ;GET CHAR 70 RS
MOV W% MODE ;GET REPEAT COUNT
mMOVB #20 ,MODE +1 :SFT REPEAT MODE
JSR PC ., CHROUT ;CALL CHAR OUTPUT ROUTINE
6%: SENDALL #MSG271 :PRINT THE PASS COUNT
?Eg ;83?271.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
{
gfg Sg.SEND JNOW SEND THE MESSAGE
MOVA Wi, W3 ;CHAR CQUNT = WIDTH - S - PRECESS NI
SUR WORK 1, W3
BEQ 8%
SENDC? WORK,W3 :PRINT CHARS TC END
MOV wORK ,RS :GET CHAR T0O RS
MoY w3 MODE JGET REPEAT COUNT
Move  #20,MODE +1 *SET REPEAT MODE




1 6
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;. Al

tSTS SFQ 0073
016156 004737 032310 JSR PC,LHROUT ;CALL (HAR QUTPUT ROUTINE

46000 016162 8%: SENDALL #MSG7S +SEND (RLF
016162 012705 037370 MOV #MSG75,R5 JBUILD SEND CALL USING MESSAGE ADDRE S
016166 005037 001174 CLR MODE
016172 004737 031706 JSR PC,SEND JNOw SEND THF MESSAGE

46100 016176 005237 001162 INC WORK 1 JNEW PRECESS (JUNT

46200 016202 123737 001162 007512 CMPE WORK1, w1 ;RESET TO 0 [F Max

46300 016210 103402 BLO 9%

46400 01€212 005037 001162 (LR WORK 1

46500 016216 105337 007514 3 ¥ DECR W ;2 LINE DONE YET?

L6600 016222 001020 BNE 10%

46700 016224 112737 000002 007514 MOVA #2,W2 JYES RESET LINE COUN"

46800 016272 005237 001160 INC WORK ;GET NEXT (HAR (ODE

46900 016236 123727 001160 000177 (MPR WORK ,#177 JUNLESS ALL DONE

47000 016244 001007 BNE 10%

47100 016246 012737 000041 001160 MOV #41,WORK ;THEN RESET CHAR (CDE AND

47200 016254 005237 001124 INC PASSNO ; INC PASS (UUNT

47300 016260 004737 016270 JSR FC,GETPN ;REFORMAT MSG

47600 016264 000137 016036 108: Jmp (A 3 ;G0 CHECK Sw 11

47500

«r600

47700 016270 013737 001126 001134 GETPN: MOV PASSNO, TEMP

47800 016276 012705 016324 MOV #130BUF ,RS

47900 16302 004737 033730 JSR PC,BIOCi ;CONVERT TO AS(CI]

48000 016306 113737 016330 041613 MOVB T30BUF +4 ,MSGC71 41

48100 016314 113737 016331 041614 MOVA T30BUF +5,MSG271+2

48200 016322 000207 RTS PC

48300

48400

48500

48600

48700 01634 T30BUF: B kW 6




800 016340
016340
016344
016350

900 016354

1000 016360
1100 016366
1200 016370
“300 016374
016374
016400
016404
16400 016410
016410
016414
016420
1500 016424
1600 016430
1700 016436
180C 016440
1900 016444
2C00 016450
2100 016452
2200 016456
016456
016460
016464
2300 015470
2400 016476
25090 016502
2600 016504
2700 016510
2800 016514
2900 016520
016520
016524
016530
3000 016534
3100 016540
3200 016542
3300 016546
3400 016552
3500 016554
3600 016560
016560
016562
016565
3700 016572
3800 016576
3900 016600

?IBO LAQOQ, LA34 DMT

012705
005037
004737
112703
123727
101002
112703

012705
00502~
004737

012705
005037
004737
005037
023727
003402
000137
013700
006300
016001

010105
005037
004737
016037
005737
001002
000137
005037
004737

012705
005037
004737
023703
003402
000137
013700
006300
016001

10105
005037
004737
004737
000240
000240

PROG

041547
001174
031706
000011
001172

000007

037373
001174
031706

040037
001174
031706
00752
067512

017202
07512

012154

001174
031706
017154
007514

016772
007516
034250

037370
001174
031706
007516

016762
007516

017120
001174

031706
034250

MACRO M1110 26-FER-79 14:37 ©OAGE 49

000120

006005

007514

--------------------------------------------------------------

S PRINTER EXERCISO Terrreres
. THIS TEST WILL PRINT A 10 BY 6 INCH MATRIX OF (HARACTERS
; UTILIZING ALL POSSABLE COMSINATIONS OF PITCH SETTINGS.
TFST15: SENDALL #MSG280 ;SEND TEST ID
?EX ;gggzao,ns ;BUILD SEND CALL USING MESSAGE ADCRESS
JSR PC,SEND ;NOW SEND THE MESSAGE
MOVB  #9..R3 “1F B0 COL MAKE 6XB MATRIX
CMPB  WIDTH, #4120
8HI 7S
MOVB  #7,R3
7%: SENDALL #MSG77 ;SKIP 3 LINES
?EX ;ggg??,ns :BUILD SEND CALL USING MESSAGE ADDRESS
tSR PC,SEND :NOW SEND THE MESSAGE
SENDALL #MSG104 SSET H=~PITCH TO 16.5
??X ;ggg104.ns :BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND :NOW SEND THE MESSAGE
(LR Wi ;DO € V PITCH GROUPS
1%: (MP Wi, #5 :1F W1 > 5 GOTO SO
BLE 2%
JMP 508
2%: MOV w1,R0 :GET V GROUP NO.
ASL RO
MOV TABLVF (R0).R1  ;POINT TO V PITCH SETUP
SENDALL R1 :SETUP V PITCH
MOV R1,RS  ;BUILD SEND CALL USING MESSAGE ADDRESS
CLR MODE
ISR PC,SEND ;NOW SEND THE MESSAGE

mMov TBL3TE(RO) W2  ;GET LINE COUNT FOR THIS PIT(H

3%: TST we ;1F ALL LINES DONE GOTOQ 40
BNE 4%
JMpP 40%
4%: CLR w3 ;00 10 H PITCH GROUPS PER [ INE
JSR PC,OUIET
SENDALL #MSG7S JSEND A CRLF
??g :ggg?S,RS JBUILD SFND CALL USING MESSAGE ADDRESS
JSR PC,SEND JNOW SEND THE MESSAGE
5%: (MP W3,R3 :IF 10 DONE GOTO 30
BLE 6%
JMP 30%
6%: ggv gg.no ;POINT TO H PIT(H SETUP
L
MOV IBL31C(RO) R ;ADDRESS IN R1
SENDALL R1 ;SETUP H PJTCH
?fg :66?5 JBLILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND JNOW SEND THE MESSAGE
JSR PC,WUIET
NOP
NOP

SEQG 0074




(ZLA]
TESTS
A

4100
4200
4300
4600
4500
4€00
4700
4800
4900
5000
5100
5200
5300
5600
5500
5600
5700
5800

5900
6000
6100
6200
6300
6400
6500

6700

6800
6900
7000
7100
7200

000 016602

016606
016610
016614
016620
016624
016630
016634
016642
016650
016654
016662
016666
016672
016700
016704
016712
016720
016724
016724
016726
016734
016742
0167456
016752
016756
016762
016766
016772
016776
017002
017006
017006
017012
017016
017022

013700
006300
010037
006337
006337
063700
063700
116037
013737
006337
062737
017700
016001
013737
006337
062737
017737
113711

010105
113737
112737
004737
004737
005237
000137
005337
000137
005237
000137
004737

012705
005037
004737
000207

BC LAQQ, LA3SY DMT PROG

007512

001166
001166
001166
001166
007516
017024
007516
001162
017214
162274
017144
007516
001162
017170
162244
001160

001164
00C220
031706
034250
007516
016534
007514
016476
007512
016430
033062

037373
001174
031706
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MOV w1,R0O
ASL RO
MOV RO.WORK 3
ASL WORK 3
ASL WORK 3
ADD WORK3,R0
ADD w3,R0
001169 MOVR TBLOTA(RG) ,WORK
00116¢ MOV W3,WORK
ASL WORK 1
001162 ADD #TRL31G,WORK 1
MOV AWORK1 ,R0
MOV TBL31D(RO) R
001162 MOV W3, WORK1
ASL WORK1
001162 ADD #TBL31F ,WORK1
00116+ MOV AWORK 1 ,WORK?2
MCVB WORK , (R1)
SENDR R1,WORKZ
MOV R1,RS
001174 MOVR WORK 2 ,MODE
001175 MOVB #20 ,MODE +1
JSR PC,SEND
JSR PC,QUIET
INC w3
JMP 5%
30%: DEC we
JMP 1%
408: INC (W
418: JMP 1%
50%: JSR PC,RESETO
SENDALL MMSG?7
MOV #MMSG77 RS
(LR MODE
JSR PC,SEND
RTS PC

.GET ADDRESS OF (HARA(TER

:RO= wl+10,
JRO- vV ROW ¢+ COLM OFFSET
;PUT (HAR [N WORK
;GET FORMAT SELECTOR

;RO HAS SELECTOR
;R1 HAS QUTPUT MSG ADDRESS

;:GET PRINT REPEAT COUNT

;WORKZ HAS REPEAT COUNT
sPUT (HAR IN OUTPUT MSG
;PRINT H GRGUP OF (HARS

NEXT H GROUP

;ADJUST LINE COUNT -1
;DO NEXT LINE

sNEXT VvV GROUP

;DO NEXT VvV GROUF
JRESET THE TERMINALS

JBUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
JALL DONE...BYE

SEQ 0075




(Z.AIBO LAOO, LA34 DMT PROG

TESTS

7400
7500
7600
7700
7800
7900
8000
810D
820
8300

8400

8500

8600

8700

8800

8900
000
9100
9200

9300

9400
9500

9600
9700

9800
9900

10000
16100

10200

017024
017027
077032
017035
017036
017041
017044
017047
017050
017053
017056
017061

017062
017065
017370
017075
01707¢

07077
017102
017105
017106
C171M
017114
017117

017120
017126
017132
017140

017144
017152

017154
017162

017770
017176
017204
017212

017214
017222
017230
017236

WRONINTVN RO 20O —
PNONRY = S = ONOMAIR) -

040006
040113
040013
040020

041610
037337

000014
000004

000020
000012
000006
000004

000000
000000
000002
000006

N QP Y ) Ot
(VAP P
N=ON WNO (NI~

—— el mad
QoMWY OV

0406013
040006
(40020
040020

037330

n00010
000C03

002014
000010
000005

000000
000002
000002
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— b —d
—oNny

bk b b ah b
WS NN == =20V O O
AN WOO i OON -

—_— s O —h b b d

040020
040113

037333

000006
000002

000014
000006
000004

000000
000002
000004

—
Vo)
|

TBL31A:

.EVEN

TBL31(:

TBL31D:

TBL3E:

TRL3F:

TBL31G:

.BYTE

BYTE

.BYTE

.BYTE

.BYTE

. WORD
.WORD

'mD

.WORD

.WORD

.WORD

& GROUPS OF 10 CHARACTER (ODES

TABLE OF 10 H PITCH MESSAGE ADDRESSES
TABLE OF & OUTPUT MESSACE ADDRESSES
TABLE OF 6 LINE COUNTSE PER v PIT(H
TABLC OF *O PRINT REPEAT COUNTS

TABLE OF 10 SELECTORD TO TAL31D

52,1641,142,143,144,145,146,53,101,102

147,150,151,152,155,154,44,103,106,105
155,156,157,160,161,100,106,107,110,111
162,163,164 ,1€5,75,112,113,114,115,116

166,167,170,45,117,120,121,122.,123,124

171,172,43,72,125,126,127,130,131,132

MSG99,MSG100,M5G101,MSG108,M5599
MSG100,MSG101,MSG108,MSG101,MSG101

MSG281,M5G70,MSG71 ,M5G72
12.,.8..6,4,3,2

16.,12.,12.,10.,8.,6.6,5.4,4

0,0,0,0,2.2.2.2.4.6

SEC 0076




(7LAIBO LAOO, LA34 DMT FROG

CONSOLE DRIVER ROUTINES

100
200
300
400
500
600 G17240
700 017244
800 017246
900 017252
017260
017266
017274
017276
017302
017306
017310
017316
017324
017326
017326
017332
2000 017336
2100 017342
2200 017346
2300 017354
2400 017356
017356
017362
2500 017366
2600 017372
2700 017376
2800 017404
2900 017406
3000 017414
3100 0172422
3200 017424
3300 017432
3400 017440
3500 017442
3600 017450
3700 017454
3800 017462
3900 017464
4000 017472
4100 017500
4200 017504
4300 017510
4400 017516
4500 017520
4600 017526
4700 017534
4800 017540
4900 017544
5000 017552
5100 017554
5200 017562
5300 017570

8238538

WO ~NOP NI AN —
38

105737
100402
000737
113777
142777
122777
001002
000137
105737
100375
117737
122777
001010

012705
004737
012716
000137
122777
001006

012705
004737
000137
005237
012737
000002
012737
127727
002403
142777
127727
001005
012737
000137
122777
001012
052737
052737
005237

042737
005237

177560

017376
1727562
000200
000033

020150
177564

161672
000003

042327
02031C
002336
017376
000015

037370
020310
017406
001206
000101

020332
161566

000040
161550

020332
017376
000110

100000
100000
001206
017414
000114

040000
040000
001206
017414
000103

1404600
140400
001206
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—
(e Yo Yo ]
— s b
NN
—rIN)
OO

177566
161662

161632

177560

001206
000071

161554
000015

001206
161524
001116
001210
161470
001116
001210
161434

001116
001210

LSBTTL

-------------------------------------------------------------

111%:

113%:

2s:
211s:

3s:
4%

5%

6%:

7%:

8%:

CONSOLE DRIVER ROUTINES

77562 ,aPNTR
0,aPNTR
aPNTR

Q2 y_@ruo—
—“RW_2NNR AR
b ) b AN — D

BN

7504
aPNTR, a#1/ "~ .4

#WSEQ, (SP)
211%
#15,aPNTR
2$

#MSG75
#MSG75 ,R5
PC,(SEND
3%

PNTR
#101,a4177560

#TKBUF ,PNTR
aPNTR 471
5%
#40,3PNTR
32NTR.#15

6

#TKBUF ,PNTR
2118
#'H,aPNTR
7$

#81715,50
#BIT15,TMPTST
PNTR

4%
#'L .aPNTR
8$%

#81T714,50
#BIT14,TMPTST
PNTR

48

g'c,apnrn

$
#140400,S0
#140400, TMPTST
PNTR

JREADY ?
JFALSE INTERRUPT
JREAD CHAR [NTO BUFFER

;STRIP PARITY BIT
;DECODE INPUT IF ESCAPE

JECHO THE (HAR

AT .-C ?
;SEND READY

;GET MESSAGE ADDRESS
:SEND MESSAGE
JRETURN TO WAIT STATE
;DECODE INPUT IF (R
;ECHO CRLF

.GET MESSAGE ADDRESS
JSEND MESSAGE
JGET NEXT BUFFER SPACE

:TURN CONSOLE ON AGAIN
sRETURN

;RESET LC BIT IF ALFA
:STOP DECODE IF CR

.RESET BUFFER POINTER FIRST
+HALT COMMAND?
JYES- SET BIT 15

sLOOP COMMAND ?
sYES- SET BIT 14

+CLEAR COMMAND ?
JRESET THE BITS

SEQ 0077




(ZLAIBO LAOD, LA34 DMT PROG

CONSOLE DRIVER

5400 017574
5500 017600
5600 017606
5700 017610
5800 017612
5900 017614
6000 017620
6100 017624
6200 017626
6300 017632
6400 017634
6500 017642
6600 017650
6700 017652
6800 017660
6900 017666
7000 017670
7100 017676
7200 017702
7300 01771C
7400 017712
7500 017720
7600 017722
7700 017724
7800 017730
7900 017734
8000 017736
8100 017742
8200 017750
8300 017752
8400 017760
8500 017762
8600 017764
8700 017770
8800 017774
8900 017776
9000 020002
9100 020010
9200 020012
9300 020020
9400 020026
9500 020032
%600 020036

020036

9800 020054

0100 020060
0200 020064
0300 020072
0400 020074
0500 020102
0600 020104

700 020112

1
1
:
1
1
1
1
10

10800 020114

ROUTINES

000137
122777
001035
010046
005C00
004737
010037
012600
005737
001003
012737
023727
003403
012737
023727
002003
012737
000137
122777
001014
052737
010046
005000
004737
004737
012600
000137
122777
01014
042737
010046
005000
004737
004737
012600
000137
122777
001012
052737
052737
005237
000137

012705
004737
012737
000137

005237
127727
002425
127727
003021
127727
002404
112700

017414
0001c7

020060
001172

001172

000204
001172

00004
001172

000640
017414
000122
010000
020060
020234

017414
000123

012000
020060
020234

017414
000056

000400
000400
001206
017414

042366
020310

020332
017376

001206
161116
161106
161076
000077

N 6
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161400

001172
000204

001172
000040

001172
161276
001210

161236
001210

161176

001116
001210

001206

000060
000071
000070

G%:

25%:

26%:

108 :

11%:

12%:

131%:
14%:

“41%:

15%:

SEG 0078
JMP 4%
CMPB #'W,aPNTR ;SET WIDTH ?
BNE 10%
MOV RO,-(SP) ;SAVE RO
(LR RO
JSR PC,15% ;CONVER NEXT (HARS TO OCTAL
MOV RO,WIDTH ;SET NEW WIDTH LIMIT
MOV (SP)+,RO
TS1 WIDTH
BNE 25%

MOV #2064 ,WIDTH
CMP WIDTH,#204
BLE 26%

MOV #2064 ,WIDTH
CMP WIDTH, #32.

BGE 27%

MOV #32.,WIDTH

JMP 4%

CMPR #'R,aPNTR ;RUN TEST COMMAND ?
BNE 118

815 #81T12, TMPTST ;SET THE CNTL BITS
MOV RO,=(SP)

CLR RO

JSR PC,15% - CONVERT NEXT TO OCTAL
JSR PC,NUMCHK

MOV (SP)+,R0

JMP 4%

{(MPB #'S,aPNTR ;SEQUENCE COMMAND ?
BNE 12%

BIC #012000, TMPTST

MOV RO,=(SP)

CLR RO

JSR PC,15% s CONVERT NEXT TO OCTAL

JSR PC ,NUMCHK
MOV (SP)+,RO

JMP 4%
CMPB #'. ,aPNTR ; TERMINATOR ?
BNE 149

B1S #B8178,50
BIS #BIT8, TMPTST

INC PNTR

JMP 43

SENCT  #MSGK3 ;UNDEF INED COMMAND CHAR

MOV #MSGK3 RS .GET MESSAGE ADDRESS
JSR PC,CSEND s SEND MESSAGE

MOV #TKBUF ,PNTR

JMP 211%

INC PNTR ;POINT TO NEXT CHAR [N BUrfER
CMPS aPNTR, 460 SEXIT IF NOT NUMERIC

BLT 16%

CMPB aPNTR, 471

BGT 16%

éT?B ?;gTR,#?O ;DECIMAL OR OCTAL ?

MOVB #77.R0O ;DECIMAL : INVALID




(ZLAIBO LAOO, LA34 DMT PROG
(ONSOLE DRIVER ROUTINES

10900 020120 000137 (C20146
020124 142777 000370
020132 006300
020134 006300
020136 006300
020140 157700 161042
020144 000745
020146 000207

020150
020150 012705 035657
020154 004737 020310
11900 020160 013737 001210
12000 020166 062706 000002
12100 020172 012746 002450
12200 020176 012737 020332
12300 020204
020204 012705 042327
020210 004737 020310
12400 020214 012737 000701
12500 020222
020222 012705 000100
020226 004737 033676
12600 020232 000002
12700
12800 020234 105700
12500 020236 007006
15000 020240 105037 001210
13100 020244 042737 002000
13200 020252 000207
13300 020254 120027 200022
13400 020260 003006
13500 020262 052737 002000
12600 020270 110037 001210
12700 020274 000766
13800 020276
020276 012705 042366
020302 004737 020310
13900 020306 000756

—d B d i o d
-—‘—l—d-—l-..‘—J-l_.A-—l
DO~ N DIN)

S22SES23

164600 020310 5715
14700 020312 1406
14800 020314 105737 177564
14900 020320 100375
15000 020322 112537 177566
15100 020326 000770

15200 020330 000207
5400 020332

— D~
Lo L o
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JMP 16%
161054 17%: Bi(B #370,aPNTR

ASL RO
ASL RO
ASL RO
8158 aPNTR,R0
BR 158

16%: RTS PC

18%: SENDC  #MSG2Z2

MoV #MSG22,R5S
JSR PC,CSEND

001116 MOV TMPTST, SO
ADD #2,SP
MOV #LSEQ,-(SP)
001206 MOV #TKBUF ,PNTR

SENDC  #MSGK1

MOV #MSGK1,R5

JSR PC,CSEND
177560 MOV #101,a4#177560

STALL  #100

MOV #100,R5

JSR PC,MSTALL

RTI
NUMCHK: TSTBR RO
BNE 3%
CLRB TMPTST
001210 1%: BIC #BIT10,TMPTST
2%: RTS PC
3%: CMPR RO, #22
BGT 4%
001210 BIS #MITI10,TMPTST
MOVB RO, TMPTST
BR 2%
4% SENDC  #MSGK3

MoV #MSGK3 R5
JSR ?g.CSEND

BR
: CONSOLE " TRANSMI T ROUTINE
CSEND: TSTB (RS
BEQ 2%
18 TSTB 3177564
BPL 18
MOVB  (R5)+,a#177566
BR CSEND
28: RTS  PC

TKBUF: .BLkWw 10

;STRIP AWAY AS(CII BITS

;MAKE ROOM FOR NEW DIGIT
;ADD NEW LSD

;GET NEXT CHAR

JEXIT OCTAL IN RO

;JECHO $ AND CRLF

;GET MESSAGE ADDRESS
s SEND MESSAGE
;PUT TEST NO IN SO
JFIX RETURN P(
;7O TEST SEQUENCER
JRESTORE BUFFER POINTEK
;SEND ‘READY’

;GET MESSAGE ADDRESS
: SEND MESSAGE
;ENABLE CONSOLE

;SETUP STALL TIME (ONSTANT
;TO TEST SEQUENCER
;TEST NO. ENTERED ?

JNO SELECT

JBYE

:T00 8IG ?

cYES

JOK SELECT TEST
+SAVE TEST NO.

.7 72 7 9
.GET MESSAGE ADDRESS
s SEND MESSAGE

s NULL?
sYES= ALL DONE
;WAIT FOR READY BIT

;SEND CHARACTER

;CONSOLE INPUT BUFFER AREA

SEQ 0079




ZLAIBO LAOQ, LA3& DMT PROG
ERROR HANDLER

15800

C
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.SBTTL ERROR HANDLER

15900
16000
16100
16200
16300
164600
16500
16600
16700
16800
16900
17000
17100
17200
17300
17400
17500
17620
17700
1780C
17900

18000
18100
18200

18300

'8407

18500
18600
18700
18800
18900

19100
19200
19300
19400
19500

19600

020352
020360
020362
020370
020374
020400
020406
020414
020422
020430
020434
020440
020446
020454
020454
020460
020466
020474
020500
020502
020506
020506
020510
020516
020524
020530
02C530
020534
020540
020540
020542
020546
020550
020554
020560
020564
020570
020572
020576

032737
001073
013737
012705
004737
113737
113737
013737
042737
012705
004737
113737
113737

012705
112737
113737
004737
010346
016603

010305
112737
113737
004737

012705
004737

010305
004737
012603
011666
062706
005237
005737
100402
062716
000207

000000
000000
124
124
060
114
105
060

020000

001-°04
020600
033730
020604
020605
001212
177700
020600
033730
020604
020605

020610
000010
001204
031706

000004

000010
001204
631706

020610
020310

020310

000002
000002
001110
001116

000002

000000

105
040
054
111
040
040

------------------------------------------------------------

LA N N A BN A B BN IR N A R R

: ERRORTY

lllll

LA A R B A A AN AR B A Y A B B Y B A B ]

. THIS ROUTINE WILL HANDLE THE PRINTING Of
; ERROR MESSAGES, UPDATE ERROR COUNTS, AND
; CHECK ON SWITCH 13,

---------------------------------------------------------------
LA B LR N A A A A A AR B B A B A BN A B N N B AN A A AN AN A AN BN AN AN BN A BN AN BN A B BN R A BV R R A R AR AR AP N RN BN A

001116 ERRORT: BIT #81T13,50 :INHIBIT PRINT 2
BNE 18 *YES JUMP
001134 MOV ONL INE, TEMP “CONVERT LINE NO. TO ASC]l
MOV #EBUF RS
JSR PC,BIOCT :CALL CONVERTER
020626 MOVB  EBUF +4 ,MSGE+14. "FORMAT ERROR MSG
020627 MOVB  EBUF +5.MSGE+15.
001134 MOV TSTTYP. TEMP ;GET TEST NO.
001134 BIC #177700, TEMP
MOV #EBUF ,RS ;CONVERT IT TO ASCII
JSR PC,BIOCT
020615 MOVB  EBUF +4 ,MSGE +5 :FORMAT ERROR MSG
020616 MOVR  EBUF +5.MSGE+6
SEND!  #MSGE.ONL INE STEST AND LINE NO'S
MOV AMSGE RS *MESSAGE ADDRESS TO RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONLINE,MODE :SELECTED LINE NO.
JSR PC, SEND
MOV R3.-(SP) :SAVE R3
MOV 4($P) R3 “GET MSG ADDRESS FROM STACK
SENDI  R3,ONLINE *SEND ERROR MSG
MOV R3.RS :MESSAGE ADDRESS TO R5
001175 MOVB  #10,MODE+1 *SET SINGLE LINE MODE
001174 MOVB  ONL INE.MODE :SELECTED LINE NO.
JSR PC,SEND
SENDC  WMSGE :SAME THING TO CONSOLE
MOV MMSGE ,RS *GET MESSAGE ADDRESS
JSR PC, CSEND :SEND MESSAGE
SENDC  R3
MOV R3,RS :GET MESSAGE ADDRESS
JSR PC.CSEND :SEND MESSAGE
MOV (SP)+.R3 -RESTORE R3
1%: MOV (SP),2(SP) *ERASE ADDR FROM STACK
ADD #2,5P *ADJUST STACK POINTER
INC ERROR "FLAG THE ERROR
ST ) *HALT ON ERROR SET ?
BM] 2%
ADD #2,(SP) ;.UMP OVER ERROR HALT
2% RTS PC :RETURN
000000 EBUF: .WORD 0,0,0.0 :BUFFER AREA
5@8 MSGE:  .ASCIZ /TEST 00, LINE 00 /<15><12> :STD MSG MEADER
040
116
060
015

SEQ 0080




(ZLAIBO (AQQ, LA34 DMT PROG

ERROR HANDLER
020632
19800

012

000

D 7
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.FVEN

SEQ 0081




(ZLAIBO LAQQ, LA34 DMT PRQG
ERROR HANDLER

3800 020634

4100
4200
4300
4400
4500
4600
4700
4800
4900
5000
5100 020754
5200

E_7
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StQ 0082

.SBTTL  DZ11 DRIVER RQUTINES
s THSES ROUTINES WILL HANDLE FROM 1 TO 8 DZ17°'S
;JOHN COMEAU INVENTED THESE WONDERFULL ROUTINFS

JNOW A BUNCH OF TABLES
JHERE IS A ONE WORD PER LINE TABLE. iT HOLDS LINE PARAME TERS

. THE PROGRAM IS RESPONSIBLE FOR SETTING IT UP,
;THE DZ11 ROUTINES SIMPLY READ IT.

IBIT 7 IN EACH BYTE, IS THE INACTIVE BIT. IF SET, THE LINE
"WILL BE IGNORED BY THE DRIVER ROUTINES

B]TS 3-0 HOLD THE LINES BAUD RATE INFO
BITS 3- O/ngb
0001 7%
0010 110
0011 134.5
150
300
600
1200
1800
2000
2400
3600
4800
7200
9600
RESERVED
.BIT 6 SELELTS THE TYPE OF PARITY, 0= EVEN 1=0DD
:BIT 5 IT THE PARITY ENABLING BIT, O IF NO PARITY, 1 [F PARITY

DILINE: .BLKW  DZCON®B. ;: NO. OF DZ°'S TIMES 8 LINES PER DZ-# WORDS

L]
L=
o
O

®s Sy Ve B B e B e R N, N e, R, e, Y]

—h sk i i ad d R CDCDCS O
el sl il e T O b D d b
—_-—OOD SO0 = —O0
SO OQLO=S00-20

;HERF ARE THE DZ11 COMMAND BUFFER AREAS
;THERE IS ONE FOR EACH LINE.
;EACH OF 20 WORDS LONG
;THE COMMAND FORMAT IS AS FOLLOWS.
;1ST WORD [S THE ADDRESS OF THE MESSAGE BEING TYPED
;THE 2ND WORD. IFf O, STANDARD MEGSSAGE
;IF HIGH BYTE [S 10, LOW BYTE HOLDS LINE NO TO SEND 1O
;1F HIGH BYTE IS 20 LOW BYTE HOLDS REPEAT COUNT
;IF HIGH BYTE IS 30 LOW BYTE HOLDS SPECIAL TERMINATOR, }
DZCOMB: .BLKW  DZCON*8,*20. ; 8 LINES PER DZ TIMES (0. wORDS PER _INE 7!




LZJLA
1

DZ

5600
5500
5600

5700
5800

[BO LAOC, LA3G DMT PROG
DRIVER ROUTINES

026054

024774

024314

0246434

0246554

024674

025014
025134
025254
025374
025514
025634
025754
026074
026214

026334

026454

031554

037566

F 7
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;TABLE OF FLAGS FOR ACTIVE LINES
ACTIVE: .BLKW DZCON+8,

JHERE IS THE TABLE OF CURRENT REPEAT COUNTS.
CURREP: .BLKW DZCON+8.

cHERE IF THE TABLE OF CURRENT TERMINATORS
CURTER: .BLKW  DZCON*8.

JHERE IS THE LINE REPLY TABLE
REPTBL: .BLKW  DZCON=+S§.

SJHERE IS A TABLE OF SWITCH WORDS SET TO (LEAR T(R REG
STOP: .BLKW  DZCON=8.

SHERE IS THE TABLE OF CURRENT "txT ADDRESSES
CURADD: .BLKW  DZCON*8.

;HERE ARE THE PRINTING COMMAND BUFFER POINTERS
COMCNT: .BLKW  DZCON+8.
COMIN: .Bikw  DZCON+8,
COMOUT: .BLKW  DZCON+8.
COMEND: .BLKW  DZCON=8.

TCRBIT: .BLKW  DZCON+B. SLINET=T, LINEZ-2, LINE3 4, LINES-T0

;CHAR COUNT
KBCNT: .BLKW  DZCON+8,

END OF BUFFER TABLE
KBBUFE: .BLKW  DZCON=«8,

;BEGIN OF BUFFER TABLE
KBBUFB: .BLKW  DZCON+8.

ABUSFER PUT IN POINTER
KBBUF]: .BLKW DZCON+S8,

;BUFFER TAKE OUT POINTER
KBBUFO: .BLKW  DZCON#8,

JHERE IF THE KEYBOARD BUFFSR AREA
KBBUF : .BLKW  DZ(ON+8.+20,

;DZ11 STATUS REG ADDRESS TABL{
DZCSR:  .BLKW  DZCON

.DZ11 RECJEVE ERROR BIT TABLE
RECERR: ,BLKW  DZCON+8.

JONE (SR PER DZ11t(REALLY.)

5£Q Q083

;8 WORDS TIMES B LINES TIMES # OF DZS




CZLAIBO _AQO, LA34 DMI PRGG

10700
1C-800
10900

DN ND NN O
388888888

L YO Qe R R R N W Y Y )
N rd oed oord ot cod —ad B ek —d —d

-nd
NS
88

12200

12300 (631706
12400 031710
12500 031712
©2600 031714

12700
12800
12900
13000
13100
13200
13300
13400
13500
13600
13700
13800
13900

031720
031726
031730
031734
031740
031742
031746
031754
031760
0317€6
031770
031774
031776

14000 032004
14100 032006
14200 032012
14300 032014
032014
032020
14400 032024
14500 032030
14600 032032
14700 032036
14800
14900 032044
15000 032046
15100 032052
15200 032060
15300 032064

6000
6100 032120

O0Z71 DRIVER ROUTINES

010046
010146
010246
010537
122737
001014
105037
013700
006300
005037
012737
000137
013737
005000
105760
100534
026027
002463
005760
100017

013705
004737
005760
100006
105260
126027

103002
000137
052760
005337

006237
012705

004737

001104
000010

001175
001174

001174
000001
031770
001152

020634
025014
024054

000144
033676
024554

024054
024054

031770
000200
001216
024554
024054
036404
020310
001134
001134
020600

033730

G
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001175

0071106
001106

000010

000144

020634

4

SEQ 0084
;DZ SEND ROLTINE
JCALLING SEQUENCES
: JSR PC,SEND ; CALL
: RS ;THIS 1S THE MESSAGE ADDRFSS
; MODE sTHIS SPECIFIES THE TYPE OF MESSAGE AS FOLLOWS...
: MOCE HIGH BYTE LOW BYTE
. 0 0 SEND TO ALL ACTIVE DZ LINES
: 10 SELECT :SEND TO SELECTED LINF
. JUSE LOW BYTE AS LINE NO.
. 20 REPEAT SEND TO ALL ACTIVE LINES
: USE LOW BYTE AS THE MESSAGE REPEAT (OUNT
: 20 TERMIN SEND TO ALL ACTIVE LINES
: USE LOW BYTE AS MESSAGE TERMINATOR
SEND: MOV RO,-(SP) :SAVE RO
MOV R1,~-(SP) JAND R1
MOV RZ.,=-(SP) JAND R2
MOV RS ,MSGADR
CMPR #10,MODE +1 21S THIS MESSAGE MEANT FOR ONLY 1 TERMINA.?
BNE 2% :NO.
CLRB MODE +1 ;YES
MOV MODE ,RO ;GET LINE #
ASL RO :MAKE WORD OFFSET
CLR MODE :NO SPECIAL STUFF FOR IMNDIVIDUAL LINES
MOV #1,SENDTM ;COUNT = 1 LINE ONLY
JMP SEND1 00 DO 1T
2%: MOV NUML . NLSENDTM . A COUNT OF LINES SO WE KNOW WHEN WE ARE ~~ROUGH
CLR RO :STARY WITH THE 1ST LINF
SEND1: 1STR DZL INE (RO) ;1S THE LINE INACTIVE?
BM] I8 3 ;iF SO, DONT TRY TO SEND IT ANYTHING.
CMP COMCNT(RO) ,#8. ;ALREADY FULL?
BL7 4% JIF ROOM IS THERE., PUT STUFF IN.
s ACTIVE (RO} ;1S The LINE ACTIVE 2
BPL b 3 JNO=- DESELECT THE L INE
STALL  100. JWAIT A SHORT TIME THEN RETRY
MOV 100. RS JSETUP STALL TIME (ONSTANT
JSr PC,MSTALL
TST aTOP(RO) ;1S LINE WAITING FOR XON
BPL 1% ;NO-
INCB ACTIVE (RO) JCOUNT THIS PASS THRU
CMPR ACTIVE (RO) ,2100. sCHECK FOR EXCESSIVE DELAY
JALLOW 10 SECONDS MAX.
BHIS 2% ;TOO LONG=- ABORT WAIT
1%: JMP SEND1
% ¥ BIS 08177 DZL INE (RQ) :DESELECY THE L INE
DEC U JONE LESS UNIT TO TEST
(LR OP(R0)
(LR ACTIVE(RO)
MOV #MSG39,RS
JSR PC,CSEND ; REPCRT NO alN
MOV RO, TEMP
ASR TEMP
MOV #EBUF RS
JSR PC,BI0CT
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7
DZ1* DRIVER ROUTINES SEC 0085

16200 032124 113737 020604 020626 MOVA FBUF +4 ,MSGE+14,

16300 032122 113737 020605 020627 MOVR EBUF +5 ,MSGE+15,

16400 032140 012705 020620 MOv #MSGE+10,R5

16500 032144 004737 Q20310 JSR PC,LSEND

16600 032150 QC0U137 032266 JMP 7% :TRY THE NEXT LINE

16700 032154 013770 001104 025134 4% MOV MSGADR, aCOMIN(RO) ;PUT MESSAGE ADDRESS INTO THE (OMMAND BUFFEK

16800 032162 105060 024054 CLRR ACTIVE(RQ) :ERASE ANY DELAY COUNT

16900 032166 062760 000002 025134 ADD #2,COMIN(RD) :BUMP POINTER

17000 032174 013770 0011724 (25134 MOV MODE ,3COMIN(RO) ;PUT PRINTING MODE INTO THE BUFFER ALSO

17100 032202 062760 000002 025134 ADD #2,(OMIN(RQ) ;BUMP POINTER

17200 32210 026060 025374 025134 CMP COMEND (RO) ,COMIN(RO) ; IN POINTER AT EMD OF COMMAND BUFFER?

17300 032216 101003 8HI 6% :IF NOT.

17600 032220 162760 (000050 025134 SUB #50,COMIN(RO) JYES, AT END. RESET IT TO THE BEGINING

17500 032226 005260 025014 6% : INC COMCNT (RO JADD 1 TO COUNT OF COMMANDS IN THERE

17600 032232 005760 024554 TST STOP(RO) ;15 THE LINE WAJTING FOR XON?

17700 032236 100413 BM] 7% :YFS. DONT SET TCR B}T

17800 032240 070001 MOV RO,R1

17600 032242 006201 ASR R1

18000 032244 006201 ASR R1

18100 032246 006201 ASR R1

18200 032250 042701 177763 BIC #177761 ,R1

18300 032254 016101 031554 MOV DZCSR(R1) ,R1 :GET (SR ADDRESS

12400 032260 15€061 025514 200004 BISR TCRBIT(RO) ,4(R1):SET THE LINES TCR BIT

18500 032266 062700 000093 7%: AUD #2 ,RC NEXT LINE #

18600 032272 005337 00110¢ DEC SENDTM ;DONE AL! OF THEM?

18700 032276 001234 BNE SEND1 ;NO, GO DO ANCTHER

18800 032300 012602 MOV (SP)+,R2 :NOW ALL WE HAVE TO DO IS

"8900 032302 012601 MOV (SP)+ R JRESTORE REGS WE

19000 032304 (12600 MOV (SP)+ R0 :SAVED UPON ENTRY

19100 032306 000207 RTS PC sRETURN

19200

19300

113288 : SINGLE CHARA(TER QUTPUT ROUTINE ALL TERMINALS

16600 032310 162705 000040 (HROUT: SUR #40,RS :CHARACTER TABLE STARTS AT 40

19700 032314 006305 ASL RS JMAKE WORD OFFSET

*9800 032316 062705 042604 ADD #PCTABL RS ;ADD PRINT (HAR TABLE ADDRESS

;9900 032322 004737 031706 JSR PC,SEND :SFND MESSAGE wo RD

20100 032326 000207 RTS P(

20200




l
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(Y DRIVER ROUTINES SEQ 0086
20400
20500 ;HERE ARE THE TRANSMIT INTERRUPT ROUTINES
20600 032330 DZVINT:
20700 000000 x=0
20800 000005 REPT  DZCON
20900 MOV RO,=-(SP; ;SAVE RO
21000 MOV #X,R0 JPUT DZ & IN RO
21100 JMP TXINT ;GO TO MAIN ROUTINE
21200 X=X+2
21300 .ENDR
032330 010046 MOV RO,=(SP) ;SAVE RO
032332 012700 000000 MOV #X,RO JPUT DZ & IN R0
032336 200137 032474 JMP TXINT ;GO TO MAIN ROUTINE
000002 y=X+2
032342 010046 MOV RO,=(SP) : SAVE RO
232344 012700 000002 MO. #X,R0 JPUT DZ # IN RO
032350 000137 032474 JMP TXINT ;G0 TO MAIN ROUTINE
000004 X-X+2
032354 (10046 MOV RO,=-(SP) ;SAVE RO
032356 (012700 000004 MC/ #x R0 ;PUT DZ # IN RO
032362 000137 (032474 JMP TXINT ;GO TO MAIN ROUTINE
000006 X=X+2
032366 010046 MOV RO,~(SP) :SAVE RC
032370 012700 00000¢ MOV #X,RO JPUT DZ # IN RO
0323764 000137 (324746 JMo TXINT ;G0 TO MAIN ROUTINE
{00010 X=Xr?
032400 010046 10V RO,=(SP) ;SAVE RO
032402 012700 000010 MOV #X,R0 ;PUT DZ # IN RO
032406 000137 0322474 JMP TXINY .30 TO MAIN ROUTINF
. 000012 X=K+2
< *\O

1500




(
D

JLAIBO LAQO, LA34 DMT PROG
217 DRIVER ROUTINES

21700

4
21800 032412

21900
22000
22100

22€00
270U

Q032417
032414
0526420

032424
032426
032432

032436
032440
032444

032450
032452
032456

032462
032464
032470

000000
000005

010046
012700
000137
000052
010046
012700
000137
0000C4
010046
012700
000137

000012

000000
0331454

0000C2
033164

000004
033104

000006
033164

000010
033164

;HERE ARE THE RECIEVE INTERRUPT

DZRINT:
x=0
.REPT

X=X+
.ENDR

X=X+2
A X+2
X=X+2
X=X+2

X=X+2

DZION
MOV
MOV
JMP

MOV
MOV
JMP

MOV
MoV
JMP

MOV
MOV
JMP

MOV
Mov
JMP

MOV
MoV
JMP

J_ 7
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RO,=(SP)
#X,R0
RCINT

RO,=(SP)
#X,R0
RCINT

RO,-(SP)
#X,R0
RCINT

F9,=(SP)
#X,R0
RCINT

RO,=(SP)
#X RO
RCINT

RO,~(SP)
#X RO
RCINT

ROUT INES

; SAVE RO

JPUT DZ & IN RO
;GO TO MA[N ROUTINE

;SAVE RO

;JPUT DZ # IN RO
;60 TO MAIN ROUTINE

:SAVE RO

JPUT DZ 4 IN RO
;GO TO MAIN ROUTINE

;SAVE RO

;PUT DZ & IN RO
;G0 TO MAIN ROUTINE

;SAVE RO

;PUT DZ # IN RO
;GO TO MAIN ROUTINE

;SAVE RO

;PUT DZ # IN RO
;GO0 TC MAIN ROUTINE

SFQ 0087




LJLAIBO LAQO, LA34 DMT
DZ11 DRIVER ROUTINES

22900
23000

23100 032474
23200 032476
23300 032500

23400

032502

23500 032506

25900
26000
26100
26200
26300
26400
26500
26600
26700
26800
26900
27000
27100
27200
27300
27400
27500
27600
27700
27800
27900
28000
28100
28200
28300
28400
28500

032510
032512
032516
032524
032532
032536
032540
032544
032546
032554
032560
032566
032572
032574
032600
032602
032610
032614
032620
032626
032632
032640
032642
032646
032650
032654
032662
032670
032672
032700
032704
032706
032714
032720
032724
032732
032736
032742
032746
032752
032756
032760
032766
032770
032776
033000
033002
033010
033014
033020

010146
010246
000240
016001
000300
006300
N11137
113737
042737
063700
006300
005760
100005
146061
000137
052760
005760
001012
005760
001051
146061
005060
000137
117037
005260
123760
001101
005360
003071
005060
062760
026060
103403
162760
005360
001007
146061
005060
000137
017060
005060
005060
016002
062702
011237
001416
122737
001412
122737
0014601
000000
113760
000137
105037
C13760

BROG

031554

001100
001101
177770
001100

024554

025514
03305¢
100000
024674

025014

025514
024054
033052
024674
024674
001100

024174

024674
002004
025254

000050
025014

025514
024054
033052
025254
024174
024314
025254
000002
001100

000020
000030
001100
032560

001101
001100

MACRO M1110 26-FFB=79 14:37

000004
024054

00000«

001100
024314

025254
025374
025254
000004

0264674

001101
001101

024314

024174

JHEREL IS
TXINT:

1%:

2$:

3%:

4%:

5%:
6%:

THE
MOV
MOV
NOP
MOV
ASL
ASL
MOV
MOVA
BIC
ADD
ASL
TST
BPL
BICB
JMP
BlS
TST
BNE
TST
BNE
BI(B
(LR
JMP
MOVB
INC
CMPR
8NE
DEC
BGT
CLR
ADD
(MP
8LO
SuR
DEC
BNE
8ICB
CLR
JMP
MoV
{LR
(LR
MOV
ALD
MOV
BEQ
(MPR
8EQ
(MPB
BEQ
HALT
MOVR
JMP
CLRB
MoV

K 7
PAGE 58

MAIN TRANSMIT INTERRUPT ROUTINE

R1,=(SP)
R2,=~(SP)

DZCSR(R(O) ,R1
RO

RO

(R1) ,DXTMP
DXTMP+1,DXTMP
R177770 ,DXTMP
DXTMP RO

RO

STOP(RO)

1%

TCRBIT(RO) ,4(R1)
9%

#B1T15,ACTIVE(RO)

ggRADD(RO)
COMCNT(RO)
4%

TCRBIT(RQ) ,4(R1)
egTIVE(RO)

;SAVE ALL OF
JREGS WE INTEND TO USE

:DZ71 (SR ADDRESS

JGET LINE #

:MOVE INTO LOwW BYTE

;CLEAR ALL BITS EXCEPT LINE # BITS

;BIG LINE # [F DZR PLUS LINE #
.(DZ# =8 + LINE NO.)*2 FOR OFTSET

JSET LINE ACTIVE FLAG

;CLEAR THE LINES ACTVIVE FLAG

aCURADD (RO) ,DXTMP

CURADD (RQ)
DéfMP.CURTER(RO)

8
CURREP (RQ)
7%

CJRACD (RQ)
#4 , COMOUT (RO)

;POINT AT THE NEXT NEXT (HAR
;IS 17 THE TERMINATOR?
:NO. GO XMIT IT.

gOMOUT(RO).COHEND(RO)

$
#50, COMOUT (RO
EgHCNT(RO)
TCRBIT(RQ) ,4(RY)
ngIVE(RO)

ACOMOUT (RO) , CURADD (RO)

CURREP (RO)
CURTER(RQ)
COMOUT (RO) ,R2
#2,R2

(RZ) ,DXTMP

6$

g%O.DXTMP+1
#30,DXTMP+1
5%

?éFMP.CURYER(RO)

DXTMP+1
DXTMP, CURREP(RQ)

.GET ADDR GF ADDR

"tﬁilttttt

SFQ 0088




C
C

ILAIBO LADO, LA34 DMT PROG
{11 DRIVER ROUTINES

2800C 033026
28700 033032
28800 033040
289CC 033044
29000 033052
29100 033054
29200 033056
29300 033060
29400
29500
29600
29700
29800
29900 033062
033062
033066
G3307¢2
30000 033076
033076
033102
033106
30100 033112
033112
033116
033122
30200 033126
033126
033132
N33136
30300 033142
033742
033146
033152
20400 033156
30500 033162
20600

000137
017060
000137
113761
012602
012601
0125600
000002

012705
005037
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737
004737
060207

032560
025254
032560
001100

040032
001174
031706

040113
001174
031706

007500
001174
031706

037304
001174
031706

025176
001174
031706
034250

L 7
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024674
000006

7%:

8%:
9%:

JMmP
MOV
JMP
MOvVR
MOV
MOV
MOV
RT]

1%

?EOMOUT(RO).CURADD(RO)

DXTMP,6(R1)

(SP)+,R2
(SP}+ ,R1
(SP)+,R0O

; THIS ROUTINE IS L"ED TO RESET

RESETO: SENDALL #MSG103

MOV
(LR
JSR
SENDALL
MOV
CLR
JSR
SENDALL
MOV
CLR
JSR
SENDALL
MoV
CLR
JSR
SENDALL
MOV

CLR
JSR
JSR
RTS

#MSG103,RS5

MODE
PC,SEND
#MSG108

#MSG108,R5

MODE
PC,SEND
#T12F IX

#T12F IX,RS

MODE
PC,SEND
#MSGET
#MSG61 RS
MODE
PC,SEND
#MSG10
#MSG10,RS
MODE
PC,SEND
PC.QUIET
P(

;PUT (HAR INTO XMIT BUFFER
;RESTORE THE

JREGISTERS THAT WwE
,DESTROYED

ALL TERMINALS

;SET 6 LPI.
;BUILD SEND CALL USING Mt SSAGE ADDRESS

JNOW SEND THE MESSAGE
;SET 10 CPI.
sBUILD SEND CALL USING MESSAGE ADDRESS

:NOW SEND THE MESSAGE
JRESET MARGINS
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;RESE, ALL TABS
LBUILD SEND CALL USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE
;SET TABS EVERY 8
;BUILD SEND CALL USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE

SEQ 008%




CZL
DZ1

30800
30900

31000 033754
31100 033166
31200 033170
31300 033172
31400 033176
31500 033202
31600 033204
31700 033200
31800 033212
31900 033220
32000 033226
32100 033230
32200 033232
33300 033236
32400 033240
32500 033244
32600 033252
32700 033256
32800 033264
32900 033266
33000 033274
33100 033300
33200 033304
33300 033306
33400 033314
33500 033322
33600 033326
33700 033332
33800

33900 033334
3,000 033342
3,100 033350
34,200 033356
34,300 033362
34,400 033366
34,500 033374
3,600 033402
3,700 033404
34,800 033412
3,900 033416
35000 033420
35100 033422
35200 033426
35300 033430
35400 033434
35500 033436
35600 033440
35700 033442
35800 033444
35900

26000

36100

36200

010546
010246
010146
016001
016105
100401
000000
010537
113737
062737
006300
006300
063700
006300
050560
042760
042705
032760
001405
042760
005237
122705
00010
052760
146061
000137
122705
001013

156061
042760
052760
000137
010570
062760
026060
001003
016060
105260
001001

000000
005737
001402
004777
012601
012602
012€05
012600
000002

AIBO LAQO, LA3& DMT PROG
1 DRIVER ROUTINES

031554
000002

001200
001201
177770

001200

031566
107777
177400
000200

000200
001216
000023

100200
025514
033422
000021

025514
100000
000001
033422
026214
0000C2
026214

026074
025634
001140
145504

M 7
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001200
001200

031566
020634
020634

026554
000004

000004
024554
024554

026214
025754

026214

SEQ 0090
HEKE 1S THE MAIN RECIEVE INTERRUPT ROUTINE
RCINT: MOV RS,~(SP)
MOV R2,~(SP)
MOV R1,=(SP)
MOV DZESR(RO) R
MOV 2(R1),RS
BM] 1$
HAL™  :INVALID DATA FROM DZ ? 7 2 2 2 2 2
18: MOV R5,RCTMP
MOVB  RCTMP+1,RCTMP
BIC #177770 .RCTMP
ASL RO
ASL RO
ADD RCTMP,RO
ASL RO
BIS R5,RECERR(RO) :COPY ERROR BITS
BIC #107777 ,RECERR (RO) :DATA VALID,LINE NO.,DATA
BIC #177400,R5 :CLEAR ERROR BITS
BT gng?,DZLINE(RO) :1S UNIT SELECTED ?
BIC #B1T7,DZLINE (RO) ;SELECT THE LINE
INC uuT :ADD TO UNIT COUNT
68: (MPB  #23,RS
BNE 78
B1S #100200,STOP(RQ) ;SET STOP FLAG & XOFF FLAGS
BICB  TCRBIT(RD),4(R1) :DISABLE TX INTR
JMP RCRTN
7: C(MPB  #21,RS5
BNE K8N
98 BISB  TCRBIT(RD),4(R1) ;ENABLE TX INTR
8IC #BIT15,STOP(RO) ;CLEAR STOP FLAG
BIS #81T0,STGP(RO) :SET XON FLAG
8S$: JMP RCRTN
KBN: MOV RS5,3KBBUF1(RO) :STICK IT IN THERE
ADD #2,KBBUFI(RO)  :GIVE THE POINTER A LITTLE PUSH TO THE NEXT EMPTY P
CMP KBBUF I (R0 ,KBBUFE(RO) ;1S THAT THE END?
BNE 1% ;IF NOT.
MOV KBBUFB(RO) ,KBBUF 1 (RO); YES IT WAS AT THE END. RESET IT
1$: INCB  KBCNT(RO) :TALLY UP ONE MORE ENTRY
BNE RCRIN :AND GO RETURN IF WE HAVE LESS THAN 377 OF THEM
HAL T 400 ENRTYS IS TOO MANY. LET THIS HALT SERVE AS WARN
RCRIN:  TST HOOK :DOES ANOTHER ROUTINE WANT TO SEE CHARS IMMEDIATI Y>
BEQ 23 :NO. GO RETURN
JSR PC,@HOOK :YES. GO OFF TO SOME MYSTERIOUS PLACE
2%: MOV (SP)+,R1
MOV (SP)+.R2
MOV (SP)+.RS
MOy (SP)+,R0 ;FROM INTERRUPT CATCHER
R
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1 DRIVER ROUTINES SEQ 009"
56400 JTHIS IS THE TAKE STUFF QUT OF THE KBFO BUFFER ROUTINE

36500 *CALL USING A ‘"JSR PC'".

36600 JIT RETURNS WITH RS = THE KBRST ENTRY

36700 033446 105760 025634 KROUT: TSIB  KBCNT(RO) ;ANYTHING THERE?

36800 033452 001003 BNE 18 *1 HOPE SO

36900 033454 012705 177777 MOV #~1,R5

37000 033460 000420 BR 2% ,

37100 033462 005360 025634 18: DEC KBCNT (RO) ;REDUCE COUNT OF # EMTRYS IN THERE

37200 033466 017005 026334 MOV AKBBUFO(R0) ,RS :GET KBRST ENTRY

37300 033472 042705 000400 BIC #400,R5

37400 033476 062760 000002 026334 ADD #2 KBBUFO(RO)  :BUMP POINTER TO NEXT ENTRY

37500 033504 022760 025754 026334 cMP #KBBUFE ,KBBUF 0(RO) ;REACHED THE END OF THE BUFFER SPACE?

37600 033512 001003 BNE 2% :1F NOT, JUST RETURN

37700 033514 016060 026074 026334 MOV KBBUFB(RO) ,KBBUFO(R() ; YES, REACHED END. RESET POINTER TO THE BEGININ
37800 033522 000207 28 RTS PC :RETURN

37900




C{LAIBO LAGO, LA34 DMT
DZ11 DRIVER ROUTINES

38100
38200

38400

3

39100 033524
39200 033526
39300 033530

005712
001462

033530 010305

033532 005037

033536 004737
39400 033542

033542 012205

033544 (005037

033550 004737
39500 633554

033554 010405

033556 005037

033562 004737
39600 033566 004737
39700 033572 005000
39800 033574 013700
39900 033600 006300
40000 033602 162700
40100 033606 100424
40200 033610 016001
40300 033614 005037
40400 033620 013737
40500 033626 061237
40600 033632 013761
40700 033640 005237
40800 033644 022737
40900 033652 001362
41000 033654 000137
41100 033660 004737
41200 033664 062702
41300 033670 000137
41400 033674 000207
41500

PROG

001174
031706

001174
031706

001174
031706
034250

001202
000002

031554
001126
001126
001130
001130
001126
000010

033602
034574
000002
033524

8 8
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001130
000002
001126

;THIS SUBROUTINE DOES MANUAL INTERVENTION TESTING, WHERE A CARRIAGE RETURN
:MUST BE SEEN TO CONTINUE

;CALL WITH R3=ADDRESS OF 1ST PART Of REPEATING MESSAGE
: R4=ADDRESS OF 3RD PART 0OF REPEATING MESSAGE

R2=ADDRESS OF TABLE OF ¢ND PART QF MESSAGE

THE TABLE CONSISTS OF 2WORD ENTRIES. 1ST WORD |S MESSAGE ADDRESS

:OND WORD IS PARAMETER TO BE SEND 70O THE DZ11 LINE

:A 000000 WORD MARKS THE END OF THE TABLE.

:CALL THIS SUBROUTINE WITH A JSR,P(

ANVENT: TST (R2) ;TABLE FINISHED ?
BEQ 4% JYES BRANCH
SENDALL R3 JSEND FIRST PART
MOV R3,R5 JBUILD SEND CALL USING MESSAGE ADDRESS
CLR MODE
JSR PC,SEND JNOW SEND THE MESSAGE
SENDALL (RZ2)+ ;SEND FROM TARLE
?OX éggé*.RS ;BUILD SEND CALL USING MESSAGE ADDRESS
L
JSR PC,SEND JNOW SEND THE MESSAGE
SENDALL R4 ;SEND LAST PART
MoV R4 RS ;BUILD SEND CALL USING MES3AGE ADDRESS
CLR MODE
JSR PC,SEND ;NOW SEND THE MESSAGE
JSR PC,QUIET JWAIT TILL DONE
CLR RO
MOV DZNUM,RO JGET DZ NO.
ASL RO
1%: SUB #2.RO
BM] 3s
MOV DZCSR(RO) ,R1 ;GET DZ (SR ADDRESS
CLR ANTMPO
2%: MOV ANTMPO ,ANTMP]
ADD (R2) ,ANTMP1
MOV ANTMP1,2(R1)
INC ANTMPO
(MP #10,ANTMPO
BNE g d
JMP 1%
1% JSR PC,AWALIT
ADD 2 ,R2
JMP ANVENT ;DD FOR NEXT TABLF ENTRY
4%: RTS P cDONE ALL LINES ON ALL DZ2'S. RETURN

SEQ 0092




CZLAIBO LAQQO, LA34L DMT
DZ1Y DRIVER ROUTINES

41700
41800
41900
42000
42100
42200
42300 033676 010537
42400 033702 013737
42500 033710 000240
42600 033712 005337
42700 033716 001374
42800 033720 (005337
42900 033724 C03366
43030 033726 000207
43100
43200
43300
43400
43500
43600
L5700
43800
43900
44000 033730 113765
44100 033736 (006037
44200 033742 113765
44300 033750 006037
44400 033754 006037
44500 033760 113765
44600 033766 006037
44700 033772 113765
44800 034000 006037
44900 034004 006037
43000 034010 113765
45100 034016 006037
45200 034022 113715
45300 034026 142715
656400 034032 142765
45500 034040 142765
45600 034046 142765
45700 034054 142765
45800 034062 142765
45900 034070 152715
4600C 034074 152765
46100 034102 152765
4200 034110 152765
46300 034116 152765
L6400 034124 152765
46500 034132 000207
«6600

PROG

00114¢€
001142

001144
001146

001134
001134
001135
001134
001134
001134
001134
001135
001134
001134
001134
001134
001135
000376
000370
000370
000370
000370
000370
000060
000060
000060
000060
000060
000060

C_8
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«STALL ROUTINE

;CALL WITH JSR,PC

: THE LOCATION FOLLOWING THE (ALL SHOULD (ONTAIN
sTHE AMOUNT OF MILLISECONDS TO HANG IN A NULL LOOP
LRETURN IS TO THE LOCATION +4 OF THE (ALL

MSTALL: MOV R5,L0O0PO :GET # OF M]LLISECONDS
001" 44 ;i: mgg LOOP(,LOOPI ;SETUP CONSTANTFOR CORRECT STALLING TIME
DEC LOOP]
BNE 2%
DEC LOOPO ;ONE MILLISECOND DOWN
BGT 1% ;SOME MORE TO GO
RTS PC ;RETURN
;BINARY TO ASCII CONVERT SUBROUTINE.
;CALL USING A 'JSR P('
;DERIVES ASCI! CHARACTERS REPRESENTING THE CONTENTS
;gc kgCATION "TEMP', AND PUTS THEM INTO THE 6 BYTES POINTED TO
sTHIS IS A STOLLEN ROUTINE. IT IS ROTTENLY WRITEN
000005 BIOCT: MOVR TEMP,5(R5)
ROR TEMP
000002 MOVB TEMP+1,2(RS)
ROR TEMP
ROR TEMP
000004 MOvVA TEMP 4 (R5)
ROR TEMP
000001 mMovBs TEMP+1,1(R5)
ROR TEMP
ROR TEMP
000003 MOVB TEMP,3(R5)
ROR TEMP
MOVB TEMP+1, (RS)
BI(B #376,(RS)
000001 BICB #370,1(R5)
000002 BI(B #370,2(R5)
000003 BI(B #370,3(RS)
600004 8I(8B #370,4(RS5)
000005 BICB #370,5(RS)
BisB #60, (RS5)
000001 BISB #60,1(RS)
000002 BISB #60,2(R5)
000003 8158 #60,3(RS)
000004 B158 #60,4 (RS)
000005 8158 #60,5(RS)
RTS PC s YEAH

SEQ 0093
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DZ11 DRIVER ROUTINES SEQ 0094
46800
46900 ;BINARY TO DECIMAL CONVERT RCUTINF
47000 ;CALL WITH A JSR SP
47100 ;WROTE THIS MYSELF. [TS WONDERFULL.
47200 034134 010346 BIDEC: MOV R3,-(SP) ;SAVE R3
47300 034136 010446 MOV R4 ,=(SP) ;ALSO R4 WwHICH WE WIiL USE
47400 034140 012704 034236 MOV #BIDECC R4 ;POINT R4 AT SOME CONSTANTS
47500 034144 112725 000260 MOVB #260, (R5)+ ;MAKE THE FIRTS DIGIT OF THE NUMBER O
47600 034150 100005 BPL 1% 21S THE # PCSITIVE?
47700 034152 005137 001134 COM TEMP ;NO., MAKE T SO
47800 034156 112763 000235 177777 MOVB #235,-1(R3) ;AND CHANGE THAT 1ST DIGIT 1O A "~
47900 034164 112713 000257 1$: MOVR #257,(R3) JINIT A DIGIT
48000 034170 105213 2%: INCB (R3) JADD 1 TQ THE DIGIT
48100 034172 161437 001134 SUB  ° (R4),TEMP JKEEP _SUBTRACTING CONSTANT TILL IT GOES NFGATIVE
48200 034176 100374 BPL 2% :1F WE ARE STILL POSITIVE, DO IT AGAIN
48300 034200 005203 INC R3 sNO WE WENT NEGATIVE. POINT AT THE NEXT DIGIT
48600 034202 062437 001134 ADD (R4)+, TEMP ;ADD BACK THE CONSTANT, AND GO ON TO THE NEXT (ONSTA
48500 034206 005714 TST (R4) ;DONE THE 1ST S DIGITS YET?
48600 0342710 001365 BNE 1% ;1F NOT, GO BACK AND DO ANOTHER
48700 034212 062737 000260 001134 ADD 8260, 1EMP ;YES. ONE REMAINS TO BE DONE
48800 034220 113713 001134 MOvVB TEMP, (R3) ;SET THE LAST DIGIT NOW.
48900 034224 012637 001134 MOV (SP)+,TEMP sRESTORE EVERYTHING
49000 034230 0172604 MOV (SP)+ R4 : THAT WE USED TO
49100 034232 012603 MOV (SP)+,R3 .ITS ORIGINAL VALUE
23%88 034234 000206 RTS sp ;AND RETURN
49400 : CONSTANTS
49500 034236 023420 BIDECC: 10000.
49600 034240 001750 1000.
49700 034242 000144 100.
49800 034244 000012 i0.
49900 034246 000000 . 0.
50000
50100
28%88 ; WAIT FOR MESSAGE TO FINISH PRINTING
50400 034250 010046 QUIET: MOV RO,-(SP)
50500 034252 010746 MOV R1,=(5P)
50600 034254 010546 MOV RS,={SP)
50700 034256 013700 001152 MOV NUML IN,RO sGET NO OF LINES
50800 034262 006300 ASL RO
50900 034264 005001 RE CLR R1
51000 034266 020100 2%: (MP R1,RO :1F DONE GO TO 5
51100 034270 001466 BEQ 5%
51200 034272 005761 (24054 TST ACTIVE(RD) sSTILL WORKING ?
51300 034276 100403 BM] 4% :STILL SET ~BRANCH
51400 034300 062701 000002 3%: ADD #2,R1 sTEST NEXT LINE
51500 034304 000770 BR 2%
51600 034306 005761 024554 4%: 7ST STOP(R1) ; WAITING FOR XON ?
51700 034312 100047 BPL 7% . NO
S1800 034314 1705261 (24054 INCB ACTIVE (R1) ; COUNT OF PASSES
S1900 034320 126127 024054 000144 CMPR ACTIVE(R1) ,#100. ., ALLOW 10 SECONDS
52000 034326 002441 BLT 7%
52100 034330 052761 000200 020634 BIS #BIT7,DZLINE(RY) ; DESELECT THE LINE
52200 034336 005337 007216 DEC uuT
52300 034342 005061 024554 CLR STOP(R1)

526400 034346 005061 024054 CLR ACTIVE(R1)




b

JLAIBO LAQO, LA34 DMI PROG
Z11 DRIVER ROUIINES

52500 G34352
52600 034356
52700 034362
52800 034356
52900 034372
53000

53100 034376
53200 034402
53300 034410
53400 03441€
53500 034422
53600 034426
53700 034432

034432

034436
53800 034442
53900 034446
564000 034450
56100 Q34452
56200 034454
54300

012705
004737
010137
006237
012705

004737
113737
113737
012705
004737
000137

012705
004737
000137
012605
012601
012600
00C2G7

036404
020310
001134
001134
020600

033730
020604
020605
020620
020310
034264

000144
033676
034264

MACRO M1110 26~FEBR~79 14:37

020626
020627

7%:

5¢%:

mMov
JSR
MOV
ASR
MOV

JSR
MOVA
MOVR
MOV
JSR
JMP
STALL
MOV
JSR
MP
MOV
MOV
MOV
RTS

E_8
PAGE 63-1

#MSG39,RS

PC,CSEND ; REPORT NO XON
R1,TEMF

TEMF

#EBUF RS

PC,BIOCT

EBUF +&4 ,MSGE +14.

EBUF +5,MSGE +15,

#MSGE+10,RS

?g.CSEND

#100, ; DFLAY A WwHILE
#100. ,RS
PCMSTALL
1%

(SP)+ RS
(SP)+ R1
(SP)+ R0
PC

JSETUP STALL TIME CONSTANT

SEG 0095
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DZ11 DRIVER ROUTINES St 0096
54500 ;THIS IS THE REPLY SUBROUTINE
564600 :CALL WITH A JSR PC
54700 1T WILL WAIT .5 SECONDS FOR REPLYS FROM ON ALL LINES
54800 JIF IT SEES A REPLY, THE WORD FOR THE LINE IN THE REPTIBL [ <FT
54900 034456 010046 REPLY: MQV RQ,=(SP)
55000 034460 010146 MOV R1,=-(SP) ;SAVE RFGS WE USE
55100 034462 013700 001152 MOV NUML IN,RO
55200 034466 006300 ASL RO
55300 034470 162700 000002 2 ¥ sSuB #2,R0
55400 034474 100404 BM] 2%
55500 034476 005060 024434 (LR REPTRL (RO
55600 034502 000137 034470 JMP A
55700 034506 012737 (034540 001140 2%: MOV #9% ,HOOK ;PUT CLAWS INTO INPUT ROUTINE
55800 034514 STALL #500. JWAIT .5 SECONDS
034514 012705 000764 MOV #500. ,RS JSET P STALL TIME (ONSTANT
034520 004737 (033676 JSR PC,MSTALL
55900 034524 012737 000000 Q01140 MOV #0 ,HOOK ;TAKE HOOK OUT OF INPUT ROUTINt
56000 034532 072601 MOV (SP)+,R1
56100 034534 012600 MOV (SP)+,R0O
22%88 034536 000207 RTS PC :RETURN
56400 034540 020527 000025 9%: CMP RS, #23 ;IS THE CHAR XOf?
56500 034544 (01007 BNE 3¢ :NO.
S6600 036546 (22705 000021 (MP #21 RS ;1S THE (HAR XON?
56700 034552 001407 BEQ YES. LET RECIFVE ROUTINE HANDLE I7
56800 034554 112760 000001 024435 mOVR #1 LREPTBL+1(RO) :YES. SET HIGH BYTE
5690C 034562 000403 BR 4%
57000 034564 112760 000001 024434 3%: Mova #1 ,REPTRL (RD) JSET LOW BYTE INDICATING NGT XON OR X(OF
57100 034572 000207 4%: RTS PC
57200
573500
57400
57500 JTHIS IS THE SUBROUTINE THAT WAITS TOR A CARRIAGE RETURN
57600 034574 012737 000001 001136 AWAIT: MOV #1 _NOTYET LSET NO CR YET SWIT(H
57700 034602 012737 034624 001140 MOV #2% . HOOK JPUT HOOK INTO RECIEVE ROUTINE SO WE (AN TEST
57800 034610 005737 001136 1%: TST NOTYET JSEEN A CARRIAGE RETURN YET°
57900 034614 001375 BNE 1% ;NO, KEEP LOOKING
58J00 034616 005037 001140 (LR HO0K
23588 034622 000207 RTS PC sRETURN
58300 034624 042705 177600 2%. 8IC #177o00 RS JREMOVE JUNK FROM DATA BITS
58400 034630 122705 000015 (MPR #15,R JCARRJAGE RETURN ?
58500 034634 001002 BNE 3% ;NO.
58600 03463 005037 001135 LR NOTYET JYES. MAKE THE SW]TCH REFLECT 3
58700 034642 004737 033446 3% JSR PC ,kKBOUT JREMOVE (HAR FROM BUFFER
58800 034646 000207 RTS PC
58900
59000

29100
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SYSTEM ME SSAGES SEQ 0097
100 JSBTTL  SYSTEM MESSAGES
200 NLIST BEX
300 034650 012 015 103 MSGOO: .ASCI]  <1°><15.,CZLAIRO LAOO, LA34 DMT PROG/<15><12>
400 034707 124 110 1] LASCI1  /THIS TEST ASSUMES ALL TERMINALS ARE SETUP FOR/<i2><15>
500 03476% 063 040 060 LASC1Z /300 BAUD, 1 STOP, ODP PARITY, XOFF=XON./<12><15>
600 035C40 012 615 105 MSGO1: .ASCIZ <12><15>/END OF PASS /
700 035057 012 015 105 MSGO3: .ASCIZ <12><15>/END OF PASS 000 TEST 00/<12><15>
800 035113 116 117 040 MSGO4: .ASCIZ /NO RESPONSE TQ ATTRIBUTE PROMPT/<12><15.,
900 035155 033 133 060 MSGOS: .BYTE  33,133.60,143,0 ; TERMINAL ATiRIBUTE PROMPT
1000 035162 033 133 077 MSGO6: .BYTE  33.133.77.63.73,60.143,0:LA00 DEV ATTRIBUTE RESPONSE
1100 035172 010 000 MSGO8: .ASCIZ <1(0>
1200 035174 015 000 MSGO®: .ASCIZ <15>
1300 035176 033 133 070 MSG10: .BYTE  33,13%,70,75,61,66,73.6¢.64.73.63.62.73
1400 035213 06 060 073 BYTE  64.60.73,64.70,73.65.66.73.66.64.73.67.62.73.,72.60
1500 035234 073 070 070 BYTE  73.70.70.73.71.66,73.61.60.64.73.61.61.62
600 035252 073 061 062 BYTE  73.61.62.60.73.61.62.70.165.0
1700 035264 12 101 122 MSG12: .ASCIZ /PARITY TEST 24/<12><15>
1800 035305 120 114 105 MSG13: .ASCIZ /PLEASE SETUP FOR /
190C 035327 110 111 124 M3G14: .ASCIZ /HIT RETURN KEY WHEN YOU ARE DONE WITH ALL TERMIMALS/<i2><15>
2000 035415 102 101 104 MSG15: .ASCIZ /BAD PARITY RECIEVED FROM LA00/<12><15>
2100 035455 104 101 124 MSGi6: .ASCIZ /DATA OVERRUN ERROR /<12><15>
2200 035503 067 040 102 MSG17: .ASCIZ /7 BIT AND SPACE./
2300 035524 103 110 101 MSG18: .ASCI] /CHAR CODE FCHO TEST 21/<12><15>
2400 035554 124 137 120 MSG19: .ASCIZ /TYPE DELETE TO EXIT/<12><15>
2500 035602 067 040 09 MSG20: .ASCIZ /7 BIT AND ODD PAR]TY./
2600 035630 067 040 102 MSG2': .ASCIZ /7 BIT AND EVEN PARITY./
2700 035657 044 012 015 MSG22: .ASCIZ /$/<12><15>
2800 035663 130 117 116 MSG2S: .ASCIZ /XON-XOFF TEST 23/<12><15>
2900 035706 124, 125 122 MSG26: .ASCIZ /TURN THIS TERMINAL OFF~LINE, THEN ON-L INE/<12><15>
300G 035762 102 101 125 MSG27: .ASCIZ /BAUD RATE TEST 17./<12><15>
3100 036007 110 117 122 MSG28: .ASCIZ /HORIZONTAL MOTION TEST 11/<12><15>
3200 036043 060 060 060 MSG29: .ASCIZ /000 /
3300 036052 120 114 105 MSG30: .ASCIZ /PLEASE SETUP FOR /
24,00 036074 040 102 101 MSG31: .ASCIZ 7 BAUEL./<12><15>/ HIT RETURN WHEH DONE FOR ALl TERMINALS./<12><75>
3500 036157 061 061 060 MSG32: .ASCIZ 7110/
3600 036163 116 125 114 MSG33: .ASCIJ] /NULSOHSTXETXEOTENQACKBELBS HT LF /
3700 036224 126 124 046 LASCIE /VT FF CR SO SI DLEXONDC2XOFDC4&NAK/
3800 036265 123 131 174 JASCII  /SYNETBCANEM SUMESCFS GS RS US SP /
2900 036326 063 060 060 MSG35: .ASCIZ /300/
2000 036332 040 102 101 MSG36: .ASCIZ / BAUD/<12><15>
4100 036342 102 125 106 MSGS7: .ASCIZ /BUFFER OVERRUN TEST 12/<°2><15>
4200 036373 033 133 061 MSG38: .BYTE  33,133,61.73.61.63.62.165,0
4300 036404 105 122 122 MSGZ9. .ASCIZ /EARPOR * XON'NEVER RECIEVED/<12><15>
4400 036441 105 122 122 MSG40: .ASCIZ /ERROR * XOFF NEVER RECIEVED/<12><15>
4500 036477 000011 MSC41:  LREPY 9.
4400 CASCIL X/ /X <12>¢15>
4700 .ENDR
036477 130 011 130 CASCIL  /7%X7<11>/%X/<12><15>
026504 130 011 130 CASCIT  7X/<11>/X/7<10><18>
036511 130 o1 130 ASCIT  /X/7<11>/X/7<12><15>
036516 130 011 130 CASEID  /7X/<11>/X7<12><156>
036523 130 011 130 CASCIT  /X/<11>/x/<12><15>
036530 130 011 130 ASCII IX/<11>/%7<120¢€18>
036535 130 011 130 scxx IX/<113/%X/<12><15>
036542 130 011 130 ASCI1  /X/<115>/%/7¢12>€15>
036547 130 011 14C ASCI]  /X7<115/X/7¢195¢15>
«800 000003 "REPT 2
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SYSTEM MESSAGES <EQ 0098
4900 ASCID 7/ /
~000 BY1E 10,0,10,10.,10,10,10,10,10,10
£100 BYTE 10.10.16.10.10.10.10.10.10.10
§200 "ENDR
036554 040 040 040 JASCIT /7 /
036600 010 010 010 JBYTE 19,10.10,10,10,10,10.10,10.10
036612 010 010 010 JRYTE  10.10.10.10.10.,10.10.10.10.10
036624 040 040 040 ASCIT 7/ /
036650 010 019 010 JBYTE 10,10,10,10,10.10,10.10,10.10
036662 010 010 010 JBYTE  10.10.10.10.10.10.10.10.10. .0
036674 040 040 040 ASCIT /7 /
036720 010 010 010 BYTE  10,10,10,10,10,10,10,10,10,10
036732 010 010 010 JBYTE  10.10.10.10.10.10.10.10.10.10
5300 036744 012 012 012 TASCIZ  <155<iane125<16>
5400 036757 124 105 123 MSG62: .ASCIZ /TEST 00 - DATA PATH TEST/<12><15><12>
5500 037005 052 125 052 MSG63: .ASCIZ /eUsUsUsUsUsUsUsUrysyUsysaysysyrUsUsUsUsysUssysysye Jeyedegey/<12><1
2988 8%;;?2 883 882 628 MSG44: .ASCI2Z /TEXT 02 = NON PRINTING (HARACTER TEXT. THE NEXT L INE SHOULD Rf BLAN
[4

MSG45: .BYTE 5.9.20.23.26,31.35.17?.21,24,27,32,36,22 25,30,34,37,27,12.15.,0

£800 037242 130 040 000 MSG47: .AS(iZ /

5900 037245 124 105 123 MSG60Q: L.ASCIZ /TEST N7 HOR]JZONTAL TAB TEST/<12><15>
6000 037304 033 062 000 MSG61: LASCIZ <33>/2/

6100 037307 056 000 MSG&2: .ASCIZ /./

6200 037311 033 110 000 MSG63: LASTIZ <33>/H/

6300 037314 126 000 MSG64L: .AS(IZ v/

6400 037316 011 0C0 MSG&S: L.ASCIZ <1

6500 037320 015 000 MSG66:  LASCIZ <15

6600 037322 130 000 MSG67: ASCIZ /X/

6700 037324 C12 018 o1 MSG68: .BYTE 12,15,11,0

6800 037330 077 040 000 MSG70: .ASClzZ /7 7/

6900 037333 077 040 040 MSG/71:  LASCIZ /7?7 7/

7000 037337 077 040 040 MSG/72: LJASCIZ 72 /

7100 037344 012 015 120 MSG73: LASCIZ <12><15>/POWER FAIL TRAP/<12><15>
7200 037370 012 o158 000 MSG75: LASCIZ <12><15>

;288 037373 012 012 012 MSG77: LAS(LIZ <12><12><12><15>

7500 037400 123 120 101 MSG78. .ASCIZ /SPACE - BACKSPACE TEST 05/<12><15><12>
7600 037435 057 040 000 MSG79: LASCIZ o/ »

7700 037440 010 010 134 MSG80: .ASCIZ <10><10>/\/<10>

/800 037445 101 114 114 MSG81: L.ASCIZ /ALl PRINTABLE CHARACTERS TEST01/<12><15>
7900 037507 040 000 ) MSGB2: L.AS(1Z 7/ /

8000 037511 104 117 124 MSG83: L.ASCIZ /DOT MATRIX TEST 03/<12><15>

8100 037536 132 110 052 MSGB4:  LASCIZ /1IHeAS /<12><15>

8200 037550 132 040 132 mMsG85:  LASCI] /727 22 222 1121/<15>

8300 037571 110 040 110 LASCIT /H HH MMM 1HHH/<I5>

8400 037612 052 040 052 ASCIT /¢ ox wax eann/<c15>

8500 037633 043 040 043 ASCIL 70 v aan  BRER/<15>

8600 037654 044 040 NGL4 ASCIZ /3 88 888 $38%8/<C12><15>

8700 037677 012 015 124 MSG88: LASCIZ <12><15,/THIS LINE PRINTED AT /
8800 037727 040 061 060 MSG89: ASCIZ 7 10 /

8900 037734 040 061 062 MSG90Q: LASCIZ 7 12 /

9000 037741 061 063 056 MSG91: L_LASCIZ /713.2/

9100 037746 061 D66 056 MSG92: LALC]Z /16.5/

9200 037753 040 103 120 MSG93: .ASCIZ + CPl./

9300 037761 040 063 040 MSG9&: LASCIZ / 3/

9400 037765 040 064 040 MSGSS:  LASCIZ 7 4 7

9500 037771 040 06¢ 046 MSG96:  LASCIZ /7 6/

9600
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SYSTEM MESSAGES SEQ 0099
9790 037775 040 070 040 MSG97:  AS(IZ 7 8 7/
9800 040001 114 120 1M1 MSG98: LASCIZ /LPl./
9900 040006 033 133 064 MSG99: .BYTE  33,133,64,167,0
12000 040013 033 133 063 MSG100: .BYTE  33,133,63,167,0
10100 040020 333 133 062 MSG101: .BYTE  33,133,62,167,0
10200 040025 033 133 064 MSG102: .BYTS  33,133,64,172,0
"0300 040032 033 133 061 MSG103: .BYTE  33,133,61,172,0
10400 040037 033 133 063 MSG104: .BYTE  33,133,63,172.0
10500 040044 033 133 065 MSG105: .BYTE  33.133,45.172.0
10600 04005° 033 133 062 MSG106: .BYTE  33,133,62,172,0
*0700 040056 012 015 107 MSG107: .ASCIZ <12><18>/ABCDEF GHIJKLMNOPQRS TUVWXYZ/
10800 040113 033 133 261 MSG108: .BYTE  33,133,61,167,0
10900 040120 110 117 122 MSG109: .ASCIZ /HORIZONTAL PITCH TEST 04/<12><15>
11000 040153 1726 105 122 MSG110: .ASCIZ /VERTICAL PITCH TEST 13/<12><15>
11100 040204 123 105 124 MSG111: _ASCIZ /SET MARGINS TEST 06/<15>
11200 040231 033 133 06C MSG113: .BYTE  33,13%,60.60,61,73,€1,63,62,163,0
11300 040244 033 133 060 MSG114: .BYTE  33,133,60.60,60.73.60.60.60.163.0
11400 040257 075 000 MSG115: .ASCIZ /=/
11500 040261 105 122 12¢ MSG116: .ASCIZ /ERROR IF NOT AT LM MARGIN/<i2><15> s
1600 040315 033 133 066 MS3117: .BYTE  33,133,66,172.0
11700 040322 040 062 G40 MSG118: LASCIZ 7/ 2 /
11800 040326 120 122 IB8 MSG120: .ASCIZ /FRINTER BELL TEST 14/<12><15>
11900 040355 115 125 114 MSG123: .ASCIZ /MULTIPLE LINE FEED TEST 10/<12><15>
12000 040412 055 055 055 MSG124: .ASCIZ / /<15>
12100 040430 055 055 055 MSG125: .ASCIZ /====-- 00/<15>
"2200 0404472 123 105 124 MSG140: .ASCII /SET CAPS LOCK OFF, SHIFT LOCK OFF, THEN /
*2300 040512 120 122 105 ASCII /PRESS ALL PRINTING KEYS./
124600 040542 01¢ 215 104 LASCil  <12><15>/DON'T PRESS ESC, TAB, RETURN/
12500 0460601 054 040 102 ASCIL /7, BS, OR FUNCTION KEYS./<12><15>
12600 040632 120 122 105 MSG145: .ASCIZ /PRESS THE SPACE BAR LAST./<12><15>
12700 040666 120 122 105 MSG142: .ASCIZ /PRESS THE SPACE BAR IF FINISHED/<12><15>
12800 040730 060 072 040 MSG143: _ASCIZ /_: KEYS WERE NOT RECIEVED/<12><15>
12900 040764 124 122 131 MSG144: .ASCIZ /TRY AGAIN , /
" 2000 047001 012 015 105 MSG146: ASCIZ <12><15>/FRROR « /
13100 041014 111 116 126 MSG148: .ASCIZ /INVALID CODE RECVD : /
*3200 041042 124 105 123 MSG147: .ASCIZ /TEST #21/<12><15>
13300 041055 120 122 105 MSG150: .ASCIZ /PRESS /<12><15>
13400 041066 040 12¢ 1i0 MSG152: .ASCIZ / RH SHIFT AND B/<12><15>
13500 041110 123 105 124 MSG156: ASCIZ /SET SHIFT LOCK , /
13600 041132 0r7 077 077 MSG149: .ASCIZ /2?2
13700 041136 040 114 110 MSG151: .ASCIJ 7/ LH SHIFT AND 'A/<12><15>
12800 041163 064 012 015 MSG153: _ASCIZ /4/<12><15>
1390C C41167 040 103 124 MSG154: .ASCIZ 7/ CTL-P/<12><15>
14000 041200 040 105 123 MSG155: .ASCIZ / ESCAPE/<12><15>
14100 041212 122 105 123 M5G157: .ASCIZ /RESET SHIFT LOCK, SET CAPS LOCK, /
14200 041255 124 101 102 MSG158: .ASCIZ /TAB/<12><15>
14300 041263 122 105 24 MSG159: .ASCIZ /RETURN/<12><15>
14400 041274 060 061 062 MSG160: .ASCIZ /0123456789/
14500 041307 077 012 015 MSG162: ASCIZ /2/<12><15>
14600 041313 111 116 126 MSG163: .ASCIZ /INVALID SEQUENCE RECVYD/<12><15>
14700 041344 115 117 101 MSG164: .ASCIZ /MIAN KEYBOARD TEST 20/<12><15»
14800 041374 123 120 101 MSG165>: ,ASCIZ /SPACE/
14900 041402 102 101 103 MSG166: .ASCIZ /BACKSPACE/<12><15>
5000 041416 114 111 116 MSG167: ,ASCIZ /LINEFEED/<12><15>
15100 041431 104 105 114 MSG168: ,ASCJZ /DELFTE/<12><15>
15200 041442 104 012 015 MSG169: .ASCIZ /D/<12><15>
15300 041446 040 000 MSG170: .ASCIZ / /




(ZLAIBD LAQOQ,

15400 041450
15500 041460
15600 041471
15700 041502
15800 041514
15900 0461527
16000 041547
16100 041610
16200 041612
16300 047617
16400 041676
16500 0461743

16600
16700
16800
16900
17000
*7100
17200
17300
17600
17500
17600
17700
77800
1790C
18000
18100
18200
18300
18400

041755
041767
042001
042013
0462025
042037
042051
0420673
U42075
042107
042156
0462164
042174
042204
042214
042224
042234
042244
(42254

18500 042264
18600 042274
18700 042304
18800 042314
18900 042327
19000 042341
19100 042366
19200 042400
19300 042426
19400 042460
19500 047514
19600 042552
19700

19800 (42604
19900 042644
20000 042704
20100 042732
<0200 042762
20300 043012
20400 043042
20500 043066
20600

033
033
033
033
0?3
114

105
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000040
000060
000100
000113
000127
000143
000157
000171
001220
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000041
000061
000101
000114
000130
000144
00C160
000172

MACRC M1110 26~FEB-/S

105
105

000042
000062
000102
000115
000131
000145
00c161
000173

MSGI1BO:
MSG181:
MSG182:
MSG183:
MSG184:

MSG271 :
mMSG303:
MSG304 -
MSG30. :
MSG309:
MSG310:
mMSG311:
MSG312:
MSG313:
MSG314:
MSG315:
mMSG316:
MSG317:
MSG318:
MSG320:
MSG321:

MSG322:
MSG323:
MSG324: .

MSG325:
MSG326:

MSGK1:
MSGK2:
156K 3:
MSGK4 :
MSGKS :
MSGK6 :
MSGS1:
MSGS2:
.EVEN

PCTARL :

.END
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.BYTE
BYTE
.BYTE
.BYTE
MSG270: .
MSG280: .
MSGe81: .
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5385 |

-WORD
.WORD
.WJRD

- WORD
. WORD
START

33,133,62,73,62.66.163,0
33.133,62.66.73.65.60,163,0
33,133,65,62,73,67,66,163,0
33,133,67,70,73,61,60,62,163,0
33°133.61.60.60.7%.61.62.64.163,0
JLIFE TEST #15/<125<155
;gﬁoo DYNAM] C Fxsncxson TEST 16/<12><15>
/ 00 /

<12><15>/ENTER SETUP MODE THEN T.PE THE FOLLOWiNG :
/Exlr SETUP MODE , AND TYPE A CTL=-0/<12><15>
/V=F (CR)/<12><15>

/H=D(CR) /<12><15>
/H=C(CR)/<12><15>
/H=B(CR)/<12><15>
/H=A(CR)/<12><15>
/V=A(CR)/<12><15>
/V=B(CR)/<12><15>
/V=D(CR)/<12><15>
/V=E(CR)/<12><15>
/V=C(CR)/<12><15>
/NO RESPONSE RECIEVED/<12><15>
/PITCH SETUP TEST 22/<12><15>
[[mmmee/c12><15>
[[o===e /<12><15>
[(mmmaa /<12><15>

/[m=——- /<122<15>
/{[==m—— /<12><15>
/{em——- /<12><15>

[ [==—— /<12><15>

[[wmwen/C12><15>

[[r=e=e/<12><15>

[ ==m==r<125<15>

f[mem=e/C12><15>

[{=====/<125<15><12>< 12>
<12><15>/READY/<12><15>

/ENTER MODE D OR P :/

/7 2 7 <12 <15>

<12><15>/ENTER COMMAND (S) /<12><15>

/RUN INTERVENTION TEST ?2/<12><15>
<007><12><15>/NO TERMINALS SELECTED/<007><12><15>
<12><15>/ERROR * [INVALID TEST NO./<12><15><(07>
<12><15,/ERROR * PMT CONFLICT/<12><15><07>

40, 41 ,42,43,44,45,46,67,50,51,52.53.54.55.56.5

60.61.62.63.64.05.66.67.70.71.72.73.74.75.76.77
106.161.102.103.164.105.106.167.110.111.112
113.114.115.116.117.120.121.122.123.124 125,126
127.130.131.132.133.134.135.136.137.140.147.142
143,144 .145.146.147.150.151.152.153.154.155.156
157.160.161.162.163.164.165.166.167.170
171°972°173°1762175.17¢

/

SEQ 0100
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SYMBOL TAB‘E

ACTDVC
ACTIVE
ANTMPG
ANTMP
ANTMP?
ANVENT
ANYWAY
APTHDR
AWAIT

BIDEC

BIDECC

0 ¢}
| o K}
—
—
i

LI T O I T

m

—
—
¥,
t

CHARIN
(HROUT
(oDTBL
COLTBL
COMCNT
COMEND
COMIN
COMOUT
coml
caM2
COUNT
CSEND
CTLTBL
CURADD
CURREP
CURTER
DLRVEC-
DLTVEC-
DXTMP
CZADDR
DZ{OMB
DZCON =
DZCSR
DZL INE
DZNLM
DZRINT
DZTINT
DZVECT
EBUF

00004"
024054
001126
001130
001132
033524
004104
001000
034574
034134
034236
033730

- 000001

END22
EOP
EQPT
ERROR
ERRORT
FLAGZT
GETPN
GETSWS
GETTS™
GO
HOOK
INIT
INITT
INITZ
INIT3
INIT4
INITS
INIT6
ISEQ
KBBUF
KBBUFB
KBBUFE
KBBUF |
KBBUFQ
KBCNT
KBN
kKBOUT
KEYEND
KEYTBL
KSTART
LOOPC
LOOPI]
LOOPO
LSFQ
MODCON
MODE
MSGADR
MSGE
MSGK1
MSGKZ2
MSGK3
MSGK4
MSGKS
MSGK6
MSGS1
MSGS2
MSGTYP
MSGOO
MSGO1
MSGO3
MSGO4
MSGOS
MSGO6
MSGO8
MSGO?
mMSG10
MSC100

MACRO M111C  26-FEB-79

040013

MSG101
MSG10¢
MSG103
MSG104
MSG105
MSG106
MSG107

K 8
14:37 PAGE 65-4

040020
040025
040032
040037
040044
049051
040056
040113
040120
040153
040204
040231
040244
040257
040261
040315

L o W e Y o g iy S
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N SNBSS

MSG180
M5G181
MSG182
MSG 83
MSG184
MSG19
MSG20
MSG21
MSGo2
M5G25
M5G26
MSC27
M5G270
MSG271
MSG28
MSG280
MSGZ81
MSG29
MSG30
MSG303
MSG304
MSG308
MSG309
MSG31
MSG310
MSG311
MSG312
MSG313
MSG314
MSG315
MSG316
MSG317
MSG318
MSG32
MSG320
MSG321
MSG322
MSG323
MSG324
MSG325
MSG326
MSG33
MSE35
MSG36
MSG37
MSG38
MSG39
MSG40
MSG4 1
MSG42
MS5G4 3
MSG44
MSG4 5
MSG4 7
MSG60
MSG6 1
MSG62

041450
041460
041471

041502
041514

035554
035602
035630
035657
035663
035706
035762
061527
041612
036007
041547
041610
036043
036052
041617
041676
041743
041755
036074
0461767
042001
062013
042025
042037
042051
042063
042075
042107
036157
042136
042164
042224
042244
042264
042274
042304
036163
036326
036332

MSG63
MSG64
MSGES
MSG66
MSG67
MSG68
MSG70
MSG71
MSG72
MSG73
MSG75
MSG/Z7
MSG78
MSG/79
MSGBO
MSG81
MSG82
MSG83
MSG84
MSG85
MSGC88
MSG89
MSG90
MSG91
MSG92
MSG93
MSG94
MSG95
MSG96
MSG97
MSG98
MSG99
MSTALL
NOTYET
NUMCHK
NUML IN
ONL INE
PASSNO
PCTABL
PFAIL

PNTR
PRIO
PRI
PRI7
QUIET
RCINT
KCRTIN
RCTMP
REAL
RE CERR
REPLY
REPTBL
RESETO
RSEQ
SCAN
SEND

nnh

037311

037314

037316

037320
037322

037324

037330
037333
N37337
037344
037370
037373
057400
027435
037440
037445
037507
037511
037536
037550
037677
037727
037734
037741
037746
027753
037761
037765
C37771
037775
040001
0460006
033676
001136
020234
001152
001204
001124
042604
000024
001176
001206
000000
000200
000340
034250
033164
033422
001200
003334
031566
034456
024434
033062
002754
004216
031706

SEC 0101
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SENDTM  00110¢ TBL 128
SENDT1 031770 TBL!2C
SEQ 001112 TBL31A
SEQM® 002342 18L 31C
SEQ8 002316 TBL31D
SHITBL 014314 TBL 31E
S0 001116 TBL31F
SRCONT 001120 TBL31G
START 001220 TCRBIT
STOP 024554 TEMP
SWR 001122 TEST
SWRTST 0G3/754 TESTOO
TAB 010066 TESTO1
TABLM  006%72 TESTQZ2
TABLHF 006402 TESTCS
TABLVY 012140 TESTO4
TABLVF 012154 TESTOS
TABL13 010050 TESTO6
TABL24 015622 TESTC7
TAB24B 015650 TEST10
TBL12A 007459 TESTi1
. ABS. (043102 000
00000C 001

ERRORS DETECTED: O

DYNAMIC MEMORY: 20620 WORDS (
CLAPSED TIME: 00:02:12
CZLAIB.BIN,CZLAIB.SFQ-C/LAIB.MA(

MACRO M1110 26-FEB-/9

010464

VIRTUAL MEMORY USED: 21488 WORDS ( B4 PAGES)

79 PAGES)

i e B B B 0 I
mmrmmmmm
VWV WnIAWL
=S ONONN IS NN

T
T
18
T
T
71
T2
T2

TES
TESTZ22
TKBUF
TMPTST
TRAP4
TSTMP
TSTTRL
TSTTYP
TTYIN
TXINT
T0318L
T0371R2
T11A
T11R

14:37

leloleleloleleolels
P L ] o P P DA U R
DS ESON NN — —
AVE Sl VT dV To e
— = O = B N NWNO
SO ONOO

006370

L 8
PAGE 655

$CPU
$DEV(T
$DEVM

olelelel B
—d b N2 O NP O Ny

SOOOOOOOOO
OO NC — ) JWWWNWNO

002336

001072

$E TABL
SETEND
SFATAL
SMAIL

SMEMAD
SMEMAR
SMEMA?2
SMEMA3
SMEMA4
SMEMR?
SMEMRS
SMEMRS
$MSGAD
SMSGL

$PASNC
$SWREG
$TSTNO
SUNIT

$SVECT
SVECT?

Seq 0107




